
Q1) a) Answer any six of the following in one or two sentences each. [6]

i) In which words did Swami Vivekananda start his speech at Chicago?

ii) Why did Swami Vivekananda call Hinduism as a mother of all
religions?

iii) What message was given by Vivekananda in his last speech in the
Chicago Conference?

iv) How much money does Ivan Dmitritch want to invest on real estate?

v) What is the theme of ‘The Lottery Ticket’?

vi) What does Ivan believe his wife would do with the lottery money?

vii) Who is the author of the story, ‘The Open Window’?

viii) Who becomes the victim of Vera’s story in ‘The Open Window’?

ix) How does Hector Hugh Munro depict Miss Vera?

b) Answer any two of the following. [14]

i) Comment on the significance of the frog’s story told by Swami
Vivekananda.

ii) Attempt a character sketch of Ivan Dmitritch.

iii) Write a note on aptness of the title ‘The Open Window’.
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Q2) a) Answer any six of the following in one or two sentences each. [6]

i) Who is the poet of ‘On Another’s Sorrow’?

ii) What is the major theme of ‘On Another’s Sorrow’?

iii) What is the rhyme scheme of ‘On Another’s Sorrow’?

iv) Why does John Masefield say we should laugh and be merry?

v) What is the cup of wine and mirth according to John Masefield?

vi) What is man’s life span compared to in the poem ‘Laugh and be
Merry’?

vii) Who has a glittering form in ‘The Rock and the Bubble’?

viii) Where does the big brown rock stand in the poem?

ix) What is the moral of the poem “The Rock and the Bubble”?

b) Answer any two of the following. [14]

i) Write a note on theme of the poem ‘On Another’s Sorrow’.

ii) Comment on significance of the title ‘Laugh and Be Merry.’

iii) Discuss the message given by Louisa Alcott in ‘The Rock and the
Bubble’?

Q3) a) Add question tags to the following (any four) [4]

i) This book is very useful.

ii) She is not going to college.

iii) The boy has no manners.

iv) All of them can swim five hours.

v) She rarely attends her lectures.

vi) Elizabeth worked in the garden.

b) Identify the type of sentence. (any three) [3]

i) She passed with distinction.

ii) You can go to theatre or watch it online.



[6041]-401 3

iii) The novel made him famous.

iv) It started raining as soon as the match began.

v) She was ill so I helped her.

c) Change the degree without changing the meaning (any three) [3]

i) Maria is the most intelligent girl in the class. (Change into positive)

ii) Jupiter is the biggest of all planets. (Change into comparative)

iii) No other island in the world is as large as Greenland. (Change into
superlative)

iv) London is one of the most beautiful cities in England. (Change into
positive degree)

v) Shakespeare was greater than any other playwright. (Change into
superlative degree)

Q4) a) Specify whether the underlined collocation is right or wrong (any four)[4]

i) It’s the duty of police to maintain rule and order.

ii) It was a great fight between the teams.

iii) Pack up your bag and baggage.

iv) I earned a lot, but the tiger’s share goes for taxes.

v) It is one of the burning issues of our time.

b) Fill in the blanks with correct phrasal verbs given in the bracket :
(any three) [3]

i) Elizabeth ______ with her boyfriend last month. (broke up/broke
down/broke out)

ii) The managing director had to _____ the meeting because of some
medical emergency. (call off / call at / call into)

iii) People cannot ______ food and water. (do with / do at / do without)

iv) The teacher asked Prasad to ____ the Xerox copies among the
students. (hand out / hand in / hand over)

v) The CBI has been appointed to ______ the case. (look into/look
for/look out)
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c) Complete the sentences with an appropriate word chosen from those in
the brackets.: (any three) [3]

i) The ______ called a meeting of the faculty members. (principle/
principal)

ii) I saw a nice _______. (scene/sin)

iii) Don’t ________ your valuable time. (waist/west/waste)

iv) He is the only _____ of his family.(hair/heir/hare)

v) Minesh received the first ________ for the best acting.(prize/price)

Q5) Answer the following questions in brief: (any two) [10]

a) What are the steps involved in solving a problem?

b) Explain guidelines for best Time Management.

c) Comment on different ways to manage and organize time effectively.


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à.à.à.à.à.1) Zd‘mÜ¶‘o Am{U g‘mO‘mÜ¶‘m§Mm dmna H$aVmZm H$moUVr XjVm ¿¶mdr Vo g{dñVa ñnï> H$am. [10]

qH$dm

ãbm°J, ’o$g~wH$, {Q²>dQ>a ¶m Zd‘mÜ¶‘m§Mm WmoS>³¶mV nam‘e© ¿¶m.

à.à.à.à.à.2) {Q²>dQ>agmR>r boIZmMr R>iH$ d¡{eï>ço gmoXmhaU {deX H$am. [10]

qH$dm

ì¶mdgm{¶H$ nÌì¶dhmamMm WmoS>³¶mV nam‘e© ¿¶m.

à.à.à.à.à.3) Imbrbn¡H$s H$moUVrhr EH$ {Q>n {bhm. [5]

A) Zd‘mÜ¶‘o Am{U g‘mO‘mÜ¶‘m§Vrb ̂ mfm

~) do~gmB©Q> Am{U ãbm°JgmR>r boIZ


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à.à.à.à.à.1) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE& [10]
A) gmYmaU dm³¶ Ho$ ñdê$n na àH$me S>m{bE&

~) g§km Cndm³¶ Am¡a {deofU Cndm³¶ H$m n[aM¶ Xr{OE&

H$) g§¶wº$ dm³¶ H$s n[a^mfm {bIH$a CgHo$ ôX ~VmBE&

S>) g§{já dm³¶ Ho$ ñdê$n H$mo AYmoao{IV H$s{OE&

à.à.à.à.à.2) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE& [10]
A) H${d ZraO Ho$ OrdZ H$m n[aM¶ Xr{OE&

~) H${d ZraO AmX‘r H$mo loð> ³¶m| ‘mZVo h¢?

H$) H${d ZraO Ho$ JrVm| ‘| {M{ÌV ào‘-^mdZm na àH$me S>m{bE&

S>) H${d ZraO H$m ‘Z ~ma-~ma ³¶m| ‘Xhmoe hmoVm h¡?

à.à.à.à.à.3) {ZåZ{b{IV ‘| go {H$gr EH$ àíZ H$m CÎma {b{IE& [5]
A) dm³¶ H$s n[a^mfm {bIH$a CgH$m ^mfm ‘| ‘hËd ~VmBE&

~) ‘H${d ZraO ‘mZdVmdmX Ho$ njYa H${d h¢’-ñnï> H$s{OE&


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 


[5]  
 

  



 
 
 
 
 

[5]  
 

 


P.T.O.
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  



  



  



[5]   

 

 

 

 

 

[3]  

 

 

 

 

 
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[3]    

 

 

 

 

 

[4]  

1) India is a democratic Country.

2) Allama Iqbal was a great poet and philosopher of his era.

3) Every sunday morning, I go to play football.

4) Harry Porter became popular all over the world.

[6041]-405 3
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àíZ àíZ àíZ àíZ àíZ 1) nwT>rb nmM àíZm§n¡H$s VrZ àíZm§Mr CÎmao àË òH$s 50 eãXmV {bhm. [15]

A) ^méS> dmL²>_`àH$mamMo ñdén {bhm.

~) bmdUr `m H$mì`àH$mamMr d¡{eîQ>ço {bhm

H$) "_mhmXBgmMo YrS>ao AmamoJUo' `m åhmB^Å>mÀ`m brioMm AW© CbJSy>Z gm§Jm.

S>) N>ÌnVr {edmOr _hmamOm§À`m nÌboIZmVyZ Ë`m§À`m ì`{º$_ÎdmMo H$moUVo {deof àË``mbm
òVmV?

B) "g§V H¥$nm Pmbr' `m A §̂JmVyZ ^mJdV g§àXm`mVrb g§Vm§Mo `moJXmZ H$go ì`º$ Pmbo Vo
{bhm.

àíZ àíZ àíZ àíZ àíZ 2) nwT>rb VrZ àíZm§n¡H$s XmoZ àíZm§Mr CÎmao 150 eãXmV {bhm. [20]

A) A §̂J `m H$mì` àH$mamMr d¡{eîQ>ço {bhm.

~) ~Ia åhUOo H$m`? Vo gm§JyZ ~IarMo àH$ma ñnï> H$am.

H$) nmodmS>m `m boIZ àH$mamMo {deof {bhm.
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àíZ àíZ àíZ àíZ àíZ 3) nwT>rb VrZ àíZm§n¡H$s XmoZ àíZm§Mr CÎmao àË òH$s 200 eãXmV {bhm. [20]

A) "gw§Xam _Zm_Yr ^aVr' `m bmdUrV ór gm¢X`m©Mo dU©Z H$go Ho$bo Amho, Vo {bhm.

~) ^mD$gmho~mÀ`m ~IarVrb B~«m{h_ ImZ d ^mD$gmho~ `m§À`mVrb `wÕ-àg§JmMo dU©Z
H$am.

H$) "qdMy Mmdbm d¥píMH$ Mmdbm' `m ^mê$S> H$mì`mMm ^mdmW© {bhm.

àíZ àíZ àíZ àíZ àíZ 4) nwT>rb XmoZ àíZm§n¡H$s EH$m àíZmMo CÎma 300 eãXmV {bhm. [15]

A) {ZdS>H$ _Ü` ẁJrZ JÚ, nÚ `m nmR>çnwñVH$mÀ`m AmYmao _hmZŵ md VÎdkmZ, ^mfm d
VËH$mbrZ g_mO-g§ñH¥$VrMr _m{hVr {bhm.

~) g§V Zm_Xod, g§V gmdVm_mir, g§V Zahar gmoZma d g§V VwH$mam_ ̀ m g§V H$dtÀ`m A §̂JmVrb
{dÇ>b^ŠVrMm _{h_m dU©Z H$am.





[6041]-407
S.Y.B.A. (Semester - IV)

URDU 
DSE-1B History of Urdu Literature (Poetry)

24071 (CBCS) (2019 Pattern) 

P-54

Total No. of Questions : 5

[Time :2½ HoursTotal Marks : 70]

P.T.O.

   

 (1
 (2

  20001900  :1 




  2 






 3 


 

[15]

SEAT No.

Total No. of Pages : 2

[15]

[15]



 4 




2  5 
  (1      

  (2         

 1947  (3

 (4



[15]
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àíZ àíZ àíZ àíZ àíZ 1) {ZåZ{b{IV _| go {H$Ýht VrZ àíZmo§ Ho$ CÎma {b{IE & [21]

A) _hmH$mì` Am¡a I§S>H$mì` _| A§Va ñnï> H$s{OE &

~) I§S>H$mì` H$m g§jon _| n[aM` Xr{OE &

H$) Jr{VH$mì` Ho$ VËd {b{IE &

S>) _wŠVH$ H$mì` Ho$ ôX {b{IE &

B) _hmH$mì` H$m n[aM` Xr{OE &

àíZ àíZ àíZ àíZ àíZ 2) {ZåZ{b{IV _| go {H$Ýht VrZ àíZmo§ Ho$ CÎma {b{IE & [21]

A) H$hmZr {dYm H$m VmpËdH$ n[aM` Xr{OE &

~) CnÝ`mg {dYm H$m ñdê$n ñnï> H$s{OE &

H$) CnÝ`mg Ho$ VËd {b{IE &

S>) H$hmZr Am¡a CnÝ`mg _| A§Va ñnï> H$s{OE &

B) {Z~§Y Ho$ VËd g§jon _| {b{IE &

Total No. of Questions : 4]

[Total No. of Pages : 2

[6041]-408
S.Y. B.A.

HINDI (qhXr)
DSE-1B (S-1) : gm{hË` Ho$ ^oX

(CBCS) (2019 Pattern) (Semester - IV) (24091)

g_` : 2½ K§Q>o     ] [nyUmªH$ : 70

gyMZmE± : 1) g^r àíZ A{Zdm ©̀ h¢&
2) Xm{hZr Amoa àíZ Ho$ A§H$ h¢&
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àíZ àíZ àíZ àíZ àíZ 3) {ZåZ{b{IV _| go {H$Ýht VrZ àíZmo§ Ho$ CÎma {b{IE & [21]
A) ZmQ>H$ {dYm H$m n[aM` Xr{OE &
~) ZmQ>H$ Ho$ VËd g§jon _| ñnï> H$s{OE &
H$) EH$m§H$s ZmQ>H$ H$m n[aM` Xr{OE &
S>) ao{S>`mo ZmQ>H$ H$m ñdén ñnï> H$s{OE &
B) a§J_§Mr` ZmQ>H$ H$m n[aM` Xr{OE &

àíZ àíZ àíZ àíZ àíZ 4) {ZåZ{b{IV ~hþ{dH$ënr` àíZm| H$m ghr {dH$ën MwZH$a {b{IE & [7]
i) à~§Y H$mì` H$m ôX h¡&

A) JX²` ~) nX²`
H$) _hmH$mì` S>) ZmQ>H$

ii) _hmH$mì` H$m A§Jrag H$m¡Zgm hmoZm Mm{hE &
A) hmñ` ~) l¥§Jma
H$) H$éU S>) am¡Ð

iii) Jr{VH$mì` {H$g {dYm H$m ôX h¡&
A) à~§Y H$mì` ~) _wŠVH$ H$mì`
H$) JX²`H$mì` S>) nX²`H$mì`

iv) CnÝ`mg H$m VËd h¡&
A) b`mË_H$Vm ~) ^mdZmË_H$
H$) g§{jáVm S>) XoeH$mb dmVmdaU

v) "{Z~§Y JX²̀  H$s H$gm¡Q>r h¡' {H$gH$m H$WZ h¡&
A) hOmaràgmX {ÛdoXr ~) _hmdra àgmX {ÛdoXr
H$) am_M§Ð ewŠb S>) am_{dbmg e_m©

vi) {ZåZ{b{IV _| go Ñí` {dYm h¡ &
A) H$hmZr ~) CnÝ`mg
H$) ZmQ>H$ S>) {Z~§Y

vii) ao{S>`mo ZmQ>H$ H$m Amdí`H$ VËd h¡&
A) H$WmZH$ ~) nmÌ
H$) Üd{Z S>) ZonÏ`


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Q1) A) Imbrbn¡H$s H$moUË`mhr EH$mMo gg§X^© ñnï>rH$aU Úm. [5]

Write a reference to context to any one of the following.

i) AÌ _{` Z `mo½`: IoX:, Hw$ê$fw Vw `mo½`: B{V H$m¹$m àH$mí`Vo&

ii) {^ÝZ§ gL²>KmVZ§ Vñ_mÝZ ̀ wX²Ü`oVmà{VJ«h:&

B) H$moUË`mhr EH$m Ab§H$mamMo bjU ñnï> H$ê$Z, gmoXmhaU ñnï>rH$aU Úm. [5]

Define any one Ab§H$ma with an example in English or Marathi.

i) ê$nH$_²&

ii) An•þ{V:&

C) H$moUË`mhr EH$m d¥ÎmmMo bjU ñnï> H$ê$Z, gmoXmhaU ñnï>rH$aU Úm. [5]

Define any one d¥Îm with an example in English or Marathi.

i) Jr{V:&

ii) {eI[aUr&

Q2) A) g§ñH¥$V ^mfoV CÎma Úm. (H$moUVohr nm§M) [10]

Write answers in the Sanskrit language. (Any Five)

i) XþO©`: ì`yh: H$mo {dÚVo?

ii) njmdwañ`§ à{VJ«h B{V H$ñ` ì`yh{d^mJ:?

iii) drdY: Zm_ {H$_²?

iv) A{^{hVmÝd`dm{XZ: Ho$?

v) `{X ì`ºo$: CnmYm¡ gL²>Ho$Vmo Z J¥hçVo, ì`ŠVm¡ J¥hçVo MoV² VXm qH$ ^doX²?

vi) JL²>Jm`m§ Kmof B{V H$ñ`m: bjUm`m CXmhaU_²?

P.T.O.
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B) OmoS>çm bmdm (H$moUË`mhr nmM) [5]

Match the Followings. (Any Five)

          A B

i) Jm¡dm©hrH$: àH$aU_²

ii) aWm: à{depÝV fQ²> nW§

iii) àñVmd: Angma:

iv) ñH$ÝYdma§ MVwÛm©a§ H$m¡{Q>br`mW©emñÌo Xe_m{YH$aU_²

v) H$bÌñWmZ_² CnmXmZbjUm

vi) gmL²>J«{_H$_² gmamonmJm¡UrbjUm

Q3) A) XrKm}Îma {bhm. (H$moUVohr EH$) [12]

Write a broad answer. (Any One)

i) bjUm{dMma:&

ii) AmWm©ì`ÄOZm{dMma:&

B) Q>rnm {bhm. (H$moUVohr EH$) [8]

Write a short note in English or Marathi (Any One)

i) dmMH$eãXbjU_²&

ii) AWm©Zm§ ì`ÄOH$Ëd_²&

Q4) A) XrKm}Îma {bhm. (H$moUVohr EH$) [12]

Write a broad answer. (Any One)

i) gmL²>J«m{_Ho$ {^ÝZm: ì`yhm:&

ii) gmL²>J«m{_Ho$ ̀ wÕ ŷ_`: nÎ`œaWhpñVH$_m©{U&

B) Q>rnm {bhm. (H$moUVohr EH$) [8]

Write a short note in English or Marathi (Any One)

i) ñd~bmÝ`~bì`m`moJ:&

ii) ñH$ÝYdmaà`mU{dMma:&





Q1) Answer the following questions in the 20 words each (Any 8) : [16]
a) What is Average Cost?

b) Write the definition of perfect competition.

c) What is Rent?

d) What is Profit?

e) What is Interest?

f) What is Welfare Economics?

g) What is Monopoly?

h) What is selling cost?

i) What is oligopoly?

j) What is Marginal Revenue?

Q2) Answer the following questions in the 50 words each (any 4) : [16]
a) Explain the concepts of Total Revenue and Average Revenue.

b) What is local market and national market.

c) Expalin the concepts of price discrimination.

d) Explain the theory of profit innovation.

e) Explain the Pigu's concept of maximum welfare.

f) State the characteristics of Duopoly market.

Total No. of Questions : 4]
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Q3) Answer the following questions in the 100 words each (any 3) : [18]

a) Explain the concept of opportunity cost.

b) Explain the modern theory of wages.

c) What is monopoly market? Write the characteristics of monopoly.

d) Explain Dr. Amartya Sen's views on welfare economics.

Q4) Answer the following questions in the 200 words each (any 2) : [20]

a) What is perfect competition? Write the characteristics of perfect
competition.

b) Explain the marginal productivity theory of distribution.

c) Explain the cost concepts.


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àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr àË òH$ 20 eãXm§V CÎmao {bhm (H$moUVohr AmR>) … [16]

A) gamgar IM© åhUOo H$m`?

~) nyU© ñnY}Mr ì`m»`m {bhm.

H$) I§S> åhUOo H$m`?

S>) Z\$m åhUOo H$m`?

B) ì`mO åhUOo H$m`?

\$) Am{W©H$ H$ë`mU åhUOo H$m`?

`) _ŠVoXmar åhUOo H$m`?

a) {dH«$sIM© åhUOo H$m`?

_) Aën{dH«o$Vm{YH$ma åhUOo H$m`?

`) gr_m§V àmár åhUOo H$m`?

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr àË òH$s 50 eãXm§V CÎmao {bhm (H$moUVohr Mma) … [16]

A) EHy$U àmár d gamgar àmár g§H$ënZm ñnï> H$am.

~) ñWmZrH$ ~mOmanoR> d amï´>r` ~mOmanoR> åhUOo H$m`?

H$) qH$_V ôX g§H$ënZm ñnï> H$am.

S>) Zâ`mMm ZdàdV©Z {gÕm§V ñnï> H$am.

B) àm. {nJy `m§Mm H$ë`mUmÀ`m _hÎm_rH$aU g§H$ënZm ñnï> H$am.

\$) {Û{dH«o$Vm{YH$ma ~mOmanoR>oMr d¡{eï>ço gm§Jm.

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr àË òH$s 100 eãXm§V CÎmao {bhm (H$moUVohr VrZ) … [18]

A) g§Yr IMm©Mr g§H$ënZm ñnï> H$am.

~) doVZmMm AmYw{ZH$ {gÕm§V ñnï> H$am.

H$) _ŠVoXmar ~mOmanoR> åhUOo H$m`? _ŠVoXmarMo d¡{eï>ço {bhm.

S>) S>m°. A_Ë ©̀ goZ `m§Mo H$ë`mUH$mar AW©emómg§~Yr {dMma ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrb àíZm§Mr àË òH$s 200 eãXm§V CÎmao {bhm (H$moUVohr XmoZ) … [20]

A) nyU© ñnYm© åhUOo H$m`? nyU© ñnYm© ~mOmanoR>oMr d¡{eï>ço {bhm.

~) {d^mOZmMm gr_m§V CËnmXH$Vm {gÕm§V ñnï> H$am.

H$) IMm©À`m g§H$ënZm ñnï> H$am.





Q1) Attempt any eight questions (20 words) : [16]
a) Name the two types of formation of human nature by Rousseau.

b) State the Hegel's thought on war.

c) State the two types of freedom suggested by J.S. Mill.

d) Name any two books of Karl Marx.

e) Give the two demerits of social contract theory of Rousseau.

f) Give the two merits of Hegel's Idealism.

g) Give the two objection on J.S. Mill's representative Government.

h) Write name of Karl Marx's friend.

i) State the two demerits of Rousseau's General Mill.

j) Name the two base of Good Government of J.S. Mill.

Q2) Attempt any four questions (50 words) : [16]
a) Rousseau's view on state of nature.

b) Hegel's view on state theory.

c) Maxian concept of class struggle.

d) J.S. Mill's views on state.

e) Rousseau's concept of social contract.

f) Hegel's Idealism.

Total No. of Questions : 4]
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Q3) Attempt any three questions (100 words) : [18]

a) Explain Rousseau's view on Human nature.

b) Explain Hegel's view on freedom.

c) Explain Marx's view on Historical Materialism.

d) Explain J.S. Mill's view on Utilitarianism.

Q4) Attempt any two questions (200 words) : [20]

a) Critically examine the Rousseau's General Will.

b) Discuss merits & importance of Hegel's philosophy.

c) Explain Marx's views on Revolution theory.


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àíZ àíZ àíZ àíZ àíZ 1) 20 eãXm§V CÎmao {bhm (H$moUVohr AmR>) … [16]

A) ê$gmoZr gm§{JVboë`m _Zwî` ñd^md {Z{_©VrÀ`m XmoZ àd¥Îmr H$moUË`m.

~) hoJobMo ẁÕ {df`H$ _V gm§Jm.

H$) Oo. Eg. {_bZo gwM{dbobo ì`ŠVr ñdmV§Í`mMo XmoZ àH$ma gm§Jm.

S>) _mŠg©À`m XmoZ J«§WmMr Zmdo gm§Jm.

B) ê$gmoÀ`m gm_m{OH$ H$ama {gÕm§VmMo XmoZ Xmof gm§Jm.

\$) hoJobÀ`m AmXe©dmXmMr XmoZ d¡{eï>ço gm§Jm.

`) Oo. Eg. {_bÀ`m à{V{Z{YH$ emgZmdarb XmoZ Amjon {bhm.

a) H$mb© _mŠg©À`m {OdbJ {_ÌmMo Zmd {bhm.

b) ê$gmoÀ`m gm_w{hH$ B©hoMo XmoZ Xmof {bhm.

d) Oo. Eg. {_bZo gwM{dboë`m Mm§Jë`m emgZ nÕVrMo XmoZ AmYma {bhm.

àíZ àíZ àíZ àíZ àíZ 2) 50 eãXm§V CÎmao {bhm (H$moUVohr Mma) … [16]

A) ê$gmoMo Z¡g{J©H$ AdñWo ~X²Xb {dMma

~) hoJobMm amÁ`{df`H$ {gÕm§V

H$) _mŠg©Mr dJ© g§Kf© g§H$ënZm

S>) Oo. Eg. {_bMo amÁ` g§~Yr {dMma

B) ê$gmoMm gm_m{OH$ H$ama {gÕm§V

\$) hoJobMm AmXe©dmX

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) 100 eãXmV CÎmao {bhm (H$moUVohr VrZ) … [18]

A) ê$gmoMo _Zwî` ñd^mdm g§~§Yr {dMma ñnï> H$am.

~) hoJobMm ñdmV§Í`m g§~§YrMm Ñï>rH$moZ {bhm.

H$) _mŠg©Mo Eo{Vhm{gH$ ^m¡{VH$dmXm {df`r {dMma ñnï> H$am.

S>) Oo. Eg. {_bMo Cn`mo{JVm dmXmg§~§Yr {dMma ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) 200 eãXm§V CÎmao {bhm (H$moUVohr XmoZ) … [20]

A) ê$gmoMo gm_m{OH$ B©hm g§H$ënZo {df`H$ Amjon {bhm.

~) hoJobÀ`m VËdkmZmVrb JwU d _hËd MMm© H$am.

H$) _mŠg©À`m H«$m§Vr {df`H$ {gÕm§V ñnï> H$am.





Q1) Answer the following question in 300 words (any one) : [15]

a) Write information about the conflict between Humayan and Sher Shah.

OR

b) Explain in detail the Deccan policy of Aurangzeb.

Q2) Answer the following question in 300 words (any one) : [15]

a) Discuss about the revenue system in Mughal period.

OR

b) Write detail information on Bhakti and Sufi sect.

Q3) Answer the following questions in 200 words (any two) : [20]

a) Explain how the accounts of Foreign travelers are important for the
historiography of Mughal period.

b) Explain the religious policy of Emperor Akbar.

c) Explain the provincial administrative system during Mughal period.

d) Write information about science and technology during Mughal period.

Total No. of Questions : 4]
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Q4) Short notes (any four) : [20]

a) Futuhat - I - Alamgiri

b) Battle of Chanderi

c) Aurangzeb - Ahom conflicts

d) Hemu

e) Judicial system

f) Agriculture system


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àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZmMo 300 eãXm§V CÎmao Úm (H$moUVmhr EH$>) … [15]

A) hþ_m ỳZ d eoaehm gyar `m§À`mVrb g§Kfm©Mr _m{hVr {bhm.

qH$dm

~) Am¡a§JOo~mMo X»IZ YmoaU g{dñVanUo ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZmMo 300 eãXm§V CÎmao Úm (H$moUVmhr EH$>) … [15]

A) _wKb H$mimVrb _hgyb §̀ÌUm {deX H$am.

qH$dm

~) ^ŠVr Am{U gy\$s MidirMr g{dñVanUo _m{hVr {bhm.

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr 200 eãXmV CÎmao Úm (H$moUVohr XmoZ) … [20]

A) _wKb H$mbI§S>mÀ`m B{Vhmg boIZmgmR>r naH$s` àdmem§Mo d¥Îmm§V H$go _hËdnyU© R>aVmV ho
ñnï> H$am.

~) g_«mQ> AH$~amMo Ym{_©H$ YmoaU ñnï> H$am.

H$) _wKbH$mbrZ àm§{VH$ àemgZ ì`dñWm ñnï> H$am.

S>) _wKbH$mbrZ {dkmZ Am{U V§ÌkmZ {df`r _m{hVr {bhm.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 4) {Q>n {bhm (H$moUVohr Mma) … [20]

A) \w$VyhmVo Amb_{Jar

~) M§XoarMr bT>mB©

H$) Am¡a§JOo~ - Ahmo_ g§Kf©

S>) ho_y

B) Ý`m`ì`dñWm

\$) eoVrì`dñWm





Q1) Write answer of the questions about 20 words each (any Eight) : [16]

a) Write any two Natural problems of farmer in Maharashtra.

b) Which is the highest Grapes producing district in Maharashtra?

c) Which types of soil is required for the cotton cultivation?

d) What is migration?

e) Name any two districts of Maharashtra with the highest literacy rate.

f) What is rural Development?

g) In which district of Maharashtra 'Hivare Bazar Village is located?

h) Write the definition of 'Tourism'.

i) Name any two coastal tourism places in Maharashtra.

j) Write the full form of 'I.T.D.C.'

Q2) Write short notes in about 50 words (any three) : [18]

a) Cash crops - Grapes

b) Rural - Urban migration

c) Various schemes of Rural Development

d) Maharashtra population Distribution

Total No. of Questions : 4]
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Q3) Write the answer of questions in 100 words each (any two) : [16]

a) Explain the suitable climate and soil for sugercane cultivation.

b) Developed Rural Ideal village : patoda.

c) Need of Maharashtra tourism Development corporation.

Q4) Write the answer of the questions in 300 words each (any one) : [20]

a) Explain in detail the factors affecting on population distribution.

b) Explain Agro-Tourism in Maharashtra in detail.


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3) ZH$mem ñQ>opÝgb dmnaÊ`mg nadmZJr Amho.

4) Amdí`H$ VoWo gw~H$ AmH¥$Ë`m H$mT>m.
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P-59

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr àË òH$s 20 eãXm§V CÎmao {bhm (H$moUVohr AmR>) … [16]

A) _hmamï´>mVrb eoVH$è`m§À`m H$moUË`mhr XmoZ Z¡g{J©H$ g_ñ`m {bhm.

~) _hmamï´>mV gdm©V OmñV Ðmj CËnmXZ H$moUË`m {OhçmV hmoVo.

H$) "H$mnyg' `m {nH$mgmR>r H$moUË`m àH$maMr _¥Xm Amdí`H$ AgVo.

S>) "ñWbm§Va' åhUOo H$m`?

B) _hmamï´>mVrb gdm©V OmñV gmjVm Agboë`m H$moUË`mhr XmoZ {Ohçm§Mr Zmdo {bhm.

\$) "J«m{_U {dH$mg åhUOo H$m`?

`) "{hdao~mOma' ho Jmd H$moUË`m {OhçmV Amho.

a) "n ©̀Q>ZmMr' ì`m»`m {bhm.

b) _hmamï´>mVrb g_wÐ{H$Zmè`mdarb H$moUVohr XmoZ n ©̀Q>ZmMr {R>H$mUo gm§Jm.

d) Am`.Q>r.S>r.gr. (I.T.D.C.) Mo nyU© ê$n {bhm.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) àË òH$s 50 eãXm§V {Q>nm {bhm (H$moUVohr VrZ) … [18]

A) ZJXr nrH$ - Ðmjo

~) J«m_rU - ehar ñWbm§Va

H$) J«m_rU {dH$mgmÀ`m {d{dY `moOZm

S>) _hmamï´> bmoH$g§»`m {dVaU

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr àË òH$s 100 eãXm§V CÎmao {bhm (H$moUVohr XmoZ) … [16]

A) "D$g' `m {nH$mgmR>r Amdí`H$ hdm_mZ d _¥Xm `m ~Ôb _m{hVr {bhm.

~) J«m_rU {dH$mgmMo AmXe© IoS>o … "nmQ>moXm'

H$) _hmamï´> n ©̀Q>Z {dH$mg _hm_§S>imMr JaO

àíZ àíZ àíZ àíZ àíZ 4) Imbrb àíZm§Mr àË òH$s 300 eãXm§V CÎmao {bhm (H$moUVmhr EH$) … [20]

A) bmoH$g§» òÀ`m {dVaUmda n[aUm_ H$aUmao KQ>H$ ñnï> H$am.

~) _hmamï´>mVrb "H¥$fr n`©Q>Z' g{dñVa ñnï> H$am.





Total No. of Questions : 4]

[6041]-414
S.Y. B.A.

PSYCHOLOGY
DSE - 1B : Psychology of Abnormal Behaviour - II

(2019 Credit Pattern) (Semester - IV) (24221)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) The digit of the right indicate full marks.

P2048 [Total No. of Pages : 2
SEAT No. :

Q1) Answer the following questions in 100 words. (any four) [20]
a) State the diagnostic criteria of schizoid personality disorders.
b) Explain the histrionic personality disorder.
c) Describe the breathing related sleep disorder.
d) State the nature of anorexic nervosa disorder.
e) Explain the sleep-wake disorder.
f) Explain the attention deficit disorder.

Q2) Answer the following questions in 200 words. (Any two) [20]
a) Explain the symptoms of schizophrenia.
b) What are the characteristics of personality disorder.
c) Explain the alcohol related disorders.
d) What are the causes factors of specific learning disorders.

Q3) Answer the following questions in 400 words. (Any one): [20]
a) What is schizophrenia? Explain the causes of schizophrenia.
b) Describe various types of intellectual disability.

Q4) Write short notes (any two) [10]
a) Delusional Disorders.
b) Nature of obsessive compulsive disorders.
c) Anti social personality disorders.
d) Effect of Alcohol drinking.


P.T.O.
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Total No. of Questions : 4]

[6041]-414
S.Y. B.A.

PSYCHOLOGY
DSE - 1B : Psychology of Abnormal Behaviour - II

(2019 Credit Pattern) (Semester - IV) (24221)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P2048

à.à.à.à.à.1) Imbrb àíZm§Mr 100 eãXm§V CÎmao {bhm. (H$moUVohr Mma) [20]
A) {N>Þ‘ZñH$mVmOÝ¶ ì¶º$s‘Ëd {dH¥$VrMo {ZXmZmË‘H$ {ZH$f gm§Jm.
~) ZmQ>H$s¶ ì¶º$s‘Ëd {dH¥$Vr ñnï> H$am.
H$) ídgZmer {ZJS>rV {ZÐm{dH¥$VrMo dU©Z H$am.
S>) jwYm^md {dH¥$VrMo ñdê$n gm§Jm.
B) PmonoÀ¶m OmJoMm {dH$ma g‘OmdyZ gm§Jm.
’$) AdYmZ Aj‘Vm {dH¥$Vr ñnï> H$am.

à.à.à.à.à.2) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [20]
A) {N>Þ‘ZñH$Vm {dH¥$VrMr bjUo ñnï> H$am.
~) ì¶º$s‘Ëd {dH¥$VrMr d¡{eï>ço H$moUVr AmhoV?
H$) ‘ÚnmZ g§~§YrV {dH¥$Vr ñnï> H$am.
S>) AÜ¶¶Z {dH¥$VrMo H$maU KQ>H$ H$moUVo AmhoV?

à.à.à.à.à.3) Imbrb àíZm§Mo 400 eãXm§V CÎma {bhm. (H$moUVmhr EH$) [20]
A) {N>Þ‘ZñH$Vm åhUOo H$m¶? {N>Þ‘ZñH$VoMr H$maUo ñnï> H$am.
~) ~m¡{ÕH$ An§JËd {dH¥$VrÀ¶m {d{dY àH$mam§Mo dU©Z H$am.

à.à.à.à.à.4) {Q>nm {bhm. (H$moUVohr XmoZ) [10]
A) {d «̂‘ {dH¥$Vr
~) {dMma H¥$Vr A{Zdm¶©Vm {dH¥$VrMo ñdê$n
H$) g‘mO {dKmVH$ ì¶º$s‘Ëd {dH¥$Vr
S>) ‘XçnmZmMo n[aUm‘





Q1) Answer the following questions in 100 words each (Any Three) :
[3 × 5 = 15]

a) What are the Special Power under Article 370?

b) What are the Preventive measures against Naxalism of India?

c) What are the Objectives of Terrorism?

d) Explain the Meaning and Concept of Counter Terrorism.

e) What is Cyber Crime?

Q2) Answer the following questions in 300 Words each (any One) :
[1 × 15 = 15]

a) Discuss the efforts made by the United Nations to Prevent Terrorism.

b) What are the types of Cyber Crimes? Discuss

Q3) Answer the following questions in 200 words each (Any Two) :
[2 × 10 = 20]

a) What was happened after Article 370 is deleted?

b) State in brief the Naxalist movement in Maharashtra and state the
measures taken by the Government.

c) What are the Types of Terrorism?

d) What are the provisions against Cyber Crime?

Total No. of Questions : 4]

[Total No. of Pages : 4

[6041]-415
S.Y. B.A.

DEFENCE AND STRATEGIC STUDIES
DSE-1B SPL-1 : India's Internal Security - II

(2019 Pattern) (CBCS) (Semester - IV) (24271)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P-60

SEAT No. :

P.T.O.
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Q4) Write Short Notes (Any Four) : [4 × 5 = 20]

a) Jammu and Kashmir Problems

b) Naxalite Movement

c) Effects of Terrorism

d) Mobile Banking Security

e) Counter Terrorism Policy of India

f) Cyber Crime Laws





Total No. of Questions : 4]

[6041]-415
S.Y. B.A.

DEFENCE AND STRATEGIC STUDIES
DSE-1B SPL-1 : India's Internal Security - II

(2019 Pattern) (CBCS) (Semester - IV) (24271)
(_amR>r ê$nm§Va)

doi : 2½ Vmg     ] [ EHy$U JwU : 70

gyMZm: 1) gd© àíZ gmoS>{dUo Amdí`H$ AmhoV.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P-60

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr CÎmao àË òH$s 100 eãXm§V {bhm (H$moUVohr VrZ) … [3 × 5 = 15]

A) H$b_ 370 A§VJ©V {deof A{YH$ma H$moUVo?

~) ^maVmÀ`m ZjbdmX {damoYr à{V~§YmË_H$ Cnm` `moOZm H$moUË`m?

H$) XheVdmXmMr C{Õï>o H$moUVr?

S>) à{VXheVdmXmMm AW© d g§H$ënZm ñnï> H$am.

B) gm`~a JwÝhm åhUOo H$m`?

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr CÎmao àË òH$s 300 eãXm§V {bhm (H$moUVmhr EH$) … [1 × 15 = 15]

A) XheVdmX amoIÊ`mgmR>r g§̀ wº$ amï´> g§KmZo Ho$boë`m à`ËZm§Mr MMm© H$am.

~) gm`~a JwÝøm§Mo àH$ma H$moUVo? MMm© H$am.

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr CÎmao àË òH$s 200 eãXm§V {bhm (H$moUVohr XmoZ) … [2 × 10 = 20]

A) H$b_ 370 hQ>dë`mZ§Va qH$dm aÔ Pmë`mZ§Va H$m` ~Xb Pmbo?

~) _hmamï´>mVrb ZjbdmXr Midi WmoS>Š`mV gm§JyZ gaH$maZo Ho$boë`m Cnm` `moOZm gm§Jm.

H$) XheVdmXmMo àH$ma H$moUVo?

S>) gm`~a JwÝøm§À`m {déÕÀ`m VaVwXr H$moUË`m?

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 4) WmoS>Š`mV {Q>nm {bhm (H$moUË`mhr Mma) … [4 × 5 = 20]

A) Oå_y Am{U H$í_ra g_ñ`m

~) ZjbdmXr Midi

H$) XheVdmXmMo n[aUm_

S>) _mo~mBb ~±qH$J gwajm

B) ^maVmMo à{VXheVdmXm {df`rMo YmoaU

\$) gm`~a JwÝho H$m`Xm





Total No. of Questions : 5]

[Total No. of Pages : 2

[6041]-416
S.Y.B.A

ENGLISH
DSC-1B Appreciating Drama (Old Special Paper-I)

(2019 Pattern) (Semester - IV) (24331)
Texts: A)  Arms and the man: G.B.Shaw

    B)  The fire and the Rain : Girish Karmad

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right side indicate full marks.

P61

Q1) Answer any Three questions of the following (three out of five) [15]
a) Why does Rabhya create a demon called kritya?
b) Why does the king start a fire sacrifice in the kingdom? Who leads the

sacrifice?
c) What does the fire and the rain symbolize in the play ‘The Fire and the

Rain’?
d) Why does Nitlilai’s father decide her marriage with a tribal youth?
e) Why does Paravasu kill his father, Rabhya?

Q2) Answer any Three questions of the following (3 out of 5) [15]
a) Discuss in brief the theme of love and marriage in the play ‘The Fire and

The Rain’
b) What was the Actor Manager’s plea to the chief priest of the fire sacrifice?
c) Write a small note on the structure of the play, ‘The Fire and the Rain’
d) What role does Brahma Rakshasa play in ‘The Fire and the Rain’?
e) How does the fire sacrifice symbolise power in the play . ‘The Fire and

the Rain’?

SEAT No. :

P.T.O.



Q3) Answer any one of the folowing questions. (1 out of 2) [10]

a) The character of Sergius is an anti-thesis to that of Bluntschli. How
would you explain such a perspective towards the play?

b) Discuss ‘Arms and the Man’ as an anti-romantic comedy.

Q4) Answer any one of the following questions. (1 out of 2) [10]

a) Compare and contrast the character of Bluntshli and Sergius.

b) Explain the dramatic significance of Sergius-Louka episode in the play
‘Arms and the Man’

Q5)  Answer any four of the following questions. (4 out of 6) [20]

a) Comment on the role of Nittilai in the play ‘The fire and the Rain’

b) Who is Vishakha? Explain her relationship with Yavakri.

c) What was Yavkri’s plan of revenge against the family of Raibhya?

d) Do you agree that both the women characters Vishakha and Nittilai in the
play, are victims of patriarchy? Explain your view.

e) Explain the dramatic turn that fight between Yavakri and Kritya demon
takes.

f) What effect fire sacrifice has on Aravasu in the play ‘The Fire and the
Rain’?



[6041-416   2



Total No. of Questions : 4]

[Total No. of Pages : 3

[6041]-417
S.Y. B.A.

MATHEMATICS
DSE-1B - MS-3 : Problem Course Based on MG-4 and AMG-4

(2019 Pattern) (Semester - IV) (24341)
Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates :

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P-62

Q1) Attempt any Five of the following : [10]

a) Evaluate 2lim 3 t t t

t
e i e j e k- - -

¥

é ù+ +ê úë û

 
.

b) Find the gradient vector field of the function f (x, y) = 5x 2 sin 5y.

c) Obtain the Parametric representation for the elliptic paraboloid
x = y 2 + 2z 2 – 10.

d) Find the curlF


 if 2 2 2 .F xi yj zk= + +
  

e) Show that { }1, 3  is linearly independent in   over Q.

f) If f : V  W is linear, define the ker f and the image of f.

g) For which value(s) of the constant k does the system

x – y = 3

2x – 2y = k

have no solution.

SEAT No. :

P.T.O.
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Q2) Attempt any Four of the following : [20]

a) Find T̂  and N̂  for the plane curve ( ) 2cos 2sinr t ti tj= +
   of a circle of

radius 2.

b) Solve the initial value problem for ( )r t  where ( )d r t ti tj tk
dt

=- - -
 

with initial condition (0) 3r i j k= + +
  .

c) Evaluate (6 ) ( 2 )
C

y x dx y x dy+ + +ò  where C  is the circle

(x – 2)2 + (y –3)2 = 4 .

d) Solve

x + y + 2z = 9

2x + 4y – 3z = 1

3x + 6y – 5z = 0

by using Gauss Elimination method.

e) Prove that the intersection of two subspaces of a vector space V is also a
subspace of V.

f) Find the Basis and Dimension of subspace { }( , , , ) | ,S x y z x y zw w= = =
of R4.

Q3) Attempt any Four of the following : [20]

a) Evaluate 
2

21

4(6 6 ) 3t i t j k dt
t

é ù
ê ú- + +
ê úë û

ò
 

.

b) Evaluate the integral 2 2( ) 2
C

x y dx xydy+ +ò  along the curve

C : x = t, y = 2t2, 0  t  1, where t = sin u for 0 .
2

u p
£ £

c) Prove that the vector field ( )2 3 2 44F x yi z y xy j z k= - - -
 

 is solenoidal.
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d) Determine whether the set S = {(2, 2, 2), (0, 0, 3), (0, 1, 1)} span R3.
e) Find the rank and nullity of the matrix A given by

1 2 2 3 1
3 6 1 1 7

2 4 3 8 4

æ ö- - ÷ç ÷ç ÷ç ÷- - -ç ÷ç ÷ç ÷÷ç - -è ø

f) Find ker T, where T : R3  R2 defined by
T(x, y, z) = (x + y, y – z)

Q4) Attempt any Two of the following : [20]
a) Using the divergence theorem evaluate

ˆ
S
F ndp⋅òò

where 3 2sin( ) 2 ( 4 )F x i y j z x kp= + + +
 

 and S is the surface of the
box –1  x  2, 0  y  1 and 1  z  4. Note all six sides of the box are
included in S.

b) Find the flux of 2F yzi xj z k= + -
 

 through the parabolic cylinder
y = x2, 0  x  1, 0  z  4

in the direction of ˆ.n

c) Prove that the set   of real numbers is a vector space over  .
d) Determine the value of a so that the following system in unknown x, y, z

has
i) a unique solution
ii) no solution
iii) an infinite number of solutions

x + 2y – 3z = 4
3x – y + 5z = 2
4x + y + (a2 – 14) z = a + 2





Total No. of Questions : 4]

[Total No. of Pages : 4

[6041]-418
S.Y. B.A.

SOCIOLOGY
DSE - 1B : Development of Sociology in India

(2019 Pattern) (CBCS) (Semester - IV) (24371)
Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right side indicate full marks.

P-63

Q1) Write short notes (any 3) : [15]

a) Development of sociology in Indian Universities.

b) Colonial Background.

c) Indological Approach.

d) Contributions of British officers in development of Sociology in India.

e) Indian Nationalism.

Q2) Answer the following questions in 50 words each (any 3) : [15]

a) Elaborate the characteristics of Sanskritization.

b) Explain the contribution of Dr. Ghurye in Sociology.

c) Explain the impact of dominant caste on political, economic sector in
Maharashtra.

d) Write the thoughts of Dr. Ghurye or origin of caste system.

e) Explain the concept of Sub-caste.

SEAT No. :

P.T.O.
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Q3) Answer the following questions in 200 words each. (Any 2) [20]

a) Explain how A.R. Desai studied Indian Nationalism from Marxist
perspective?

b) Explain M.N. Shrinivas's thoughts on Dominant Caste.

c) Explain the Development of Sociology in India.

d) Elaborate the characteristics of Cast System.

Q4) Answer the following questions in 300 words. (Any 1) [20]

a) Explain the development of Indian Sociology in British Period.

b) Elaborate Dr. Babasaheb Ambedkar's thoughts on origin of caste.


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Total No. of Questions : 4]

[6041]-418
S.Y. B.A.

g_mOemñÌ
DSE - 1B : ^maVr` g_mOemñÌmMm {dH$mg

(2019 Pattern) (CBCS) (Semester - IV) (24371)

(_amR>r ê$nm§Va)
doi : 2½ Vmg]                      [EHy$U JwU : 70

gyMZm : 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P-63

àíZ 1) Q>rnm {bhm. (H$moUË`mhr 3) [15]

A) ^maVr` {dÚm{nR>m§_Ü ò Pmbobm g_mOemñÌmMm {dH$mg.

~) dgmh{VH$ nmíd©^y_r.

H$) àmÀ`{dÚm Ñï>rH$moZ.

S>) ^maVr` g_mOemñÌmÀ`m {dH$mgmVrb {~«Q>re A{YH$mè`m§Mo `moJXmZ.

B) ^maVr` amï´>dmX.

àíZ 2) Imbrbn¡H$s H$moUË`mhr 3 àíZm§Mr CÎmao àË òH$s 50 eãXm§V {bhm. [15]

A) g§ñH¥$VrH$aUmMr d¡{eï>ço {deX H$am.

~) S>m°. Kẁ } `m§Mo g_mOemñÌmVrb `moJXmZ ñnï> H$am.

H$) _hmamï´>mVrb amOH$s` d Am{W©H$ joÌmdarb à^mdr OmVtMm à^md ñnï> H$am.

S>) S>m°. Kẁ } `m§Mo {dMma qH$dm Om{Vì`dñWoMm CJ_ {bhm.

B>) nmoQ>OmV hr g§H$ënZm ñnï> H$am.

P.T.O.
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àíZ 3) Imbrbn¡H$s H$moUË`mhr 2 àíZm§Mr CÎmao àË òH$s 200 eãXm§V {bhm. [20]

A) E. Ama. XogmB© `m§Zr ^maVr` amï´>dmXmMm Aä`mg _mŠg©dmXr Ñ{ï>H$moZmVyZ H$gm Ho$bm ho
ñnï> H$am.

~) E_. EZ. lrZrdmg `m§Mo à^mdr OmVr {df`rMo {dMma ñnï> H$am.

H$) ^maVmVrb g_mOemñÌmMm {dH$mg ñnï> H$am.

S>) OmVrì`dñWoMr d¡{eï>ço {deX H$am.

àíZ 4) Imbrbn¡H$s H$moUË`mhr EH$ àíZmMo CÎma 300 eãXm§V {bhm. [20]

A) ^maVr` g_mOemñÌmMm {~«Q>re H$mbI§S>mV Pmbobm {dH$mg ñnï> H$am.

~) S>m°. ~m~mgmho~ Am§~oS>H$am§Mo OmVrÀ`m CËnÎmr {df`rMo {dMma ñnï> H$am.





Total No. of Questions : 4]

[Total No. of Pages : 4

[6041]-420
S.Y. B.A.

PHILOSOPHY  (Speical - I)
DSE - 1B : Indian Philosophy Orthodox Systems
(2019 Pattern) (CBCS) (Semester - IV) (24421)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P-64

Q1) Answer any three of the following questions in 50 words each. [15]

a) State the classification of categories (Padartha) according to Vaisheshika.

b) Briefly discuss pratyaksha pramana in Nyaya Darshan.

c) Explain Shankaracharya's concept of moksha.

d) Explain chitta-Bhoomi in Yoga Darshan.

e) Explain the prakriti tattva in Samkhya philosophy.

Q2) Write short notes on any three of the following. [15]

a) Causation - Samkhya Darshan.

b) Apurva - Purvmimamsaka.

c) Anuman praman - Nyaya Darshan.

d) Pranayam - Yoga Darshan.

e) Brahma - Shankaracharya.

SEAT No. :

P.T.O.
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Q3) Answer any two of the following questions in 200 words each. [20]

a) Fully describe the concept of 'Suffering' implicit in Samkhya philosophy.

b) Explain the Shabda-Pramana (Testimoney) in Nyaya Darshan.

c) Explain Shankaracharya's concept of Maya.

d) Explain in detail the principle of Samadhi in Yoga philosophy.

Q4) Answer any one of the following question in 400 words. [20]

a) Explain in detail's the theory of Trividha - Satta in Advaita Darshan.

b) Explain in detail the concept of God in Vaisheshika Darshan.


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[6041]-420
S.Y. B.A.

PHILOSOPHY  (Speical - I)
DSE - 1B : Indian Philosophy Orthodox Systems
(2019 Pattern) (CBCS) (Semester - IV) (24421)

(_amR>r ê$nm§Va)
doi : 2½ Vmg]                      [EHy$U JwU : 70

gyMZm : 1) gd© àíZ gmoS>{dUo Amdí`H$ AmhoV.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

3) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

P-64

àíZ 1) Imbrbn¡H$s H$moUË`mhr VrZ àíZm§Mr CÎmao àË òH$s 50 eãXm§V {bhm. [15]

A) d¡eo{fH$m§À`m nXmW© g§H$ënZoMo dJuH$aU gm§Jm.

~) Ý`m` Xe©ZmVrb àË`j à_mUmMr WmoS>Š`mV MMm© H$am.

H$) e§H$amMm`mªMr "_moj' g§H$ënZm {deX H$am.

S>) `moJ Xe©ZmVrb {MÎm ŷ_r g§H$ënZm {deX H$am.

B) gm§»`m§À`m "àH¥$Vr' VÎdmMo ñnï>rH$aU {bhm.

àíZ 2) Imbrbn¡H$s H$moUË`mhr VrZ Q>rnm {bhm. [15]

A) H$maU g§H$ënZm - gm§»` Xe©Z.

~) Anyd© - nyd©_r_m§gm.

H$) AZw_mZ à_mU - Ý`m` Xe©Z.

S>) àmUm`m_ - `moJ Xe©Z.

B) ~«÷ - e§H$amMm ©̀.

P.T.O.
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àíZ 3) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mo CÎma àË òH$s 200 eãXm§V {bhm. [20]

A) gm§»` Xe©ZmVrb "Xþ:I' g§H$ënZm g{dñVa {deX H$am.

~) Ý`m` Xe©ZmVrb eãX à_mU ñnï> H$am.

H$) e§H$amMm`mªMr "_m`m' g§H$ënZm ñnï> H$am.

S>) `moJ Xe©ZmVrb "g_mYr' VÎd g{dñVa {deX H$am.

àíZ 4) Imbrbn¡H$s H$moUË`mhr EH$m àíZm§Mo CÎma 400 eãXm§V {bhm. [20]

A) AÛ¡V Xe©ZmVrb {Ì{dY-gÎmm-{gÕm§V g{dñVa ñnï> H$am.

~) d¡eo{fH$ Xe©ZmVrb B©ída g§H$ënZoMo g{dñVa {ddoMZ H$am.


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[6041]-421
S.Y. B.A.

PUBLIC ADMINISTRATION
DSE - 1B : Personnel Administration

(2019 Pattern) (24441) (Semester - IV)
Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P-65

Q1) Attempt any eight questions (20 words) : [16]
a) What is stress management?
b) Write two rights of Employees.
c) Write two issues in Personnel Administration.
d) Define Accountability.
e) Define Corruption.
f) What is Administrative Tribunals.
g) What is Performance Appraisal?
h) Write two problems of Personnel Administration.
i) State meaning of Personnel Administration.
j) What is Discipline?

Q2) Attempt any four short notes (50 words each) : [16]
a) Whitley Council.
b) Right to strike.
c) Motivation.
d) Human Resource Development.
e) Stress Management.
f) Staff Council.

SEAT No. :

P.T.O.
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Q3) Attempt any three questions (100 words) : [18]
a) Discuss on Right to form Association.
b) Discuss on importance of discipline and conduct in civil service.
c) Discuss on importance of Performance Appraisal.
d) Discuss on importance of Administrative Tribunals.

Q4) Attempt any two questions (200 words) : [20]
a) Explain discipline and conduct in Personnel Administration.
b) Discuss problems of Personnel Administration.
c) Explain importance of accountability.


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[6041]-421
S.Y. B.A.

PUBLIC ADMINISTRATION
DSE - 1B : Personnel Administration

(2019 Pattern) (24441) (Semester - IV)

(_amR>r ê$nm§Va)
doi : 2½ Vmg]                      [EHy$U JwU : 70

gyMZm : 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

PA-65

àíZ 1) WmoS>Š`mV CÎmao {bhm. (H$moUVohr AmR>) (20 eãXm§V) [16]
A) VUmd ì`dñWmnZ åhUOo H$m`?
~) H$_©Mmè`m§Mo XmoZ A{YH$ma {bhm.
H$) H$_©Mmar àemgZmÀ`m XmoZ g_ñ`m {bhm.
S>) O~m~XmarMr ì`m»`m Xçm.
B) «̂ï>mMmamMr ì`m»`m Xçm.
\$) àemgH$s` Ý`m`m{YH$aUo åhUVmo H$m`?
`) H$m_{Jar _yë`m§H$Z åhUOo H$m`?
a) H$_©Mmar àemgZmÀ`m XmoZ g_ñ`m {bhm.
b) H$_©Mmar àemgZmMm AW© gm§Jm.
d) {eñV åhUOo H$m`?

àíZ 2) Imbrb àíZm§Mr CÎmao àË òH$s 50 eãXm§V {bhm. (H$moUVohr Mma) [16]
A) pìhQ>bo H$m¢{gb
~) g§nmMm A{YH$ma
H$) àoaUm
S>) _mZd g§gmYZ {dH$mg
B) VUmd ì`dñWmnZ
\$) ñQ>m\$ n[afX

P.T.O.
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àíZ 3) Imbrb àíZm§Mr CÎmao àË òH$s 100 eãXm§V {bhm. (H$moUVohr VrZ) [18]
A) g§KQ>Zm {Z_m©U H$aÊ`mMr A[YH$ma `mda MMm© H$am.

~) gZXr godoVrb {eñV d AmMaU `m§Mo _hËd `mda MMm© H$am.

H$) H$m_{Jar _yë`m§H$ZmMo _hËd `mda MMm© H$am.

S>) àemgH$s` Ý`m`m{YH$aUmMo _hËd `mda MMm© H$am.

àíZ 4) Imbrb àíZm§Mr CÎmao àË òH$s 200 eãXm§V {bhm. (H$moUVohr XmoZ) [20]
A) gZXr godoVrb "{eñV d AmMaU' ñnï> H$am.

~) H$_©Mmar àemgZmÀ`m g_ñ`m `mda MMm© H$am.

H$) O~m~XmarMo _hËd ñnï> H$am.


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[6041]-422
S.Y.B.A.

MARATHI (‘amR>r)
DSE-2B : gm{hË¶ g‘rjm

(2019 Pattern) (CBCS) (Semester - IV) (24022)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm :gyMZm :gyMZm :gyMZm :gyMZm : 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
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à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao 50 eãXmV {bhm. [10]
A) gm{hË¶mMr OrdZ‘yë¶o {bhm.
~) gm{hË¶ g‘rjoMr g§H$ënZm {bhm.
H$) AmñdmXmMo ñdê$n {deX H$am.

à.à.à.à.à.2) Imbrbn¡H$s XmoZ àíZm§Mr CÎmao 150 eãXmV {bhm. [20]
A) gm{hË¶ g‘rjoMr ì¶már ñnï> H$am.
~) gm{hË¶ g‘rjoMr H$moUVohr Mma àH$ma {bhm.
H$) gm{hË¶H¥$Vr Am{U dmMH$ ¶m§Mo nañnag§~§Y ñnï> H$am.

à.à.à.à.à.3) Imbrbn¡H$s XmoZ àíZm§Mr CÎmao 200 eãXmV {bhm. [20]
A) gm{hË¶H¥$Vr Am{U g‘rjH$ ¶m§Mo nañnag§~§Y ñnï> H$am.
~) gm{hË¶ g‘rjoVrb AmñdmX, ‘yë¶‘mnZ d eãXm§H$Z ¶m§Mo H$m¶© {deX H$am.
H$) gm{hË¶H¥$Vr Am{U dmMH$ ¶m§Mo nañnag§~§Y ñnï> H$am.

à.à.à.à.à.4) Imbrbn¡H$s XmoZ àíZm§Mr CÎmao 200 eãXmV {bhm. [20]
A) J«§W n[aM¶ åhUOo H$m¶? Vo gm§JyZ J«§W n[aM¶mMo ‘hÎd {deX H$am.
~) g‘rjH$mÀ¶m A§Jr H$moUH$moUVo JwU Agbo nm{hOoV Vo {deX H$am.
H$) g‘rjH$mZo H$moUH$moUVr nÏ¶o nmibr nm{hOoV Vo {bhm.


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S.Y.B.A.

URDU
DSE- 2B : Special Study of Poets

(CBCS 2019 Pattern) (Semester - IV) (24072)

Time : 3 Hours] [Max. Marks : 70

 


[15]  




[10]  
 




[15]  


 

[10]   
 
 

P.T.O.
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[10]    
  
  
  (3

  (4

  (5

  (6

  (7

[10]    
 


 


 


 


 


 


  

 
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Total No. of Questions : 5]

[6041]-424
S.Y.B.A.

HINDI (qhXr)
DSE- 2B : ‘Ü¶¶wJrZ H$mì¶ VWm ZmQ>H$ gm{hË¶ (S-2)
(2019 Credit Pattern) (Semester - IV) (24092)

nmR>¶nwñVH$ … 1) ‘Ü¶¶wJrZ H$mì¶ - g§. àmo. S>m°. gXmZ§X ^mogbo
2) ‘hm^moO - boIH$ - ‘Þw ^§S>mar

g‘¶ : 2½ K§Q>o] [ nyUmªH$ : 70
gyMZm … 1) g^r àíZ A{Zdm¶© h¢&

2) Xm{hZr Amoa {bIo A§H$ àíZm| Ho$ nyUmªH$ h¡&

P-68

à.à.à.à.à.1) {ZåZ{b{IV àíZm| ‘| go {H$Ýht Xmo àíZmo§ Ho$ CÎma {b{IE& [14]
A) ahr‘ H$m ì¶{º$Ëd Am¡a H¥${VËd ñnï> H$s{OE&

~) ahr‘ Ho$ H$mì¶ H$s àmg§{JH$Vm ñnï> H$s{OE&

H$) nR>rV Xmohm| Ho$ AmYma na ahr‘ Ho$ Zr{V{df¶H$ {dMma ñnï> H$s{OE&

S>) ahr‘ Ho$ H$mì¶ H$m H$bmnj ñnï> H$s{OE&

à.à.à.à.à.2) {ZåZ{b{IV àíZm| ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE& [14]
A) H${d {~hmar Ho$ H$mì¶ H$s {deofVmAm| na àH$me S>m{bE&

~) {~hmar gVgB© ‘| d{U©V ^{º$-^mdZm H$mo ñnï> H$s{OE&

H$) {~hmar Ho$ H$mì¶ ‘| "^{º$, Zr{V Am¡a e¥§Jma H$m g‘Ýd¶ {‘bVm h¡' nR>rV Xmohm| Ho$ AmYma na ñnï>
H$s{OE&

S>) {~hmar ar{VH$mb Ho$ gd©loð> H${d h¡, ñnï> H$s{OE&

à.à.à.à.à.3) {ZåZ{b{IV àíZm| ‘| go {H$Ýht Xmo àíZmo§ Ho$ CÎma {b{IE& [14]
A) ‘hm^moO ZmQ>H$ H$m CX²Xoí¶ ñnï> H$s{OE&

~) ‘hm^moO ZmQ>H$ H$s H$WmdñVw {b{IE&

H$) "‘hm^moO' amOZr{VH$ Ad‘yë¶Z H$m Z¾ ñdê$n {XImZo dmbm ZmQ>H$ h¡¡ ñnï> H$s{OE&

S>) "‘hm^moO' ZmQ>H$ ‘| d{U©V nwê$f nmÌm| H$m n[aM¶ Xr{OE&

[Total No. of Pages : 3
SEAT No. :

P.T.O.
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à.à.à.à.à.4) gg§X ©̂ ì¶m»¶m&

A) {ZåZ{b{IV ‘| go {H$gr EH$ AdVaU H$s g§gX ©̂ ì¶m»¶m {b{IE& [7]

i) Oo Jar~ na {hV H$a¢, Vo ahr‘ ~‹S> bmoJ&

H$hm± gwXm‘m ~mnwamo, H¥$îU {‘VmB© OmoJ&&

ii) {~Jar ~mV ~Z¡ Zht, bmI H$am¡ {H$Z H$mo¶&

a{h‘Z ’$mQ>o XÿY H$mo, ‘Wo Z ‘mIZ hmo¶&&

~) {ZåZ{b{IV ‘| go {H$gr EH$ AdVaU H$s gg§X ©̂ ì¶m»¶m {b{IE& [7]

i) A§J-A§J-ZJ OJ‘JV, Xrn{gIm-gr Xoh&

{X¶m ~‹T>mEhÿ ah¡, ~‹S>m¡ COoamo Joh&

ii) H$ZH$ H$ZH$ Vo gm¡ JwZr, ‘m{XH$Vm A{YH$mB&

C{h ImE ~m¡amXÿ OJ Bqh, nmE ~m¡amB&&

H$) {ZåZ{b{I{V ‘| go {H$gr EH$ AdVaU H$s gg§X ©̂ ì¶m»¶m {b{IE& [7]

i) ""AmR> ‘{hZo nhbo hr Vmo Nw>Q>H$a Am¶m h¡ Z ¶o b‹S>H$m? gwHw$b

~m~y Ho$ g‘¶ ‘§o Mma gmb VH$ Oob H$mQ>r h¡ BgZo?''

ii) ""Aao dmo H$moB© Hw$íVr ‘| WmoS>o hr ‘mam J¶m h¡ Omo Iob-{IbmS>r

‘| XmoJo! XoImo, Ý¶yO Om¶oJr ’«§$Q> - noO na, g‘Po&''

à.à.à.à.à.5) {ZåZ{b{IV ~hþ{dH$ënr¶ àíZm| Ho$ CÎma {b{IE& [7]

i) Zr{V H$mì¶ Ymam Ho$ à‘wI H${d H$m¡Z h¡?

A) H$~ra ~) ahr‘

H$) Om¶gr S>) Z§XXmg

ii) ahr‘ H$s aMZm H$m Zm‘ h¡-

A) ahr‘ gVgB© ~) ~rOH$

H$) gyagmJa S>) ahr‘ H${dVmdbr

iii) {~hmar Zo {H$g amOm H$mo Xmohm {bIH$a ôOm Wm?

A) N>Ìgmb ~) {‘Pm© amOm O¶qgh

H$) N>Ìn{V {edmOr S>) ‘hmamUm
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iv) {~hmar {H$g ^mfm Ho$ H${d h¡?

A) ~«O^mfm ~) Ad{Y

H$) amOñWmZr S>) ‘madmS>r

v) {~gy H$s ‘m¡V H$s N>mZ~rZ H$m¡Z H$aVm h¡?

A) ^dmZr ~) H$mer

H$) Omoamda S>) Eg. nr. g³goZm

vi) ‘hm^moO ZmQ>H$ Ho$ Xm-gmh~ H$m¡Z h¡?

A) àYmZ‘§Ìr ~) ‘w»¶‘§Ìr

H$) gan§M S>) R>oHo$Xma

vii) ‘hm^moO ZmQ>H$ ‘| àog [anmoQ>©a H$s ŷ{‘H$m ‘| H$m¡Z h¡?

A) ZamoÎm‘ ~) {~aOy

H$) H$merZmW S>) AaqdX


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[6041]-425
S.Y. B.A.

SANSKRIT (g§ñH¥$V)
DSE-2B : AWd©doX Am{U Cn{ZfX

(2019 Credit Pattern) (Semester - IV) (24112)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm :gyMZm :gyMZm :gyMZm :gyMZm : 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P69

à.à.à.à.à.1) A) B§J«Or qH$dm ‘amR>rV AZwdmX H$am. (3 n¡H$s 2) [10]
A) Translate in to English or Marathi. (2 out of 3) [10]

1) CnhÿVmo dmMñn{Vê$nmñ‘mZ² dmMñn{V ©̂¶Vm‘²&

g§ lwVoZ J‘o‘{h ‘m lwVoZ {d am{Y{f&&

2) AÀN> Ëdm ¶ÝVw h{dZ: gOmVm A{¾Xÿ©Vmo A{Oa: g§ MamV¡

Om¶m: nwÌm: gw‘Zgmo ^dÝVw ~hþ§ ~qb à{V ní¶mgm CJ«:&&

3) nyUª Zm[a à ^a Hw$å^‘oV§ K¥Vñ¶ Ymam‘‘¥VoZ g§̂ ¥Vm‘²&

B‘m§ nmV¥Z‘¥VoZm g‘L²>½Yrï>mnyV©‘{^ ajmË¶oZm‘²&&

~) gg§X^© ñnï>rH$aU H$am. (2 n¡H$s 1) [5]

B) Reference to the context. (1 out of 2). [5]

1) Z H$‘© {bß¶Vo Zao&

2) ñdJ} bmoHo$ Z ^¶§ {H$#mZmpñV&

à.à.à.à.à.2) g{dñVa CÎma {bhm. (2 n¡H$s 1) [15]

Answer in detail. (1 out of 2) [15]

1) ‘moYmOZZgyº$ (AWd©doX 1.1) ñnï> H$am.

Explain the Medhajananasukta (Atharvaveda 1.1)

2) amk: g§daUgyº$ (AWd©doX 3.4) ñnï> H$am.

Explain the Radnyahsamvaranasukta (Atharvaveda 3.4)

[Total No. of Pages : 2
SEAT No. :
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à.à.à.à.à.3) A) g{dñVa CÎma {bhm. (2 n¡H$s 1) [15]
A) Answer in detail. (1 out of 2) [15]

1) "Cn{ZfX' ¶m {df¶mda {Z~§Y {bhm.

Write an essay on the topic ‘Upanishad’.
2) B©emdmñ¶mo n{ZfXmMm gmam§e {bhm.

Write a summary of Ishavasyopanishad.
~) Q>rn {bhm. (2 n¡H$s 1) [5]
B) Write a short note. (1 out of 2) [5]

1) N>mÝXmo½¶mon{ZfXmVrb Amê$Ur

Aruni in Chandogyopanishad
2) Cn{ZfX

Upnishad

à.à.à.à.à.4) A) g§ñH¥$VmV CÎmao {bhm. (6 n¡H$s 5) [10]
A) Write answers in Sanskrit (5 out of 6) [10]

1) " ¥̂Jwd„r' H$ñ¶m: Cn{ZfX: ^mJ:?

2) "B©emdmñ¶mon{ZfX²' BË¶ñ¶ AÝ¶§ Zm‘Yo¶§ {H$‘²?

3) "H$R>mon{ZfX' B{V J«ÝW: H$ñ¶ dXoñ¶ ApñV?

4) dê$Uñ¶ nwÌ: H$:?

5) Z{MHo$Vg: {nVm H$:?

6) N>mÝXmo½¶mon{ZfX: àUoVm H$:?

~) OmoS>çm Owidm. (6 n¡H$s 5) [10]
B) Match the pairs. (5 out of 6) [10]

1) ‘oYmOZZgyº$‘² A) Jê$Ë‘mZ²

2) nÏ¶m aodVr ........ Am) dmM§ dXV ^Ð¶m

3) amk: g§daUgyº$‘² B) ~«h²‘m

4) embm{Z‘m©Ugyº$‘² B©) amÁ¶àdoeg‘¶o

5) gm§‘Zñ¶gyº$‘² C) àm¶Ur¶o{ï>

6) gn©{dfZmeZgyº$‘² D$) em¡ZH$ g§{hVm





Total No. of Questions : 4]

[6041]-426
S.Y.B.A.

ECONOMICS
DSE-2B : Macro Economics - II

(2019  Credit Pattern) (Semester - IV) (24152)

Time : 2½ Hours] [Max. Marks :70
Instructions to the candidates:

a) All questions are Compulsory.
b) Figure to the right side indicate full marks.
c) Draw the neat diagrams wherever necessary.

P70 [Total No. of Pages : 4
SEAT No. :

Q1) Answer the following questions in one or two sentences. (any eight) [16]

a) What is mean by cash reserve ratio?

b) What is mean by value of money?

c) State the meaning of business cycle.

d) Write the Defination of budget.

e) What is mean by cost push Inflation?

f) What is mean by walking Inflation?

g) Who proposed the quantity theory of money?

h) Write the Marshall’s equation of cash balance approach.

i) What is mean by Bank rate?

j) What is mean by recession phase?

P.T.O.
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Q2) Answer the following Questions in briefly. (Any Four) [16]

a) State the characteristics of business Cycle.

b) State the causes of Inflation.

c) State the monetary policy of prosperity Period.

d) State the Importance of Quantity theory of Money.

e) State the limitations of monetary Policy.

f) Write the Instruments of fiscal Policy.

Q3) Answer the following questions in 100 Words (Any Three) [18]

a) Explain the functions of Money.

b) Explain the phases of Business cycle.

c) State the Fiscal measures to control of Inflation.

d) Explain the classification of Business cycle.

Q4) Answer the following questions in 200 Words. (Any two) [20]

a) Explain the objectives of macro economic policies.

b) Explain the cash Balance approach.

c) Explain the effects of Inflation.


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Total No. of Questions : 4]

[6041]-426
S.Y.B.A.

ECONOMICS
DSE-2B : Macro Economics - II

(2019  Credit Pattern) (Semester - IV) (24152)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZmMo nyU© JwU Xe©{dVmV.
3) Amdí¶H$ {R>H$mUr gw~H$ AmH¥$Vr H$mT>m.

P70

à.à.à.à.à.1) Imbrb àíZm§Mr EH$ qH$dm XmoZ dm³¶mV CÎmao {bhm. (H$moUVohr AmR>) [16]

A) amoI amIrd {ZYr à‘mU åhUOo H$m¶?

~) n¡emMo ‘wë¶ åhUOo H$m¶?

H$) ì¶mnmaMH«$mMm AW© gm§Jm.

S>) A§XmOnÌH$mMr ì¶m»¶m {bhm.

B) IM©-Xm~{Z{‘©V MbZ{dñVma åhUOo H$m¶?

’$) MmbVr ^mddmT> åhUOo H$m¶?

¶) MbZ g§»¶m‘mZ {gÕm§V H$moUr ‘m§S>bm?

a) ‘me©b ¶m§Mo amoI {e„H$ Ñ{ï>H$moZmMo g‘rH$aU {bhm.

b) ~±H$ Xa åhUOo H$m¶?

d) AngaU AdñWm åhUOo H$m¶?
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à.à.à.à.à.2) WmoS>³¶mV CÎmao {bhm. (H$moUVohr Mma) [16]

A) ì¶mnmaMH«$mMr d¡{eï>o gm§Jm.

~) MbZm{dñVmamMr H$maUo gm§Jm.

H$) VoOrÀ¶m H$mimVrb MbZYmoaU gm§Jm.

S>) MbZ g§»¶m‘mZ {gÕm§VmMo ‘hÎd gm§Jm.

B) MbZ{df¶H$ YmoaUmÀ¶m ‘¶m©Xm gm§Jm.

’$) amOH$mofr¶ YmoaUmMr gmYZo {bhm.

à.à.à.à.à.3) Imbrb àíZm§Mr 100 eãXmV CÎmao {bhm. (H$moUVohr VrZ) [18]

A) n¡emMr H$m¶} ñnï> H$am.

~) ì¶mnmaMH«$mÀ¶m AdñWm ñnï> H$am.

H$) MbZ{dñVmamÀ¶m {Z¶§ÌUmgmR>r amOH$mofr¶ Cnm¶ gm§Jm.

S>) ì¶mnmaMH«$mMo dJuH$aU ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr CÎmao 200 eãXmV {bhm. (H$moUVohr XmoZ) [20]

A) g‘J«bjr Am{W©H$ YmoaUmMr C{Ôï>²¶o ñnï> H$am.

~) amoI {e„H$ Ñï>rH$moZ g{dñVa ñnï> H$am.

H$) MbZ {dñVmamMo n[aUm‘ ñnï> H$am.


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[6041]-427
S.Y.B.A.

POLITICAL SCIENCE
DSE-2B : Political Journalism

(2019 Pattern) (CBCS) (Semester - IV) (24162)

Time : 2½ Hours] [Max. Marks :70
Instructions to the candidates:

a) All questions are Compulsory.
b) Figures to the right indicate full marks.

P 71 [Total No. of Pages : 4
SEAT No. :

Q1) Answer any eight of the following questions (in 20 words) [16]

a) What is Paid News?

b) Name the two national political parties in India.

c) Write two types of print media.

d) Write two types of paid news.

e) Write the definition of mediatisation.

f) Name the two types of media.

g) What is public opinion?

h) Name two types of social media.

i) Write down the duties of the media regarding public opinion any two.

j) Write two methods of mediatisation.

Q2) Write any four of the following short notes (in 50 words) [16]
a) Formation of public opinion.

b) Social media War - Room.

c) Advertising.

d) Lok Sabha Election 2014 and Media.

e) Restrictions on Paid News.

f) Lok Sabha Election 2019 and Media.

P.T.O.
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Q3) Answer any three of the following questions.(in 100 words) [18]
a) Explain the concept of Mediatisation of Politics.

b) Write the disadvantages of Paid News.

c) What is the saturation of Media.

d) Explain the role of Media in a political party.

Q4 Answer any two of the following questions (in 200 words) [20]
a) Explain the challenges facing political Journalism.

b) Explain the factors that affect public opinion.

c) Explain the importance of Journalism in the Indian political process.


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Total No. of Questions : 4]

[6041]-427
S.Y.B.A.

POLITICAL SCIENCE
DSE-2B : Political Journalism

(2019  Pattern) (CBCS) (Semester - IV) (24162)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ nyU© JyU Xe©{dVmV.
3) g§X^m©gmR>r ‘yb B©J«Or àíZ n{ÌH$m nhmdr.

P 71

à.à.à.à.à.1) Imbrb n¡H$s H$moUË¶mhr AmR> àíZm§Mr CÎmao {bhm. (20 eãXmV) [16]

A) noS> Ý¶wO  åhUOo H$m¶?

~) ^maVmVrb XmoZ amï´>r¶ amOH$s¶ nj gm§Jm.

H$) qàQ> ‘mÜ¶‘m§Mo XmoZ àH$ma {bhm.

S>) noS> Ý¶wOMo XmoZ àH$ma {bhm.

B) ‘mÜ¶{‘H$aUmMr ì¶m»¶m {bhm.

’$) ‘mÜ¶‘m§Mo XmoZ àH$ma gm§Jm.

¶) gmd©O{ZH$ ‘V åhUOo H$m¶?

a) gmoeb ‘oS>r¶mMo XmoZ àH$ma gm§Jm.

b) gmd©O{ZH$ ‘Vm~m~X ‘mÜ¶‘m§Mo XmoZ H$V©ì¶o {bhm.

d) ‘mÜ¶‘rH$aUmÀ¶m XmoZ nÕVr {bhm.

à.à.à.à.à.2) Imbrb n¡H$s H$moUË¶mhr Mma {Q>nm {bhm. (50 eãXmV) [16]

A) gmd©O{ZH$ ‘VmMr {Z{‘©Vr

~) gmoeb ‘rS>r¶m dm°a é‘

H$) Om{hamV

S>) bmoH$g^m {ZUS>UyH$ 2014 d ‘mÜ¶‘o

B) noS> Ý¶yO ~m~X ~§YZo

’$) bmoH$g^m {ZdS>UyH$ 2019 d ‘mÜ¶‘o
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à.à.à.à.à.3) Imbrb n¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao {bhm. (100 eãXmV) [18]

A) amOH$maUmMo ‘mÜ¶{‘H$aU hr g§H$ënZm ñnï> H$am.

~) noS>Ý¶yOMo VmoQ>o {bhm.

H$) ‘mÜ¶‘m§Mo g°À¶waoeZ åhUOo H$m¶?

S>) amOH$s¶ njmVrb ‘rS>r¶mMr ŷ{‘H$m ñnï> H$am.

à.à.à.à.à.4) Imbrb n¡H$s H$moUË¶mhr XmoZ àíZm§Mr  CÎmao {bhm. (200 eãXmV) [20]

A) amOH$s¶ nÌH$m[aVo g‘moarb AmìhmZo ñnï> H$am.

~) gmd©O{ZH$ ‘Vmda n[aUm‘ H$aUmao KQ>H$ ñnï> H$am.

H$) ^maVr¶ amOH$s¶ à{H«$¶oV nÌH$m[aVoMo ‘hËd ñnï> H$am.





Total No. of Questions : 4]

[6041]-428
S.Y.B.A.

HISTORY
DSE 2B : Glimpses of the Modern World (Part - II)

(2019 Pattern) (CBCS) (Semester - IV) (24172)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P72 [Total No. of Pages : 2
SEAT No. :

Q1) Answer the following question in 300 words. (any one) [15]
a) Write a detailed note on the Mass movements that emerged under the

leadership of Gandhiji.
OR

b) Contribution of Dr. Sun Yat Sen in the growth and development of China.

Q2) Answer the following question in 300 words. (any one) [15]
a) Evaluate the causes and consequences of the Second World War.

OR
b) Changes and improvements adopted in Turkey by Mustafa Kemal Pasha.

Q3) Answer the following questoins in 200 words. (any one) [20]
a) Principles of Dr. Sun Yat Sen.
b) Work of Dr. Nelson Mandela.
c) Causes and nature of the cold war
d) Mussolinis Fascism.

Q4) Short notes (Any four). [20]
a) Apartheid
b) NATO
c) General Tojo
d) Non cooperation movement
e) Cold war
f) Objectives and principles of UNO


P.T.O.
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Total No. of Questions : 4]

[6041]-428
S.Y.B.A.

HISTORY
DSE 2B : Glimpses of the Modern World - II

(2019 Pattern) (CBCS) (Semester - IV) (24172)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo A{Zdm¶© AmhoV.

2) COdrH$S>rb AmH$S>o nyU© JwU Xe©{dVmV.

P72

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 300 eãXmV {bhm. [15]
A) ‘hmË‘m Jm§YrÀ¶m ZoV¥ËdmImbrb ^maVmVrb OZ Am§XmobZmMo {dñV¥V ñdê$n ñnï> H$am.

qH$dm
~) S>m°. gZ-¶V-goZ ¶m§Mo MrZÀ¶m OS>UKS>UrVrb ¶moJXmZ ñnï> H$am.

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 300 eãXmV {bhm. [15]
A) Xþgè¶m ‘hm¶wÕmMr H$maUo d n[aUm‘mMo ‘yë¶‘mnZ H$am.

qH$dm
~) Ho$‘mbnmemÀ¶m gwYmaUm ñnï> H$am.

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZmMr CÎmao 200 eãXmV {bhm. [20]
A) S>m°. gZ-¶V-goZ ¶m§À¶m VÎdmMo ‘hÎd {deX H$am.
~) ZoëgZ ‘§S>obmMo H$m¶© ñnï> H$am.
H$) erV ¶wÕmMr H$maUo d ñdê$n ¶m§Mo n[ajU H$am.
S>) ‘wgmo{bZrMm ’°${gñQ>dmX ñnï> H$am.

à.à.à.à.à.4) {Q>nm {bhm. (H$moUË¶mhr Mma) [20]
A) dU©̂ oX
~) ZmQ>mo
H$) OZab Q>moOmo
S>) AghH$ma MidirMm H$m¶©H«$‘
B) erV ¶wÕ
’$) ¶wZmoMr CÔrï>²¶o d VËdo





Total No. of Questions : 4]

[6041]-429
S.Y. B.A.

HISTORY
DSE2B : History of West Asia

(2019 Pattern) (CBCS) (Semester - IV) (24173)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P73 [Total No. of Pages : 2
SEAT No. :

Q1) Answer the following question in 300 words. (Any one) [15]
a) Give an account of achievements of Kemal Pasha.
b) Write the information about rise of Israel.

Q2) Answer the following question in 300 words. (Any one) [15]
a) State the information about achievement of Naser.
b) Discuss about the achievement of Reza Shaha Pahlavi.

Q3) Answer the following questoins in 200 words. (Any one) [20]
a) Explain the young Turkey movement.
b) Critically evaluate the Arab-Israel conflict.
c) Discuss about Wahabi movement.
d) Describe the achievement of Rashid Ali.

Q4) Write short notes (Any four). [20]
a) World war I and Turkestan.
b) Zionist movement.
c) Balfour Declaration.
d) Ibn Saud.
e) Oil Diplomacy.
f) Iraq-Iran conflict.


P.T.O.
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Total No. of Questions : 4]

[6041]-429
S.Y. B.A.

HISTORY
DSE2B : History of West Asia

(2019 Pattern) (CBCS) (Semester - IV) (24173)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb H§$gmVrb A§H$ JwU Xe©{dVmV.

P73

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 300 eãXmV {bhm. [15]
A) Ho$‘mb nmemÀ¶m H$m‘{JarMm AmT>mdm ¿¶m.
~) BñÌmB©bÀ¶m CX¶m{df¶r ‘m{hVr {bhm.

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 300 eãXmV {bhm. [15]
A) ZmgoaÀ¶m H$m‘{Jar{df¶r ‘m{hVr gm§Jm.
~) aoPmehm nhbdrÀ¶m H$m‘{Jar{df¶r MMm© H$am.

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao 200 eãXmV {bhm. [20]
A) Vê$Z VwH©$ Midi ñnï> H$am.
~) Aa~ BñÌmB©b g§Kfm©Mo {M{H$ËgH$ n[ajU H$am.
H$) dhm~r Midir{df¶r MMm© H$am.
S>) a{eX AbrÀ¶m H$m‘{JarMo dU©Z H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr Mma {Q>nm {bhm. [20]
A) n{hbo ‘hm¶wÕ Am{U VwH©$ñWmZ
~) {PAm°{ZñQ> Midi
H$) ~mb’$moa KmofUmnÌ
S>) BãZ gm¡X
B) VobmMo amOH$maU
’$) BamH$-BamU g§Kf©





Total No. of Questions : 4]

[6041]-430
S.Y.B.A.

GEOGRAPHY
DSE-1B : Population Geography - II

(2019 Pattern) (CBCS) (Semester - IV) (24202) (Gg.210(B))

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory. Attempt all questions.
2) Figures to the right indicate full marks.
3) Draw neat diagrams whenever necessary.
4) Use of map stencils is allowed.

P74 [Total No. of Pages : 4
SEAT No. :

Q1) Write answers to the following questions in 20 words each. (any 8) [16]

a) Write the definition of overpopulation?

b) State the name of any two countries with under population in the world?

c) What two classes of society did Karl Marx mention?

d) Write the name of any two countries where birth control policies are
implemented?

e) When did China adopt the one child policy?

f) Write the name of any two states in India with good health index progress?

g) State the name of any two countries in the world that perform well in
Human Development Index?

h) State the name of any two countries of the world which are most
urbanized?

i) Write the name of any two million cities in Maharashtra?

j) Write the name of any two ancient cities of India?

P.T.O.
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Q2) Write a short note in about 50 words each. (any 3) [18]

a) Malthus’s measures of population control.

b) Birth-control strategies.

c) Health index

d) Urbanization

Q3) Write answers to the following questions in 100 words each? (any 2) [16]

a) Write in detail information about under population?

b) Explain the problems of population growth in developed countries?

c) Explain the background of the concept of population as social capital?

Q4) Write answers to the following questions in 300 words each? (any 1) [20]

a) What is optimum population & Give an detail account on optimum
population.

b) Write the social and cultural problems of urbanization in India?


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Total No. of Questions : 3]

[6041]-430
S.Y.B.A.

GEOGRAPHY
DSE-1B : Population Geography - II

(2019 Pattern) (CBCS) (Semester - IV) (24202) (Gg.210(B))

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m.
4) ZH$mem ñQ>opÝgb dmnaÊ¶mg nadmZJr Amho.
5) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

P74

à.à.à.à.à.1) Imbrb àíZm§Mr àË¶oH$s 20 eãXm§V CÎmao {bhm. (H$moUVohr AmR>) [16]

A) A{V[aº$ bmoH$g§»¶oMr ì¶m»¶m {bhm.

~) OJmVrb Ý¶yZV‘ bmoH$g§»¶m Agboë¶m H$moUË¶mhr XmoZ Xoem§Mr Zmdo {bhm?

H$) H$mb© ‘m³g©Zo g‘mOmVrb H$moUVo XmoZ dJ© gm§{JVbo AmhoV?

S>) OZZ {Z¶§ÌH$ YmoaUo am~{dë¶m OmUmè¶m H$moUË¶mhr XmoZ Xoem§Mr Zmdo {bhm?

B) MrZZo EH$M AnË¶ YmoaU H|$ìhm pñdH$mabo?

’$) Amamo½¶ {ZX}em§H$ CÎm‘ àJVr Agboë¶m ^maVmVrb H$moUË¶mhr XmoZ amÁ¶m§Mr Zmdo {bhm?

¶) ‘mZdr {dH$mg {ZX}em§H$m‘Ü¶o CÎm‘ H$m‘{Jar Agboë¶m OJmVrb H$moUË¶mhr XmoZ Xoem§Mr Zmdo
gm§Jm?

a) gdm©{YH$ ZmJarH$aU Agboë¶m OJmVrb H$moUË¶mhr XmoZ Xoem§Mr Zmdo {bhm?

b) ‘hmamï´>mVrb H$moUË¶mhr XmoZ Xebjr eham§Mr Zmdo {bhm?

d) ^maVmVrb H$moUË¶mhr XmoZ àmMrZ eham§Mr Zmdo {bhm?
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à.à.à.à.à.2) Imbrb àíZm§Mr àË¶oH$s 50 eãXm§V {Q>nm {bhm. (H$moUVohr VrZ) [18]

A) ‘mëWgMo bmoH$g§»¶m {Z¶§ÌUmMo Cnm¶

~) OZZ {Z¶§ÌU YmoaUo

H$) Amamo½¶ {ZX}em§H$

S>) ZmJarH$aU

à.à.à.à.à.3) Imbrb àíZm§Mr àË¶oH$s 100 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [16]

A) Ý¶yZV‘ bmoH$g§»¶og§X^m©V g{dñVa ‘m{hVr {bhm.

~) {dH${gV Xoem§‘Yrb bmoH$g§»¶m dmT>rÀ¶m g‘ñ¶m ñnï> H$am.

H$) bmoH$g§»¶m EH$ gm‘m{OH$ ^m§S>db ¶m g§H$ënZoMr nmíd©̂ y‘r ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr àË¶oH$s 300 eãXm§V CÎmao {bhm. (H$moUVohr EH$) [20]

A) n¶m©á bmoH$g§»¶m åhUOo H$m¶? n¶m©á bmoH$g§»¶oda g{dñVa d¥Îmm§V Úm.

~) ^maVmVrb ZmJarH$aUmÀ¶m gm‘m{OH$ Am{U gm§ñH¥${VH$ g‘ñ¶m {bhm.


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Instructions to the candidates:
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P2049 [Total No. of Pages : 2
SEAT No. :

Q1) Answer the following questions in 100 words each (Any four) [20]
a) Explain the nature of personality.
b) Explain adler’s concept of individual Psychology.
c) Define the concept of Operant Conditioning.
d) Explain PEN model of personality.
e) Explain social cognition given by Bandura.
f) Describe carl Roger’s self concept.

Q2) Answer the following questions in 200 words each (Any two) [20]
a) Discuss in details the misconceptions of personality.
b) Discuss the classification of personality by carl jung.
c) Explain parvlov’s classical conditioning theory.
d) Explain OCEAN model of personality.

Q3) Answer the following questions in 400 words each (Any one): [20]
a) Discuss in detail Freud’s classical psychodynamic theory of personality.
b) Discuss in detail approaches to study personality.

Q4) Write short notes (Any two) [10]
a) Classification of personality theories.
b) Creative self.
c) Reinforcement.
d) 16 PF.


P.T.O.
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S.Y. B.A.
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à.à.à.à.à.1) Imbrb àíZm§Mr 100 eãXm§V CÎmao {bhm. (H$moUVohr Mma) [20]
A) ì¶{º$‘ËdmMo ñdê$n ñnï> H$am.
~) A°S>ba ¶m§Mr ì¶{º$JV ‘mZgemñÌ g§H$ënZm ñnï> H$am.
H$) ì¶mnmaH$/gmYH$ A{^g§YmZ g§H$ënZm ñnï> H$am.
S>) ì¶{º$‘ÎdmMo PEN àmê$n ñnï> H$am.
B) ~m§Sw>am ¶m§Mr gm‘m{OH$ ~moYZ g§H$ënZm gm§Jm.
’$) H$mb© am°Og© ¶m§Mr "ñd-g§H$ënZm' ñnï> H$am.

à.à.à.à.à.2) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [20]
A) ì¶{º$‘Îdm~m~VMo J¡ag‘O g{dñVa ñnï> H$am.
~) H$mb© ¶§wJ ¶m§À¶m ì¶{º$‘Ëd dJuH$aUmMr MMm© H$am.
H$) n°dbm°ìh ¶m§Mm A{^OmV A{^g§YmZ {gÕm§V ñnï> H$am.
S>) ì¶{º$‘ËdmMo OCEAN àmê$n g{dñVa ñnï> H$am.

à.à.à.à.à.3) Imbrb àíZm§Mr 400 eãXm§V CÎmao {bhm. (H$moUVmhr EH$) [20]
A) S>m°. ’«$m°B©S> ¶m§À¶m ì¶{º$‘Ëdm~m~VÀ¶m ‘ZmoJ{VH$ (‘Zmo{díbofUmË‘H$) {gÕm§VmMr g{dñVa

MMm© H$am.
~) ì¶{º$‘ËdmÀ¶m Aä¶mgmMo {d{dY Ñï>rH$moZ g{dñVa gm§Jm.

à.à.à.à.à.4) {Q>nm {bhm. (H$moUVohr XmoZ) [10]
A) ì¶{º$‘Ëd {gÕm§VmMo dJuH$aU
~) gO©Zerb "ñd'
H$) à~bZ
S>) 16 PF (16 ì¶{º$‘Ëd KQ>H$)


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Q1) Answer the following question in 100 words each (any three) [3×5=15]
a) Explain the meaning and concept of Geo-strategy.
b) What is Sea warfare?
c) Why is geography important in war?
d) What are the types of amphibious warfare?
e) Write the characteristics of Plain warfare?

Q2) Answer the following question in 300 words each (any one) [1×15=15]
a) Explain in detail characteristics of Jungle warfare.
b) Explain the desert warfare.

Q3) Answer the following question in 200 words each (any two) [2×10=20]
a) What are the characteristics of land warfare?
b) Explain logistic management in jungle warfare.
c) State the importance of Military geography.
d) Explain logistic management in High altitude warfare.

Q4) Write short notes write short notes (any four) [4×5=20]
a) Plain warfare.
b) Geography
c) Military geography
d) Geo-strategy
e) Air warfare
f) Types of Security



P.T.O.
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à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao àË¶oH$s 100 eãXm§V {bhm. (H$moUVohr VrZ) [3×5=15]
A) ŵ¶wÕ{ZVrMm AW© Am{U g§H$ënZm ñnï> H$am.
~) gmJar ¶wÕnÕVr åhUOo H$m¶?
H$) ¶wÕmV ŷJmob ‘hÎdmMm H$m Amho?
S>) Epå’$~rAmog ¶wÕmMo àH$ma H$moUVo AmhoV?
B) ‘¡XmZr àXoemVrb ¶wÕmMr d¡{eï>²¶o {bhm.

à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao àË¶oH$s 300 eãXm§V {bhm. (H$moUVohr EH$) [1×15=15]
A) O§Jb¶wÕ àXoemVrb ¶wÕmMr d¡{eï>²¶o g{dñVa gm§Jm.
~) dmid§Q>r àXoemVrb ¶wÕ nÕVr ñnï> H$am.

à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao àË¶oH$s 200 eãXm§V {bhm. (H$moUVohr XmoZ) [2×10=20]
A) O‘rZrdarb ¶wÕmMr d¡{eï>²¶o {bhm.
~) O§Jb‘¶ àXoemVrb ¶wÕmMo nwadR>m ì¶dñWmnZ ñnï> H$am.
H$) bîH$ar ŷJmobmMo ‘hÎd gm§Jm.
S>) {h‘mÀN>m{XV àXoemVrb ¶wÕ nÕVrVrb nwadR>m ì¶dñWmnZ ñnï> H$am.

à.à.à.à.à.4) {Q>nm {bhm. (H$moUVohr Mma) [4×5=20]
A) ‘¡XmZr àXoemVrb ¶wÕnÕVr
~) ^yJmob
H$) bîH$ar ŷJmob
S>) ŵ¶wÕ{ZVr
B) hdmB© ¶wÕnÕVr
’$) gwajoMo àH$ma


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SEAT No. :

Q1) Attempt any three of the following: [15]

a) Analyse the Duchess’s character in ‘My Last Duchess’

b) What does the poet intend to become once he is ‘out of nature’ in Sailing
to Byzantium’?

c) Explain the significance of the title, ‘Futility’.

d) How does Wilfred Owen describe the sun in the poem, ‘Futility’.

e) Comment on the title of the poem “My Last Duchess”.

Q2) Attempt any three of the following. [15]

a) How does Emily Dickinson describe the bird in the poem, ‘A Bird Came
Down the Walk’?

b) Comment on the central theme of Emily Dickinson’s poem, ‘A Bird Came
Down the Walk’.

c) Why does the grass insist that it is not dead in, ‘Talking in their Sleep’?

d) What are the two images that the poet John Clare uses to answer the
question of what is life?

e) Explain the significance of the title, ‘What is Life’.

P.T.O.
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Q3) Attempt any three of the following. [15]
a) Comment on the central theme of the poem, ‘Sympathy’.
b) How does the bee awaken the rose in the poem, ‘The Awakening’?
c) How would you describe the character of the speaker in the poem, ‘The

Awakening’?
d) Explain Amy Lowell’s poem, ‘The wind’ as an imagistic poem.
e) What is the consequence of the bird beating its wings in the poem

‘Sympathy’?

Q4) Attempt any three of the following. [15]
a) What are the kinds of freedom Tagore explores in the poem ‘Freedom’?
b) Comment on form, structure and poetic devices in the poem, ‘Caged

Bird’.
c) What do you think the poet Maya Angelou is referring to when she uses

the image of ‘the city on the hill’?
d) What is the central theme of ‘Space Between’? How does the imagery

and language used in the poem reflect and enhanace this theme?
e) What do you think the poet judith wright means by ‘frail bridges’?

Q5) Explain with reference to context (any two). [10]
a) That is no country for old men. The young.

in one another’s arms, birds in the trees
b) Move him into the sun—

Gently its touch awoke him once,
At home, whispering of fields unsown.

c) A Bird, came down the walk
He did not know I saw
He bit an angle worm in halves
And ate the fellow, raw,

d) What is the space between,
enclosing us in one
united person, yet
dividing each alone?





1[6041]-435

Total No. of Questions : 4]

[6041]-435
S.Y.B.A.

MATHEMATICS
DSE 2B : MS-4 : Computational Geometry

  (2019 Pattern) (CBCS) (Semester-IV) (24342)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P77 [Total No. of Pages : 3

SEAT No. :

Q1) Attempt any five of the following: [10]

a) Write a 2×2 transformation matrix that represent scaling in x co-ordinate
by a factor 6 and apply it on the point A [–1,0]

b) Find the reflection of point P(0,2) through the line y=0

c) Check whether 

1 1

2 2
A

1 1

2 2

 
 
 =
 −  

 represents a solid body transformation?

justify your answer.

d) Define the term overall scaling’. Five an example of overall scaling
transformation.

e) State the term ‘Plane geometric projection’.

f) Write the parametric equation of line passing through the points (1,1,1)
and (3,–4,2)

g) Write the methods for representation of spline curves

Q2) Attempt any four of the following: [20]

a) Find the combined 2×2 transformation matrix for the following sequence
of transformations

i) Rotation about the origin through an angle 90º

ii) Shearing in x direction by 3 units.

P.T.O.



2[6041]-435

b) A line segment joining the points A [–1,4] and B[2,3] is transformed to

the line segment A'B' by transformation matrix 
0 1

T
1 2

 
=  − 

 find the

midpoint of line A'B'

c) Find the transformed image ΔA*B*C* of the triangle ABC with vertices
A [1,2], B[3,4], C [5,6] obtained by rotating through an angle 90º about
the point [1 0].

d) Find the transformed image the line segment joining A [0,2,–1], B[–2,1,1]
obtained by rotating about x axis through an angle 90º

e) Determine the transformation matrix for trimetric projection formed by
rotation about y axis through angle 45º, followed by rotation about x axis
through 60º followed by orthogonal projection on z=0 plane, apply it on

the object 0

1 2 3 1

1 5 2 1

3 2 1 1

X

 
 = − 
 − 

..

f) Determine the parametric equation of a Be’zier curve determined by control
points.B

0 
[1,1] B

1 
= [4,2], B

2 
= [–4,7] and B

2 
[3,–1].

Q3) Attempt any four of the following: [20]

a) A circle x2
 
+ y2 = r2 having area 81cm2 is transformed using linear trans-

formation 
1 3

7 2
T

 
=  
 

. Find the area of transformed circle.

b) Let 

3 4 1 1

1 2 1 3

4 5 0 0

0 0 0 3

1 0 0 1

4 5 6 1

X

 
 − 
 

=  
 
 
 
 

. Find the cabinet projection of X with α=30º

c) Write an algorithm to generate uniformly spaced n points on a parabolic
segment y2=4ax in the first quadrant for the given range of x co-ordinate.
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d) Let A [1,0,1], B[0,–1,4] and C [3,3,0] be vertices of triangle ABC. Find
the perspective projection of Δ ABC onto z = 0 plane with center of
projection at Z

c
=10 on the z axis.

e) Find the concatenated transformation matrix for the following sequence
of transformations.

i) Translation by 7,8 and 5 Units along x,y and z axes respectively.

ii) Perspective projection on z=0 plane from the center of projection
on z axis at z

c
=20.

f) Find the transformed image ΔA*B*C*of the triangle ABC with vertices
A [9,8], B[–3,2], C [0,0] obatined by rotating through an angle 90º
about the point [1,0].

Q4) Attempt any two of the following: [20]

a) Generate uniformly spaced 5 points on the circle (x-1)2 + (y+2)2 = 25.

b) Generate uniformly spaced 4 points on the parabolic segment
2 8 ,5 16y x x= ≤ ≤  in the first quadrant.

c) Find the concatenated transformation matrix for the following sequence
of transformations and apply it on point P[4,,4,4]

i) Rotation about x axis through 45º

ii) Rotation about z axis through 90º

d) Find the concatenated transformation matrix for reflection through the
line x + y –4 = 0 Apply it to find the transformed image of  Δ ABC,
Where A[2,4], B[–1,1] and C [0,–1]


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Q1) Write short notes (any three) [15]
a) Degradation of environment.
b) Non-government organization.
c) Concept of rural poverty.
d) Addiction among youth.
e) Concept of sociology.

Q2) Answer the following questions in 50 words. (any three) [15]
a) Explain the concept of Urban Poverty.
b) Write the concept of Social Justice.
c) Explain the meaning of Displacement.
d) Write the concept of Urban Society.
e) Explain the health related problems of senior citizens.

Q3) Answer the following questions in 200 words. (any two) [20]
a) Explain the nature of poverty in India.
b) Describe the role of state in relation to social issues.
c) Explain the role of civil institutions and organisations.
d) Describe the various laws related to policies and in relation to the role

of state.

Q4) Answer the following questions in 300 words. (any one) [20]
a) Write the various problems of youth in India.
b) Elaborate the causes and consequences of displacement.



P.T.O.
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à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr VrZ {Q>nm {bhm. [15]
A) n¶m©daUmMm èhmg
~) {~Ja emgH$s¶ g§KQ>Zm
H$) J«m‘rU Xm[aÐçmMr g§H$ënZm
S>) ¶wdH$m§Mr ì¶gZ{YZVm
B) g‘mOemñÌmMr g§H$ënZm

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao 50 eãXmV {bhm. [15]
A) ehar Xm[aÐçmMr g§H$ënZm ñnï> H$am.
~) gm‘m{OH$ Ý¶m¶mMr g§H$ënZm {bhm.
H$) {dñWmnZmMm AW© ñnï> H$am.
S>) ZmJar g‘mOmMr g§H$ënZm {bhm.
B) d¥Õm§À¶m Amamo½¶{df¶H$ g‘ñ¶m ñnï> H$am.

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao 200 eãXm§V {bhm. [20]
A) ^maVmVrb Xm[aÐçmMo ñdê$n {deX H$am.
~) gm‘m{OH$ g‘ñ¶oÀ¶m g§X^m©V amÁ¶mÀ¶m ŷ{‘H$m ñnï> H$am.
H$) ZmJar g§ñWm Am{U g§KQ>Zm§À¶m ŷ{‘H$m§Mo dU©Z H$am.
S>) amÁ¶mÀ¶m ŷ{‘Ho$À¶m AZwf§JmZo Ho$bobo YmoaU{df¶H$ H$m¶Xo ñnï> H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr EH$m àíZm§Mo CÎma 300 eãXmV {bhm. [20]
A) ^maVmVrb ¶wdH$m§À¶m {d{dY g‘ñ¶m {bhm.
~) {dñWmnUmMr H$maUo d n[aUm‘ ñnï> H$am.


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Q1) Answer any three of the following questions in 50 words each. [15]
a) Explain Descarte’s method of doubt.
b) Explain spinoza’s pantheism.
c) Explain David Hume’s Impressions and Ideas.
d) Explain George Berkeley’s concept of “To be is to be perceived”.
e) Explain Kant’s concept of understanding.

Q2) Write short notes on any three of the following. [15]
a) Innate Ideas - Descartes.
b) Substance- Spinoza.
c) Dialectical method - Hegel.
d) Self - Hume.
e) Categorical Imperatives - Kant.

Q3) Answer any two of the following questions in 200 words each. [20]
a) Explain Descarte’s concept of soul.
b) Explain Spinoza’s theory of attributes and modes.
c) Discuss Hegel’s concept of Absolute Idealism.
d) Explain Kant’s concept of ‘space’ and ‘Time’.

Q4) Answer any one of the following questions in 400 words. [20]
a) Explain Descartes’ thought’s about body and mind problems.
b) Discuss in detail why John Locke rejected the innate Ideas theory of

Descarte.



P.T.O.
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à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao àË¶oH$s 50 eãXm§V {bhm. [15]
A) XoH$mV©Mr g§e¶ nÕVr {deX H$am.
~) pñnZmoPmMm gd}ídadmX ñnï> H$am.
H$) S>opìhS> øy‘Mo "R>go' Am{U "H$ënZm' {dMma {deX H$am.
S>) Om°O© ~H$b}À¶m "ApñVÎd åhUOo àË¶¶' g§H$ënZoMo {ddoMZ H$am.
B) H$m§Q>Mr "AmH$bZ' g§H$ënZm ñnï> H$am.

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr VrZ {Q>nm {bhm. [15]
A) O‘:OmV H$ënZm - XoH$mV©.
~) Ðì¶ g§H$ënZm - pñnZmoPm.
H$) Û§ÛmË‘H$ nÕVr - hoJob.
S>) "ñd:' g§H$ënZm - øy‘.
B) {Zê$nm{YH$ AmXoe - H$m§Q>.

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mo CÎma àË¶oH$s 200 eãXm§V {bhm. [20]
A) XoH$mV©À¶m AmË‘ g§H$ënZoMo {ddoMZ H$am.
~) pñnZmoPmMm "JwU' d "{dH$ma' {gÕm§V g{dñVa ñnï> H$am.
H$) hoJobÀ¶m {Zanoj H$ënZmdmX g§H$ënZoMr MMm© H$am.
S>) H$m§Q>Mr "{XH²$' Am{U "H$mb' g§H$ënZm {deX H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr EH$m àíZm§Mo CÎma 400 eãXmV {bhm. [20]
A) XoH$mV©Mo "eara d ‘Z' g‘ñ¶o {df¶rMo {dMma ñnï> H$am.
~) Om°Z bm°H$Zo XoH$mV©Mm OÝ‘:OmV H$ënZm {gÕm§V H$m ZmH$mabm Ë¶mMr g{dñVa MMm© H$am.





Total No. of Questions : 4]

[6041]-439
S.Y.B.A.

PUBLIC ADMINISTRATION
DSE-2B : Development Administration

(2019 Pattern) (CBCS) (Semester - IV) (24442)
Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P80 [Total No. of Pages : 4
SEAT No. :

Q1) Attempt any eight questions (20 words). [16]

a) Write meaning of Bureaucracy.

b) Write two features of Bureaucracy.

c) Concept - POSD CORB.

d) Non Governmental Agencies means?

e) Write two perspectives of Development.

f) What is gender parity?

g) Write two issues in Development Administration.

h) Write two Human Development Indicators.

i) Write two sustainable development Goals.

j) Write two features of Development administration.

P.T.O.



2[6041]-439

Q2) Attempt any four short notes (50 words each). [16]

a) Meaning of administration.

b) Concept of POSDCORB and importance.

c) Nature of non Governmental Agencies.

d) Sustainable Development Goals.

e) Human Development Indicators.

f) Concept-Globalization.

Q3) Attempt any three questions (100 words each). [18]

a) Explain relationship between gender parity and Development.

b) Explain role of Non Governmental Agencies.

c) Discuss importance of Bureaucracy.

d) Discuss issues in development administration.

Q4) Attempt any two questions (200 words). [20]

a) Discuss on Globalisation and Development.

b) Discuss features of Bureaucracy.

c) Discuss role of voluntary organisations.


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Total No. of Questions : 4]

[6041]-439
S.Y.B.A.

PUBLIC ADMINISTRATION
DSE-2B : Development Administration

(2019 Pattern) (CBCS) (Semester - IV) (24442)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P80

à.à.à.à.à.1) WmoS>³¶mV CÎmao {bhm. (H$moUVohr AmR>) (20 eãXmV) [16]

A) ZmoH$aemhrMm AW© {bhm.

~) ZmoH$aemhrMr XmoZ d¡{eï²>¶o {bhm.

H$) POSD CORB - g§H$ënZm

S>) J¡a gaH$mar g§ñWm åhUOo H$m¶?

B) {dH$mgmMo XmoZ Ñï>rH$moZ {bhm.

’$) qbJ g‘mZVm åhUOo H$m¶?

¶) {dH$mg àemgZmMo XmoZ g‘ñ¶m {bhm.

a) XmoZ ‘mZd {dH$mg {ZX}em§H$ {bhm.

b) emídV {dH$mgmMo XmoZ Ü¶o¶o {bhm.

d) {dH$mg àemgZmMo XmoZ d¡{eï>²¶o {bhm.
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à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao àË¶oH$s 50 eãXm§V {bhm. (H$moUVohr Mma) [16]

A) àemgZmMm AW©

~) POSD CORB g§H$ënZm d ‘hÎd

H$) J¡a gaH$mar g§ñWm-ñdê$n

S>) emídV {dH$mg Ü¶o¶o

B) ‘mZd {dH$mg {ZX}em§H$

’$) OmJ{VH$sH$aU-g§H$ënZm

à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao àË¶oH$s 100 eãXm§V {bhm. (H$moUVohr VrZ)$ [18]

A) qbJ g‘mZVm d {dH$mg ¶m§Mo g§~§Y ñnï> H$am.

~) J¡a gaH$mar g§ñWm§Mr ŷ{‘H$m ñnï> H$am.

H$) ZmoH$aemhrMo ‘hÎd ¶mda MMm© H$am.

S>) {dH$mg àemgZmÀ¶m g‘ñ¶m ¶mda MMm© H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr CÎmao 200 eãXmV {bhm. (H$moUVohr XmoZ) [20]

A) OmJ{VH$sH$aU d {dH$mg ¶mda MMm© H$am.

~) ZmoH$aemhrMr d¡{eï>²¶o ¶mda MMm© H$am.

H$) ñd¶§godr g§ñWm ¶m§Mr ŷ{‘H$m ¶mda MMm© H$am.





Total No. of Questions : 4]

[6041]-440
S.Y.B.A.

MARATHI (‘amR>r) (G2)
CC-1D : ^m{fH$ H$m¡eë¶ {dH$mg Am{U AmYw{ZH$ ‘amR>r gm{hË¶ àH$ma : b{bV JÚ

(2019 Pattern) (CBCS) (Semester - IV) (24023)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm :gyMZm :gyMZm :gyMZm :gyMZm : 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P81

à.à.à.à.à.1) 5 n¡H$s 3 àíZm§Mr CÎmao àË¶oH$s 50 eãXm§n¶ªV {bhm. [15]
A) JwJbMo ‘hÎd {deX H$am.
~) JwJb ³bmg ê$‘Mo ’$m¶Xo {bhm.
H$) ¶yQ>çw~ åhUOo H$m¶?
S>) b{bV JÚmMr ì¶m»¶m {bhm.
B) "J«§W{‘Ì' ¶m boImVyZ nwñVH$m§er AgUmao ‘¡ÌrMo ZmVo ñnï> H$am.

à.à.à.à.à.2) 3 n¡H$s 2 àíZm§Mr CÎmao àË¶oH$s 150 eãXm§n¶ªV {bhm. [20]
A) JwJb‘rQ>Mo ‘hÎd ñnï> H$am.
~) JwJb ’$m°‘© V¶ma H$aÊ¶mÀ¶m nm¶è¶m {bhm.
H$) b{bV JÚmMo KQ>H$ {bhm.

à.à.à.à.à.3) 3 n¡H$s 2 àíZm§Mr CÎmao àË¶oH$s 200 eãXm§n¶ªV {bhm. [20]
A) "n[a{Zd¥Îm {dÚm^mñH$a ‘{Ue§H$a CnmÜ¶m¶' boImÀ¶m AmYmao Jwê$-{eî¶mMo ZmVo {deX H$am.
~) "H$moaS>r {^jm' ¶m boImVrb Aml‘emioVrb OrdZ {MÌU H$am.
H$) "nmIa§' ¶m g§Ü¶m a§Jmar ¶m§À¶m b{bV boImVrb Vwåhm§bm ^mdbobm àg§J {bhm.

à.à.à.à.à.4) 2 n¡H$s 1 àíZmMo CÎma 300 eãXm§n¶ªV {bhm. [15]
A) "ghmdo gwI' ¶m nmR>mMo Ame¶gyÌ Vw‘À¶m eãXm§V g{dñVa ñnï> H$am.
~) "VwÂ¶m ZmXmZ nm{hbr VwPrM ao n§T>ar' ¶m boImÀ¶m AmYmao {dR²>R>b^º$sMo {MÌU {deX H$am.



[Total No. of Pages : 1
SEAT No. :
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Total No. of Questions : 4]

[6041]-441
S.Y.B.A.

MARATHI (‘amR>r)
CC-2D : ì¶mdhm[aH$ d Cn¶mo{OV ‘amR>r - ^mJ - 4

(2019 Pattern) (CBCS) (Semester - IV) (24024)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm :gyMZm :gyMZm :gyMZm :gyMZm : 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P82

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr Mma àíZm§Mr CÎmao 50 eãXm§V {bhm. [20]
A) g§JUH$mda ‘amR>r Q>mB©n H$aÊ¶mgmR>r JwJb BZnwQ> Qy>ëgMm dmna H$gm H$amdm?
~) ¶w{ZH$moS>‘YyZ ‘amR>r Q>m¶qnJ H$aVmZm H$moUVr H$miOr ¿¶mdr?
H$) nm°da nm°BªQ> (PPT) åhUOo H$m¶? Vo WmoS>³¶mV gm§Jm.
S>) dS>© E³gobMo ’$m¶Xo WmoS>³¶mV ñnï> H$am.
B) H$moe dmL²>‘¶mMo àH$ma WmoS>³¶mV {bhm.
’$) Zm|X boIZmMo {d{dY àH$ma gm§Jm.

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao 100 eãXm§V {bhm. [20]
A) B{Vd¥Îmo H$moUË¶m àg§JmÀ¶m {Z{‘ÎmmZo {b{hbr OmVmV?
~) {Q>ßnUr åhUOo H$m¶ Vo gm§JyZ {Q>ßnUr H$m d H$moUmgmR>r {b{hbr OmVo Vo ñnï> H$am.
H$) {Q>ßnUr boIZ H$aVmZm {Q>ßnUr boIH$mZo H$moUVr H$miOr ¿¶mdr?

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao 150 eãXm§V {bhm. [20]
A) ‘wº$ñÌmoV åhUOo H$m¶? g{dñVa {bhm.
~) ‘amR>r {d{H$nr{S>¶m{df¶r ‘m{hVr {deX H$am.
H$) kmZH$moemVrb Zm|XrMo ‘hÎd ñnï> H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 200 eãXm§V {bhm. [10]
A) ¶w{ZH$moS> àUmbrMm g{dñVa n[aM¶ H$ê$Z X²¶m.
~) H$moe dmL²>‘¶mMr dmQ>Mmb g{dñVa ñnï> H$am.



[Total No. of Pages : 1
SEAT No. :

P.T.O.



1[6041]-442

Total No. of Questions : 4]

[6041]-442
S.Y. B.A.

CC-1D : FRENCH GENERAL
(2019 Pattern) (CBCS) (Semester - IV) (24033)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Answer all questions in full sentence.
3) Use of dictionary is not allowed.
4) The medium of answer is French.

P83 [Total No. of Pages : 3
SEAT No. :

P.T.O.
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Total No. of Questions : 5]
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[6041]-443

S.Y. B.A.

GERMAN

CC - 1D  : GG4 German General 4

(2019 Pattern) (CBCS) (Semester - IV) (24043)
Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P3118

SEAT No. :

P.T.O.

[16]

[8]

[8]

[10]

[24]

[4]
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S.Y.B.A.

URDU
CC - 1D : Modern Prose & Poetry 

(2019 Pattern) (CBCS) (Semester - IV) (24073)

Time : 2½ Hours] [Max. Marks : 70

 


[12]  




[12]  




[12]  


 

[10]    
 
 

P.T.O.
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Total No. of Questions : 5]

[Total No. of Pages :2

SEAT No. :



[10]  
 
 

[14]  
 


 


 

 
 


 


 


  

 
 


  


  


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Total No. of Questions : 3]

[Total No. of Pages : 1

[6041]-445
S.Y. B.A.

MARATHI (_amR>r)

SEC-2B (2) : Cn`mo{OV boIZH$m¡eë ò
(2019 Credit Pattern) (Semester - IV) (24025)

doi :  2 Vmg     ] [ EHy$U JwU : 25

gyMZm : 1) gd© àíZ gmoS>{dUo A{Zdm ©̀ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P-85

SEAT No. :

àíZ àíZ àíZ àíZ àíZ 1) Om{hamVtMo doJdoJù`m àgma _mÜ`_mVrb doJionU {deX H$am. [10]

qH$dm

ÑH$lmì` _mÜ`_m§gmR>r _wbmIVboIZ H$em àH$mao Ho$bo OmVo Vo ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 2) Zm|XboIZ H$go Ho$bo OmVo Vo ñnï> H$am. [10]

qH$dm

kmZH$moemMo _hËËd {deX H$am.

àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s H$moUVrhr EH$ Q>rn {bhm. [5]

A) {dídH$moemMo àH$ma

~) _wbmIVrMo _hÎd


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S.Y.B.A. (Semester - IV)

URDU 
SEC-2B Communication Skill
 24074 (CBCS) (2019 Pattern) 

P-86

Total No. of Questions : 2

[Time :2 HoursTotal Marks : 25]

P.T.O.

   

 (1
 (2

 :1 



  2 







[15]

SEAT No.

Total No. of Pages : 1

[10]



àíZ àíZ àíZ àíZ àíZ 1) Mma _| go H$moB© Xmo àíZm| Ho$ CÎma {dñVma go {b{IE - [10]

A) _mÜ`_ boIZ H$s Cn`mo{JVm ñnï> H$s{OE &

~) _mÜ`_ boIZ H$m _hËd ñnï> H$s{OE &

H$) _mÜ`_ boIZ H$m CX²Xoí` ñnï> H$s{OE &

S>) Zd _mÜ`_ boIZ Ho$ àH$ma &

àíZ àíZ àíZ àíZ àíZ 2) Mma _| go H$moB© Xmo àíZm| Ho$ CÎma {dñVma go {b{IE - [10]

A) ãbm°J boIZ H$s Amdí`H$VmAm| na àH$me S>m{bE &

~) _mÜ`_ boIZ H$s Amdí`H$Vm ñnï> H$s{OE &

H$) Q>obr{dOZ \$sMa H$s Img ~mVm| H$s {ddoMZm H$s{OE &

S>) ao{S>`mo \$sMa H$m _hËd ñnï> H$s{OE&

àíZ àíZ àíZ àíZ àíZ 3) {ZåZ{b{IV _| go {H$gr EH$ {df` na \$sMa boIZ H$s{OE & [5]

A) AmnHo$ _mohëbo _| Am`mo{OV A_¥V _hmoËgdr H$m ©̀H«$_ na H§$Q>oQ> boIZ H$s{OE &

~) _hm{dXçmb` _| Am`mo{OV qhXr {Xdg {df` na \$sMa V¡̀ ma H$s{OE &



Total No. of Questions : 3]

[Total No. of Pages : 1

[6041]-447
S.Y. B.A.

HINDI (qhXr)
SEC-2B : _mÜ`_ boIZ

(CBCS) (2019 Pattern) (Semester - IV) (24096)

g_` : 2 K§Q>o     ] [nyUmªH$ : 25

gyMZmE± : 1) g^r àíZ A{Zdm ©̀ h¢&
2) Xm{hZr Amoa Ho$ A§H$ àíZ Ho$ nyUmªH$ h¢&

P-87

SEAT No. :



Q1) Imbrbn¡H$s H$moUË`mhr EH$mMo g{dñVa CÎma Úm. [15]

Write an essay type answer to any one of the following :

i) ^maVmVrb {bnrMm B{Vhmg `mda {Z~§Y {bhm.

Write an essay on evolution of scripts in india.

ii) ~«m÷r {bnrVrb ñda, ì §̀OZ, OmoS>mja {b{hÊ`mMr nÕV Am{U g§»`m `m {df`mda {Z~§Y {bhm.

Write an essay on vowels, consonants, consonant clusters and numbers
in ~«m÷r script.

Q2) A) H$moUË`mhr EH$m àíZmMo CÎma {bhm. [5]

Write an answer to any one of the following :

i) Imbrb CVmè`mMo J§«W {bnrV {bß §̀VaU H$am.

Transliterate the following paragraph into J§«W script.

à^mVH$miMr d¥Îmr Am{U gm`§H$miMr d¥Îmr `m§Vrb \$aH$ nwîH$i doim _bm
{dñ_{`VH$maH$ dmQ>Vmo. gm §̀H$mir Oo {dMma qH$dm {dH$ma _ZmV àm_w»`mZo CØdVmV,
Ë`m§Mm à^mVH$mir _mJ_yghr ZgVmo. à^mVH$mir qMVZerb Ago _Z AgVo. Vo XodmOdi
AgVo. ñdJm©Odi AgVo; na§Vw gm §̀H$mir {Xdg^amÀ`m `mVm`mVtZr AmnU WHy$Z Jobobmo
AgVmo. _Zmda Anma VmU Ambobm AgVmo.

Total No. of Questions : 2]

[Total No. of Pages : 2

[6041]-448
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[6041]-448 2

ii) Imbrb n§º$s¨Mo emaXm {bnrV {bß §̀VaU H$am.

Transliterate the following poems into emaXm script.

g§doXZm gmè`m OJmMr

öX`mV Amho ^a^ê$Z

ZmVo ZdrZ Ago H$mhr

OmoSy>Z AmhmoV Amåhr

_mZd Vohr _mZd Amåhr (H$dr A{Zb)

_r nm`Yyi KoVmo Ooìhm VwPr Oamer,

_mPr bbmQ>aofm ~ZVo à`mJ H$mer (H$dr gwaoe ^Q>)

B) C{MVm{Z ẁ½_m{Z {d{MZwV (H$mÝ`{n n#m) [5]

A ~

i) {b{n… AdJ«h…

ii) B{V MrZXoeo

iii) J«ÝW{bno… AmJVm {b{n… ~m¡Õnaånam

iv) emaXm{bno… CØd… 804 {¼gVmpãY…

v) gmåàV§ {MÌ{bß`m… boIZà`moJ {bn²-CnXoho

vi) b{bV{dñVa… _b`mb_²

dH$ma…





Q1) Solve any one of the following question : [10]

a) Write the merits and demerits of case study?

b) Explain the concept of mean, median and mode?

Q2) Solve any one of the following question : [10]

a) What is Literature review? Explain in detail the components of Literature
review.

b) Explain the types of deta analysis.

Q3) Write Short note (Any one) : [5]

a) Bar chart

b) Quartile deviation


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Total No. of Questions : 3]

[6041]-449
S.Y. B.A.

ECONOMICS
SEC-2B : Basic Concept of Research Methodology - II

(2019 Pattern) (Semester - IV) (24154)
(_amR>r ê$nm§Va)

doi : 2 Vmg     ] [ EHy$U JwU : 25

gyMZm: 1) gd© àíZ gmoS>{dUo Amdí`H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nwU© JwU Xe©{dVmV.

3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

P-89

àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s H$moUVmhr EH$ àíZ gmoS>dm. [10]

A) ì`ï>r AÜ``ZmMo JwU Xmof {bhm.

~) _Ü`, _Ü`Jm d ~hþbH$ `m g§H$ënZm ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 2) Imbrbn¡H$s H$moUVmhr EH$ àíZ gmoS>dm. [10]

A) gm{hË` nwZamdbmoH$Z åhUOo H$m`? gm{hË` nwZamdbmoH$ZmMo KQ>H$ g{dñVa ñnï> H$am.

~) VÏ` {díbofUmMo àH$ma ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 3) {Q>nm {bhm (H$moUVohr EH$) … [5]

A) ñV§^mboI

~) MVwW©H$ {dMbZ


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Q1) Write answers of the following questions in 200 words (any one) : [10]

a) Explain the fundamental duties and write 11 fundamental duties of
Indian citizen.

b) Discuss Directive Principles of state policies in Indian Constitution.

Q2) Write answers of the following questions in 200 words (any one) : [10]

a) Explain the importance of fundamental duties of Indian citizen.

b) Explain the nature of directive principles of state policy in Indian
constitution.

Q3) Write Short note (Any one) : [5]

a) Swarn Sing Committee

b) Types of directive principles


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Total No. of Questions : 3]

[6041]-450
S.Y. B.A.

POLITICAL SCIENCE
SEC-2B : Basics of Indian Constitution

(2019 Pattern) (CBCS) (Semester - IV) (24165)
(_amR>r ê$nm§Va)

doi : 2 Vmg     ] [ EHy$U JwU : 25

gyMZm: 1) gd© àíZ gmoS>{dUo Amdí`H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

P-90

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr CÎmao 200 eãXm§V {bhm. (\$ŠV EH$) … [10]

A) _yb ŷV H$V©ì` {deX H$ê$Z ^maVr` ZmJarH$m§Mr 11 _yb ŷV H$V©ì ò {bhm.

~) ^maVr` amÁ`KQ>ZoVrb amÁ`mÀ`m YmoaUmMr _mJ©Xe©H$ VËdo {deX H$am.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr CÎmao 200 eãXm§V {bhm. (\$ŠV EH$) … [10]

A) ^maVr` ZmJarH$m§À`m _yb ŷV H$V©ì`m§Mo _hËd {deX H$am.

~) ^maVr` amÁ`KQ>ZoVrb amÁ`mÀ`m YmoaUmÀ`m _mJ©Xe©H$ VÎdm§Mo ñdê$n ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 3) {Q>nm {bhm (H$moUVohr EH$) … [5]

A) ñdU© qgJ g{_Vr

~) _mJ©Xe©H$ VËdm§Mo àH$ma


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Q1) Write answer to the following questions in 200 words (1 only) : [10]
Write information about the types of Modi Script documents.

OR
Write detailed information about archives in Maharashtra.

Q2) Write an essay in Modi Script in 200 words on any one of the following
topics : [10]
a) Our Heritage
b) Chhatrapati Shivaji Maharaj
c) My inspirational personality

Q3) Translate the following Modi script words : [5]

a)

b)

c)

d)

e)

f)

g)


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Total No. of Questions : 3]

[6041]-451
S.Y. B.A.

HISTORY
SEC-2B : Modi Script (Credits - 2)

Skill Enhancement Cource
(2019 Pattern) (Semester - IV) (24175)

(_amR>r ê$nm§Va)
doi : 2 Vmg     ] [ EHy$U JwU : 25

gyMZm: 1) gd© àíZ gmoS>{dUo A{Zdm ©̀ AmhoV.

2) COdrH$S>rb AmH$S>o nwU© JwU Xe©{dVmV.

P-91

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr CÎmao 200 eãXm§V {bhm. (\$ŠV EH$) … [10]
_moS>r {bnrÀ`m H$mJXnÌm§À`m àH$mam§Mr _m{hVr {bhm.

qH$dm
_hmamï´>mVrb XâVaImÝ`m§Mr g{dñVa _m{hVr {bhm.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb H$moUË`mhr EH$m {df`mda 200 eãXm§V _moS>r {bnrV {Z~§Y {bhm. [10]
A) Amnbm ~agm
~) N>Ìn{V {edmOr _hmamO
H$) _mPo àoaUmXm`r ì`{ŠV_Îd

àíZ àíZ àíZ àíZ àíZ 3) Imbrb _moS>r {bnrVrb eãX _amR>r ^mfoVnm§Va H$am (H$moUVohr nmM) … [5]

A)
~)
H$)
S>)
B)
\$)
`)


2



Q1) Answers the following questions in 200 words (any one) : [10]

a) Elucidate upon the architecture of the Vijaynagar Dynasty.

OR

b) Describe in detail the architecture of the Gol Gumbaz.

Q2) Answers the following questions in 200 words (any one) : [10]

a) Give an account of the architecture during the reigh of Sher Shah Sur.

b) Name and Describe the famous architectural structures of Shah Jahan's
reign.

Q3) Short notes (Any one) : [5]

a) Fatehpur Sikri

b) Taj Mahal


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Total No. of Questions : 3]

[6041]-452
S.Y. B.A.

HISTORY
SEC-2B : Medieval Indian Arts & Architecture

(2019 Pattern) (Semester - IV) (24176)
(_amR>r ê$nm§Va)

doi : 2 Vmg     ] [ EHy$U JwU : 25

gyMZm: 1) gd© àíZ A{Zdm ©̀ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P-92

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (\$ŠV EH$) … [10]

A) {dO`ZJaÀ`m ñWmnË`H$boMo {ddoMZ H$am.

qH$dm

~) JmobKw_Q>À`m ñWmnË`H$boMm AmT>mdm ¿`m.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (\$ŠV EH$) … [10]

A) eoaemhm gyarÀ`m H$mimVrb ñWmnË`H$boMr d¡{eï>o gm§Jm.

~) ehmOhmZ H$mbrZ ñWmnË`mMr Zmdo gm§JyZ Ë`m§Mm AmT>mdm ¿`m.

àíZ àíZ àíZ àíZ àíZ 3) {Q>nm {bhm (H$moUVohr EH$) … [5]

A) \$Îmonya {gH«$s

~) VmO_hmb



2



Q1) Answer the following questions in 200 words (any one) : [10]

a) Explain what is high culture and its characteristics.

OR

b) Review the development of modern Indian theatre.

Q2) Answer the following questions in 200 words (any one) : [10]

a) What effect did the Indian Independence Movement have on the audio-
visual media?

OR

b) Underline the importance of fairs in Indian popular culture.

Q3) Short note (Any one) : [5]

a) Ballad

OR

b) Popular culture and social media.


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(_amR>r ê$nm§Va)
doi : 2 Vmg     ] [ EHy$U JwU : 25

gyMZm: 1) gd© àíZ A{Zdm ©̀ AmhoV.

2) COdrH$S>rb AmH$S>o nwU© JwU Xe©{dVmV.

P-93

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (\$ŠV EH$) … [10]

A) Cƒ g§ñH¥$Vr åhUOo H$m` ho gm§JyZ Ë`mMr d¡{eï>ço ñnï> H$am.

qH$dm

~) AmYw{ZH$ ^maVr` a§J_§M `mÀ`m {dH$mgmMm AmT>mdm ¿`m.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (\$ŠV EH$) … [10]

A) ^maVr` ñdmV§Í` Am§XmobZmMm ÑH$lmì` _mÜ`_mda H$m` n[aUm_ Pmbo Vo {bhm.

qH$dm

~) _oimdo AWdm OÍmm `m§Mo ^maVr` bmoH${à` g§ñH¥$Vr_Ü ò AgUmao _hËd AYmoao{IV H$am.

àíZ àíZ àíZ àíZ àíZ 3) {Q>nm {bhm (H$moUVohr EH$) … [5]

A) nmodmS>m

qH$dm

~) bmoH${à` g§ñH¥$Vr Am{U g_mO_mÜ`_o


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Q1) Answer the following questions in 200 words (any one) : [10]

a) Explain the organizational structure of Travel agency.

OR

b) Describe the role of Indian Railways in the development of travel
agency.

Q2) Answer the following questions in 200 words (any one) : [10]

a) Explain the responsibilities of the travel agency.

OR

b) Explain the detail the types of accommodation.

Q3) Write a short notes (any one) : [5]

a) Tour operators

OR

b) History of Travel agency.



Total No. of Questions : 3]
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Total No. of Questions : 3]

[6041]-454
S.Y. B.A.

HISTORY
SEC-2B : Travel Agency & Tour Business

(2019 Pattern) (CBCS) (Semester - IV) (24178)
(_amR>r ê$nm§Va)

doi : 2 Vmg     ] [ EHy$U JwU : 25
gyMZm :

1) gd© àíZ gmoS>{dUo Amdí`H$ AmhoV.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P-94

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm (\$º$ EH$) … [10]

A) àdmgr g§ñWoMr g§KQ>ZmË_H$ aMZm ñnï> H$am.

qH$dm

~) àdmgr g§ñWm {dH$mgmVrb ^maVr` aoëdoMr ŷ{_H$m {dfX H$am.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm (\$º$ EH$) … [10]

A) Q´>°ìhb EO§Q> (àdmgr àdV©H$) À`m O~m~Xmè`m g{dñVa ñnï> H$am.

qH$dm

~) n ©̀Q>Z {ZdmgmMo àH$ma g{dñVa ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 3) {Q>nm {bhm (H$moUVrhr EH$) … [5]

A) ghb Am`moOH$/Am`moOZ H$Vm©

qH$dm

~) àdmgr g§ñWoMm B{Vhmg


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Q1) Answer in 20 words each (Any five) : [10]

a) Write the full form of LANDSAT.

b) Write the resolution of LISS-IV image.

c) Define electromagnetic energy.

d) Write any two points of longer wavelength.

e) What is passive sensors?

f) Name any two image processing softwares.

g) What is shape?

Q2) Write short notes in about 100 words (Any two) : [8]

a) Thermal infrared region.

b) Transmission of energy.

c) Cross track scanning.

Total No. of Questions : 3]

[Total No. of Pages : 4
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Q3) Write the answer of questions in 150 words (Any one) : [7]

a) What is electromagnetic spectrum? Describe it's various divisions, with
the help of diagram.

b) Describe the LANDSAT satellite system in detail.





Total No. of Questions : 3]

[6041]-455
S.Y. B.A.

GEOGRAPHY
SEC-2B : Introduction to Remote Sensing

(2019 Pattern) (CBCS) (Semester - IV) (24206)
(_amR>r ê$nm§Va)

doi : 2 Vmg     ] [ EHy$U JwU : 25
gyMZm :

1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ àíZm§Mo nwU© JwU Xe©{dVmV.

3) Amdí`H$ VoWo gw~H$ AmH¥$Ë`m H$mT>m.

4) ZH$mem Q>oÝgrb dmnaÊ`mg nadmZJr Amho.

5) g§X^m©gmR>r _yi  B§J«Or àíZn{ÌH$m nhmdr.

P-95

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr àË òH$s 20 eãXmV CÎmao {bhm (H$moUVohr nmM) … [10]

A) b±S>g°Q> (LANDSAT) Mo nwU© ê$n {bhm.

~) Eb.Am`.Eg.Eg.-IV (LISS-IV) à{V_oMo {d`moOZ (resolution) {bhm.

H$) {dÚwV M§w~H$s` D$Om© ì`m»`m {bhm.

S>) {XK© Va§Jbm§~rMo H$moUVohr XmoZ JwU {bhm.

B) {ZîH«$s` g§doXH$ åhUOo H$m`?

\$) H$moUË`mhr XmoZ à{V_m àH«$s`m g§{hVm {bhm.

`) AmH$ma åhUOo H$m`?

àíZ àíZ àíZ àíZ àíZ 2) àË òH$s 100 eãXmV {Q>nm {bhm (H$moUVohr XmoZ) … [8]

A) Am¡îUrH$ Adaº$ {d^mJ.

~) CO}Mo g§MaU.

H$) Amanma gwú_ g_rjU.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr àË òH$s 150 eãXmV CÎmao {bhm (H$moUVohr EH$) … [7]

A) {dÚwV Mw§~H$s` dU©nQ> H$embm åhUVmV? Ë`mÀ`m {d{dY {d^mJm§Mo g{dñVa dU©Z
AmH¥${VÀ`m gmhæ`mZo H$am.

~) b±S>g°Q> (LANDSAT) CnJ«h àUmbrMo g{dñVa dU©Z H$am.





Q1) Answer in 20 words each (any five) : [10]

a) What is mean by National tourism?

b) Give any two advantages of air transport in tourism activity.

c) Define term 'Hotel'.

d) State any two landforms, that attracts to tourist.

e) Give the name of any two hilly tourist (hill station) places in India.

f) Write any two names of Historical Monuments in India.

g) Write two advantages of local tourism.

Q2) Write a short notes in 100 words (any two) : [8]

a) Tour planning.

b) Air transportation and tourism development.

c) Introduction to your nearest local tourist places.
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Q3) Answer in 150 words each (any one) : [7]

a) Explain the types of tourism based on the number of tourist.

b) Explain the pre-planning for International tour.





Total No. of Questions : 3]

[6041]-456
S.Y. B.A.

GEOGRAPHY
SEC-2B : Applied Course of Travel and Tourism
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(_amR>r ê$nm§Va)
doi : 2 Vmg     ] [ EHy$U JwU : 25
gyMZm :

1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

3) Amdí`H$ VoWo gw~H$ AmH¥$Vr H$mT>m.

4) ZH$mem ñQ>opÝgb dmnaÊ`mg nadmZJr Amho.

5) g§X^m©gmR>r _yi  B§J«Or àíZn{ÌH$m nhmdr.

P-96

àíZ àíZ àíZ àíZ àíZ 1) àË òH$s 20 eãXmV CÎmao {bhm (H$moUVohr nmM) … [10]

A) amï´>r` n ©̀Q>Z åhUOo H$m`?

~) n ©̀Q>Z ì`dgm`mV hdmB© dmhVwH$sMo H$moUVohr XmoZ \$m`Xo {bhm.

H$) ì`m»`m {bhm - hm°Q>ob.

S>) n ©̀Q>H$m§Zm AmH${f©V H$aUmar H$moUVrhr XmoZ ŷê$no {bhm.

B) ^maVmVrb H$moUË`mhr XmoZ nd©Vr` n ©̀Q>Z ñWim§Mr Zmdo {bhm.

\$) ^maVmVrb H$moUË`mhr XmoZ Eo{Vhm{gH$ ñWim§Mr Zmdo {bhm.

`) ñWm{ZH$ n ©̀Q>ZmMo XmoZ \$m`Xo {bhm.

àíZ àíZ àíZ àíZ àíZ 2) 100 eãXmV CÎmao {bhm (H$moUVohr XmoZ) … [8]

A) ghb {Z`moOZ.

~) hdmB© dmhVwH$ d n ©̀Q>Z {dH$mg.

H$) Vw_À`m amoOmarb ñWm{ZH$ n ©̀Q>Z ñWimMr AmoiI.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) 150 eãXmV CÎmao {bhm (H$moUVohr EH$) … [7]

A) n ©̀Q>H$m§À`m g§» òdê$Z n ©̀Q>ZmMo hmoUmao àH$ma ñnï> H$am.

~) Am§Vaamï´>r` n ©̀Q>ZmgmR>rMo nyd©-{Z`moOZ ñnï> H$am.





àíZ àíZ àíZ àíZ àíZ 1) {d^mg amJmVrb N>moQ>m »`mb ñda{bnr~Õ H$am. [5]

àíZ àíZ àíZ àíZ àíZ 2) h_ra amJmMr g§nyU© emór` _m{hVr {bhm. [5]

àíZ àíZ àíZ àíZ àíZ 3) nwT>rbn¡H$s H$moUË`mhr EH$m VmbmMr g§nyU© _m{hVr {bhÿZ Ë`m VmbmMm R>oH$m EH$nQ>rV {bhm.
[5]

A) {ÌVmb

~) Mm¡nmb

H$) Pw_am

àíZ àíZ àíZ àíZ àíZ 4) ì`m»`m {bhm (H$moUË`mhr nmM) … [5]

A) J«h

~) A§e

H$) Ý`mg

P.T.O.
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1) n{hbm àíZ gmoS>{dUo A{Zdm ©̀ Amho.
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3) gd© àíZm§g àË òH$s 5 JwU AmhoV.
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S>) nydmªJdmXr amJ

B) H$Uñda

\$) H$bmd§V

àíZ àíZ àíZ àíZ àíZ 5) nwT>rbn¡H$s H$moUË`mhr EH$m g§JrVkmMo OrdZM[aÌ d gm§Jr{VH$ `moJXmZ {dñV¥V {bhm. [5]

A) C. AãXþb H$ar_ Im§

~) n§. Am|H$maZmW R>mHy$a

H$) A„m{X`m Im§

àíZ àíZ àíZ àíZ àíZ 6) nwT>rbn¡H$s H$moUË`mhr EH$m {df`mda g{dñVa {bhm. [5]

A) Rw>_ar

~) XmXam

H$) »`mb Jm`H$s


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àíZ àíZ àíZ àíZ àíZ 1) ê$nH$ Vmbm_Ü ò EH$ VwH$S>m d EH$ {VhmB© ^mVI§S>o {bnrZwgma {bhm. [5]

àíZ àíZ àíZ àíZ àíZ 2) Imbrbn¡H$s H$moUË`mhr EH$m VmbmMm _m{hVrgh R>oH$m {bhm. [5]

A) AmS>mMm¡Vmb

~) VrbdmS>m

H$) Yw_mir

àíZ àíZ àíZ àíZ àíZ 3) ì`m»`m {bhm … [5]

A) OmVr

~) {VJwZ

H$) Mm¡JwZ

S>) ~oX_ {VhmB©

B) X_Xma {VhmB©

Total No. of Questions : 4]
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1) ghmn¡H$s H$moUVohr nmM àíZ gmoS>dm.

2) gd© àíZm§Zm àË òH$s 5 `mà_mUo g_mZ JwU.

3) COdrH$S>rb A§H$ JwU Xe©{dVmV.
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àíZ àíZ àíZ àíZ àíZ 4) V~bm dmÚmÀ`m {Z{_©Vr g§X^m©Vrb {d{dY _Vàdmhm§Mr _m{hVr {bhm. [5]

àíZ àíZ àíZ àíZ àíZ 5) {Z~§Y {bhm (H$moUVmhr EH$) … [5]

A) V~bm dmXZmMo V§Ì

~) bIZm¡ ~mO

àíZ àíZ àíZ àíZ àíZ 6) OrdZM[aÌ {bhm (H$moUVohr EH$) … [5]

A) n§. gm_Vm àgmX

~) CñVmX A„ma ImZ

H$) PmH$sa hþgoZ





Q1) Write the answer of the following questions : (Any one) [10]

a) What is counselling? Explain the uses of counselling.

b) Describe the core conditions of helping relationships.

Q2) Write the answer of the following questions : (Any one) [10]

a) Explain structuring skills and summarizing skills of counselling.

b) Illustrate the multicultural helping goals and multicultural competencies.

Q3) Write Short Notes (Any One) : [5]

a) Professional counselling

b) Perceiving and interpreting.



Total No. of Questions : 3]

[Total No. of Pages : 2

[6041]-458
S.Y.B.A

PSYCHOLOGY
SEC - 2B : BASIC COUNSELLING SKILLS

(2019 Pattern) (Semester - IV) (24224)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P-98

SEAT No. :

P.T.O.



Total No. of Questions : 3]

[6041]-458
S.Y.B.A

PSYCHOLOGY
SEC - 2B : ‘yb^yV g‘wnXoeZ H$m¡eë¶o
(2019 Pattern) (Semester - IV) (24224)

(_amR>r ê$nm§Va)
doi : 2 Vmg     ] [ EHy$U JwU : 25
gyMZm : 1) gd© àíZ Amdí`H$ AmhoV.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
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àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr CÎmao {bhm. (H$moUVmhr EH$) [10]

A) g‘wnXoeZ åhUOo H$m¶? g‘wnXoeZmMo Cn¶moJ ñnï> H$am.

~) ‘XV¶wº$ ZmVo - g§~§YmÀ¶m Jm^r¶/H|$Ðr¶ n[apñWVrMo dU©Z H$am.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr CÎmao {bhm. (H$moUVmhr EH$) [10]

A) g‘wnXoeZmMo aMZm H$m¡eë¶ Am{U gmam§e H$m¡eë¶ ñnï> H$am.

~) ~hþg§mñH¥${VH$ ‘XV - Ü¶o¶o Am{U ~hþg§mñH¥${VH$ g‘wnXoeZ gj‘Vm goXmhaU ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 3) {Q>nm {bhm (H$moUVmhr EH$) : [5]

A) ì¶mdgm{¶H$ g‘wnXoeH$

~) g§doXrH$aU Am{U AÝd¶{W©H$aU


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Q1) Select the correct option for and rewrite the statement : [5]

a) Which of the following is a type of cyber security?

i) Cloud Security ii) Network Security

iii) Application Security iv) All of the above

b) How many types of password is there?

i) Four ii) Five

iii) Six iv) Seven

c) Which topology has the highest reliability?

i) Mesh topology ii) Star topology

iii) Ring Topology iv) Bus Topology

d) What is the full form of internet?

i) InterContinental Network ii) Internal Network

iii) Interconnected Network iv) International Network

e) Which of the following act violates cyber security?

i) Exploit ii) Attack

iii) Threat iv) Vulnerability
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Q2) Write the answer in 100 words ( Any three) : [12]

a) State the types of Network.

b) What is Topograpy?

c) How to avoid being a victim of insecurity?

d) What is vulnerability?

e) What is Cyber Security?

Q3) Write the answers in 200 words (any one) : [8]

a) What is Password cracking? What are the Sources of Password cracking?

b) What is Internet? State the uses of Internet.


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DEFENCE AND STRATEGIC STUDIES
SEC - 2B : Introduction to Cyber Security/Information

Security
(2019 Pattern) (Semester - IV) (24275)
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1) gd© àíZ A{Zdm ©̀ AmhoV.

2) COdrH$S>rb AmH$S>o nyU© JwU Xe©{dVmV.
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àíZ àíZ àíZ àíZ àíZ 1) `mo½` n`m©̀  {ZdSy>Z {dYmZo naV {bhm … [5]

A) Imbrbn¡H$s H$moUVm àH$ma gm`~a gwajm Amho?

i) ŠbmdyS> gwajm ii) ZoQ>dH©$ gwajm

iii) AZwà`moJ gwajm iv) darb gd©

~) nmgdS>©Mo {H$Vr àH$ma AmhoV?

i) Mma ii) nmM

iii) ghm iv) gmV

H$) H$moUË`m Q>monmobm°Or_Ü ò gdm©{YH$ {dœmgmh©Vm Amho?

i) _oe Q>monmobm°Or ii) ñQ>ma Q>monmobm°Or

iii) [a¨J Q>monmobm°Or iv) ~g Q>monmobm°Or

S>) B§Q>aZoQ>Mo nyU© ê$n H$m` Amho?

i) B§Q>aH$m°pÝQ>Z|Q>b ZoQ>dH©$ ii) A§VJ©V ZoQ>dH©$

iii) B§Q>aH$ZoŠQ>oS> ZoQ>dH©$ iv) Am§Vaamï´>r` ZoQ>dH©$

B) Imbrbn¡H$s H$moUVm H$m`Xm gm`~a gwajoMo C„§KZ H$aVmo?

i) emofU ii) h„m

iii) Y_H$s iv) AJ{VH$Vm

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) 100 eãXmV CÎmao {bhm (H$moUVmhr VrZ) … [12]

A) ZoQ>dH©$Mo àH$ma gm§Jm.

~) Q>monmobm°Or åhUOo H$m`?

H$) Agwa{jVVoMo ~ir hmoÊ`mMo H$go Q>mimdo?

S>) ôX`Vm åhUOo H$m`?

B) gm`~a gwajm åhUOo H$m`?

àíZ àíZ àíZ àíZ àíZ 3) 200 eãXmV CÎmao {bhm (H$moUVmhr EH$) … [8]

A) nmgdS>© H«°$qH$J åhUOo H$m`? nmgdS>© H«°$qH$JMr gmYZo H$moUVr?

~) B§Q>aZoQ> åhUOo H$m`? B§Q>aZoQ> Mo \$m`Xo gm§Jm.





Q1) Attempt any ONE of the following : [10]

a) Your friends Premkumar has first returned from Hyderabad. You want
to know which places he visited there. Ask him questions and write a
dialogue on it.

b) Shubhangi wants to use laptop of her friend Manasi. She permits her
to use laptop. Write a dialogue on the given situation.

Q2) Attempt any ONE of the following : [10]

a) You have to deliver a speech on “Communication Skills”. How will
you prepare for your speech.

b) Mr. Jadhav has been living in crystal. Howing society for five years.
There is no regular water supply. He went to the chairman of the society
and complained to him about it. Write a dialogue on the given situation.

Q3) Attempt any ONE of the following : [5]

a) You could not attend the classes for last ten days. Write a dialogue
expressing your apology to class teacher.

b) What are the important steps to improve English vocabulary?


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Q1) Attempt any five of the following : [10]

a) State the term 'sudden failure'. Write all three types of sudden failure.

b) Let 3:f    be a function defined as 2 2
1 2 3 1 2 3( , , ) 3f x x x x x x= + ,

compute (1,1,0)f .

c) State the term 'Critical activity' in critical path method.

d) Write any two principal assumptions for n jobs and m machines
sequencing problem.

e) State the term 'Pessimism criterion' for the decision under uncertainty.

f) State the methods to solve the zero sum games without saddle point.

g) The payoff matrix for player A is given as below. Find the saddle point, if
it exists.

Player B
Player A

B1 B2 B3

A1 8 6 2

A2 8 9 4

SEAT No. :

P.T.O.
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Q2) Attempt any four of the following : [20]

a) Let 2:f    be a function defined as 3 3
1 2 1 2( , ) 3 2 200.f x x x x= + +

Evaluate the Hessian matrix of given function f at (1, 0).
b) Use dominance principal to reduce following Player A pay-off matrix to

order 2 × 2.
              Player BPlayer A

B1 B2 B3 B4

A1 2 –2 4 1
A2 6 1 12 3
A3 –3 2 0 6

c) An investor wants to invest rupees 10000 in one of the three options A, B
or C. The returns on his investment depends on the economical conditions
of inflation, recession or no change. The possible returns under each
economical condition are given as follow :
Use pessimistic criterion to find the best option for investor.

Strategy  Economical conditions
Inflation Recession No Change

Option A 2000 1200 1500
Option B 3000 800 1000
Option C 2500 1000 1800

d) A company purchased the new machine at rupess 17000. The economic
life of machine is expected to be 5 years. The salvage value of the machine
at the end of its economical life will be rupees 4000. If the market interest
rate is 4%, find the present worth of the salvage value of machine.

e) Whether it is possible to reduce given 3 machines problem to 2 machines?
Justify. If yes, reduce given problem to 2 machine problem.

Job 1 2 3 4 5 6
Machine A : 2 4 6 2 10 13
Machine B : 4 4 5 7 3 1
Machine C : 11 10 9 14 8 7

d) Draw the network diagram for the activities relations and duration's given
below :

Activity 1 - 2 1 - 3 1 - 4 2 - 5 2 - 6 3 - 6 4 - 7 5 - 7 6 - 7
Duration in days 5 18 26 16 15 6 7 7 3
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Q3) Attempt any four of the following : [20]
a) Write any three differences between CPM and PERT.

b) Let 2:f    be a function defined as 2 2 2
1 2 1 2 1 2( , ) 5 7 .f x x x x x x= + +

Determine the local maximum or local minimum value of the function f.

c) The processing times in hours for 5 jobs on 2 machines is given as
below. Each job must be processed on machines A and B in the order
AB. Determine the optimal sequence of jobs to minimize the total elapsed
time.

Job : 1 2 3 4 5

Machine A 5 1 9 3 10

Machine B 2 6 7 8 4

d) Let 2:f    be a function defined as 2 2
1 2 1 2 1 2 1 2( , ) 2 .f x x x x x x x x= + + - -

Determine the local maximum or local minimum value of the function f.

e) The cost price of a machine is rupees 5000. The running cost and the
resale price in rupees per year of a machine is given in following table.
Determine the best time to replace machine.

Year 1 2 3 4 5 6 7 8

Running cost 1500 1600 1800 2100 2500 2900 3400 4000

Resale price 3500 2500 1700 1200 800 500 500 500

f) Draw the network diagram for the activities relations given below :

Activity A B C D E F G

Predecessors - - - A C A D,B,E

Q4) Attempt any two of the following : [20]
a) Use graphical method to solve the following game. Also, find optimal

strategies of each player and the value of game.

Player A
                 Player B

B1 B2 B3 B4

A1 8 –2 9 –3

A2 6 5 6 8
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b) The activities of a project and their time duration's are given in following
table. Draw a project network, find the critical path and the expected time
of the completion of project.

Activity 1 - 2 1 - 3 2 - 3 2 - 4 3 - 5 3 - 6 4 - 5 4 - 6 5 - 6
Duration in weeks 5 6 3 8 2 11 0 1 12

c) Use dominance principle to find the optimal strategies for player A and
player B for the folllowing game. Also, find the value of game.

Player B
Player A

B1 B2 B3 B4

A1 19 6 7 5
A2 7 3 14 6
A3 12 8 18 4
A4 8 7 13 –1

d) The processing times in hours for 5 jobs on 3 machines is given as
below. Each job must be processed on machines A, B and C in the order
ABC. Determine the optimal sequence of jobs to minimize the elapsed
time. Also, find idle time for each machine.

Job : 1 2 3 4 5 6
Machine A 8 3 7 2 5 1
Machine B 3 4 5 2 1 6
Machine C 8 7 6 9 10 9





Q1) Answer the following questions in 200 words (Any One) : [10]

a) Discuss the Socio-historical context of social research.

b) State the importance of report writing in social research.

Q2) Write short notes on (Any Three) : [15]

a) Interview Technique

b) Variable

c) Survey

d) Hypothesis

e) Data Analysis


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3) g§X^m©gmR>r _wi B§J«Or àíZn{ÌH$m nhmdr.

P-102

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mo CÎma 200 eãXm§V {bhm. (H$moUVohr EH$) [10]

A) gm_m{OH$ g§emoYZmÀ`m gm_m{OH$ d Eo{Vhm{gH$ g§X^m©Mr MMm© H$am.

~) gm_m{OH$ g§emoYZmV Ahdmb boIZmMo _hËd gm§Jm.

àíZ àíZ àíZ àíZ àíZ 2) WmoS>Š`mV {Q>nm {bhm. (H$moUVohr VrZ) [15]

A) _wbmIV V§Ì

~) Mb

H$) gd}jU

S>) J¥{hVH¥$Ë`

B) VÏ` {díbofU


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Q1) Write short note on any three of the following in 50 words each. [15]

a) Patanjala Yoga

b) Pranayama

c) Ashtanga Yoga

d) The concept of Yoga

e) Samadhi

Q2) Answer the following question in 200 words (Any One) : [10]

a) What is mean by 'Samadhi', explain its types.

b) Make the comparison between 'Hathayoga' and 'Rajayoga'.



Total No. of Questions : 2]

[Total No. of Pages : 2

[6041]-463
S.Y. B.A. (Semester - IV)

SEC2B - A COURSE ON PHILOSOPHY AND PRACTICE
OF YOGA

Additional Credit Course
(2019 Pattern) (CBCS) (24425)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P-103

SEAT No. :



Total No. of Questions : 2]

[6041]-463
S.Y. B.A. (Semester - IV)

SEC2B - A COURSE ON PHILOSOPHY AND PRACTICE
OF YOGA

Additional Credit Course
(2019 Pattern) (CBCS) (24425)

(_amR>r ê$nm§Va)
doi : 2 Vmg     ]  [EHy$U JwU : 25

gyMZm : 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

3) g§X^m©gmR>r _wi B§J«Or àíZn{ÌH$m nhmdr.

P-103

àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s H$moUË`mhr VrZmda Q>rnm 50 eãXm§V {bhm. [15]

A) nV§Ob`moJ

~) àmUm`m_

H$) Aï>m§J`moJ

S>) `moJ g§H$ënZm

B) g_mYr

àíZ àíZ àíZ àíZ àíZ 2) Imbrbn¡H$s H$moUË`mhr EH$m àíZmMo CÎma 200 eãXm§V {bhm. [10]

A) g_mYr åhUOo H$m` Vo gm§JyZ {VMo àH$ma ñnï> H$am.

~) "hR>`moJ' Am{U "amO`moJ' `m§Mr VwbZm H$am.


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Total No. of Questions : 5]

[6041]-465
S.Y.B.A.

HINDI (qhXr)
CC-1D : AmYw{ZH$ qhXr ì¶§½¶ gm{hË¶ VWm ì¶mdhm[aH$ qhXr (G-2)

nmR²>¶nwñVH$ … qhXr gm{hË¶ Am¡a ^mfm
(2019 Pattern) (CBCS) (Semester - IV) (24093)

g‘¶ : 2½ K§Q>o] [ nyUmªH$ : 70
gyMZmE± … 1) g^r àíZ A{Zdm¶© h¢&

2) Xm{hZr Amoa {bIo A§H$ àíZ Ho$ nyUmªH$ h¢&

P 104

à.à.à.à.à.1) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZmo§ Ho$ CÎma {dñVma go {b{IE& [16]

A) ‘VrZm| ~§Xa ~mny Ho$’ H${dVm Ho$ ‘mÜ¶‘ go H${d Zo dV©‘mZ amOZr{V na H¡$go àhma {H$¶m h¡?

~) ‘~mV-~V§JS>’ H${dVm H$m CX²Xoe ñnï> H$s{OE&

H$) ‘{dX²dmZ bmoJ’ H${dVm ‘| {dX²dmZ bmoJmo§ H$m ‘hÎd ñnï> H$s{OE&

S>) AemoH$ MH«§$Ya Zo ‘{H$VZr amoQ>r’ H${dVm ‘| gm‘m{OH$ pñWVr na H¡$gm ì¶§½¶ {H$¶m h¡?

à.à.à.à.à.2) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {dñVma go {b{IE& [16]

A) ‘ào‘ H$s {~amXar’ H$hmZr H$m gmam§e {b{IE&

~) ‘A’$ga’ H$hmZr ‘| A’$ga H$s ‘Zmod¥{Îm na àH$me S>m{bE&

H$) ‘gmdYmZ, h‘ B©‘mZXma h¡’ Bg H$hmZr Ho$ ì¶§½¶ H$mo ñnï> H$s{OE&

S>) ‘‘w»¶‘§Ìr H$m S>§S>m’ Bg H$hmZr H$m ‘hÎd {deX H$s{OE&

à.à.à.à.à.3) A) {ZåZ{b{IV ‘| go {H$Ýht EH$ AdVaU H$s gg§X ©̂ ì¶m»¶m H$s{OE&  [7]

i) “{dX²dmZ bmoJm| H$s h±gr ¶m N>tH$ ^r

{dX²dmZ hmoVr h¡

Am¡a CgH$m H$maU OmZZm

Omo {dX²dmZ Zht h¢

CZHo$ ~mha H$s ~mV h¡&”

[Total No. of Pages : 3
SEAT No. :
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ii) “ZmoQ> Ho$ {bE dmoQ>

dmoQ> Ho$ {bE dmoQ>a

dmoQ>a Ho$ {bE ‘moQ>a

‘moQ>a Ho$ {bE Xm¡am

Xm¡ao Ho$ {bE ^Îmm

^Îmo Ho$ {bE ^mfU&”

~) {ZåZ{b{IV ‘| go {H$Ýht EH$ AdVaU H$s gg§X ©̂ ì¶m»¶m H$s{OE& [7]
i) “¶mZr {H$ AmnHo$ H$hZo Ho$ AZwgma {nN>bo XadmOo go n¡go boZm ~oB©‘mZr H$m H$m‘ h¡? Am¡a

Omo bmoJ Bg Vah n¡gm boVo h¢ do ~oB©‘mZ h¢?”
ii) “~mha {ZH$bmo Vmo ~Vm {X¶m H$amo& ¶o bmo gm¡ H$m ZmoQ> Am¡a Pmobm& AmVo g‘¶ Amby Am¡a nmd

boVo AmZm& AmO ~ƒm| H$m nmd ^mOr ImZo H$m ‘Z h¡& Am¡a OëXr bm¡Q>Zm&”

à.à.à.à.à.4) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE& [14]

A) ¶y.nr.Eg.gr. narjm ‘| CÎmrU© lr. amO Hw$‘ma amR>moS>-Or go hþE gmjmËH$ma H$m AmH$f©H$ Z‘yZm
V¡¶ma H$s{OE&

~) ‘mo~mB©b Ho$ ‘hÎdnyU© Eßg H$s OmZH$mar Xr{OE&

H$) AmË‘{dídmg g’$bVm H$s Hw§$Or h¡, Bg {df¶ na n„dZ {b{IE&

à.à.à.à.à.5) {ZåZ{b{IV ~hþ{dH$ënr¶ Xg àíZm| Ho$ CÎma {b{IE& [10]

i) ‘VrZmo ~§Xa ~mny Ho$’ H${dVm ‘| H${d Zo {H$gna ì¶§½¶ {H$¶m h¡?

A) amOZr{Vna ~) g‘mOna

H$) Y‘©na S>) Om{Vna

ii) ~mV-~V§JS> H${dVm ‘| ~mV Ho$ {~Zm ³¶m gwZm h¡?

A) OJ ~) ‘h{’$b

H$) dmUr S>) AmZ§X

iii) {dX²dmZ bmoJ H${dVm ‘| H$m¡Z-go bmoJ H$‘ ~mobVo h¡?

A) A{dX²dmZ ~) ~oH$ma

H$) {dX²dmZ S>) hmoZhma
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iv) EH$ amoQ>r H$m gdmb H$m¡Z - gr H${dVm ‘| Am¶m h¡?

A) Xoe Ho$ {bE ZoVm ~) {H$VZr amoQ>r

H$) {dX²dmZ bmoJ S>) ~mV - ~V§JS>

v) ‘A’$ga’ H$hmZr Ho$ H$hmZr H$ma H$m¡Z h¢?

A) eaX Omoer$ ~) b{V’$ Km|Kr

H$) gw^mg H$m~am S>) h[ae§H$a nagmB©

vi) ‘gmdYmZ, h‘ B©‘mZXma’ h¡ Bg H$hmZr ‘| S>m°³Q>a go {H$VZo én¶o H$m H$‘reZ {b¶m h¡?

A) nm±M ~) Xg

H$) ~rg S>) Vrg

vii) ‘‘w»¶‘§Ìr H$m S>§S>m’ H$hmZr ‘| Jm§Yr O¶§Vr {Z{‘Îm {H$gH$m ^mfU hmoZo dmbm Wm?

A) ‘hmàgmX ~) ÁdmbmàgmX

H$) am‘àgmX S>) B©ída àgmX

viii) gmjmËH$ma eãX {H$g ^mfm H$m én h¡?

A) b¡{Q>Z ~) ’«|$M

H$) Aa~r S>) b¡{Q>Z Am¡a ’«|$M

ix) ‘mo~mB©b En ³¶m h¡?

A) hmS>©do¶a ~) gm°âQ>do¶a

H$) H$åß¶yQ>a S>) b°nQ>m°n

x) n„dZ H$s {deofVmE± H$m¡Z-gr h¡?

A) ‘ZZ ~) M¶Z

H$) ‘m¡{bH$Vm S>) gw g§¶moOZ


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[6041]-466
S.Y.B.A.

HINDI (qhXr)
CC-2D : OZg§Mma ‘mÜ¶‘ Am¡a qhXr (G-2)

(2019 Pattern) (CBCS) (Semester - IV) (24094)

g‘¶ : 2½ K§Q>o] [ nyUmªH$ : 70
gyMZmE± … 1) g^r àíZ A{Zdm¶© h¢&

2) Xm{hZr Amoa {bIo A§H$ àíZ Ho$ nyUmªH$ h¢&
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à.à.à.à.à.1) {ZåZ{b{IV ‘| go {H$Ýht VrZ àíZmo§ Ho$ CÎma {b{IE& [21]
A) OZg§Mma ‘mÜ¶‘m| Ho$ àH$mamo§ Ho$ MMm© H$s{OE&

~) lì¶ ‘mÜ¶‘m| H$s ^mfm {deofVmE± {b{IE&

H$) dV©‘mZ g‘¶ ‘| OZg§Mma ‘mÜ¶‘m| H$s Amdí¶H$VmE± ~VmB¶o&

S>) AmYw{ZH$ g§Mma ‘mÜ¶‘ H$m¡Z-H$m¡Z go h¡?

B) g‘mMma nÌm| H$s ^mfm {deofVmE± {b{IE&

à.à.à.à.à.2) {ZåZ{b{IV ‘| go {H$Ýht VrZ àíZm| Ho$ CÎma {b{IE& [21]
A) ZmQ>H$ boIZ Ho$ VËdm| H$s MMm© H$s{OE&

~) g¥OZmË‘H$ boIZ H$s g§H$ënZm H$mo ñnï> H$s{OE&

H$) AÀN>o H$hmZr boIH$ ‘| H$m¡Z-go JwU hmoVo h¡?

S>) H$hmZr boIZ Am¡a ZmQ>H$ boIZ ‘| A§Va ~VmB©¶o&

B) boIm AmboI H$s {deofVmE± {b{IE&

à.à.à.à.à.3) {ZåZ{b{IV ‘| go {H$Ýht VrZ àíZmo§ Ho$ CÎma {b{IE& [21]
A) Q>o{b{dOZ ‘| àgm[aV {dkmnZm| H$s ^mfm {deofVmE± {b{IE&

~) g‘mMma boIZ Ho$ {d{^Þ MaUm| H$s MMm© H$s{OE&

H$) S>m°³¶y S´>m‘m Am¡a S>m°³¶y ‘|Q´>r ‘| ³¶m A§Va h¡?

S>) ’$sMa boIZ H$m CX²Xoí¶ ~VmB©¶o&

B) ao{S>¶mo dmVm© Am¡a Q>o{b{dOZ g‘mMma boIZ ‘| A§Va ñnï> H$s{OE&

[Total No. of Pages : 2
SEAT No. :
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à.à.à.à.à.4) {ZåZ{b{IV ~hþ{dH$ënr¶ gmV àíZm| Ho$ CÎma {b{IE& [7]

i) g§dmX {H$g {dYm H$m àmUVËd ‘mZm OmVm h¡&

A) CnÝ¶mg ~) ZmQ>H$

H$) H${dVm S>) aoIm{MÌ

ii) ’$sMa H$mo g‘mÝVa ê$nmH§$Z H$hZo dmbo {dX²dmZ h¡ ....

A) S>m°.nwéfmoÎm‘Xmg Q>§S>Z ~) lr. {dídZmW

H$) S>m°. H${‘b ~wëHo$ S>) S>m°. S>§H$Z

iii) OZ g§Mma ‘mÜ¶‘m| H$s ^mfm à‘wIV… ................ hmoVr h¡&

A) n[a{Z{ð>V ~) gm{hË¶ H$s

H$) VH$ZrH$s S>) ~mobMmb H$s

iv) ao{S>¶mo EH$ ................... ‘mÜ¶‘ h¡&

A) lì¶ ~) Ñí¶

H$) Ñí¶-lì¶ S>) ‘w{ÐV

v) {dkmnZ H$s ^mfm ................... hmoVr h¡&

A) gm{hpË¶H$ ~) n[a{Z{ð>V

H$) AmH$f©H$ S>) d¡km{ZH$

vi) ’$sMa boIZ H$m ‘w»¶ CX²Xoí¶ h¡ .............&

A) CnXoe ~) kmZ d¥Õr

H$) ‘Zmoa§OZ S>) AW© àm{á

vii) gyMZm àm¡Úmo{JH$s Ho$ joÌ ‘| H«$m§Vr H$aZo dmbm ZdrZV‘ ‘mÜ¶‘ H$m¡Z-gm h¡?

A) B§Q>aZoQ> ~) ao{S>¶mo

H$) g‘mMma nÌ S>) ZmQ>H$





Total No. of Questions : 4]

[6041]-467
S.Y. B.A.

SANSKRIT (g§ñH¥$V) (General - II)
 SEC - 1B : GADYA VIBHAG AND PADYA VIBHAG

JÚ {d^mJ Am{U nÚ {d^mJ
Samskritarnavah

g§ñH¥$VmU©d
(2019 Pattern) (CBCS) (Semester - IV) (24113)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm :gyMZm :gyMZm :gyMZm :gyMZm : 1) All questions are compulsory.

gd© àíZ Amdí¶H$ AmhoV.
2) Figures to the right indicate full marks.

COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P106

Q1) A) Translate into English or Marathi (any one) : [5]

B§J«Or qH$dm ‘amR>rV AZwdmX H$am. (H$moUË¶mhr EH$mMm)

i) VVñVmZa“moS>H$W¶V²-H$mo Zm‘m@na… {eddramV²& g Ed amOZrVm¡ {ZîUmV…& g Ed g¡ÝYdm@S>amoh
{dÚm {gÝYw…& g Ed MÝÐhmgMmbZo MVwa…, g Ed ‘„{dÚm‘‘©km…, g Ed ~mU{dÚmdm[a{Y…,
g Ed npÊS>V‘ÊS>b‘ÊS>Z… g Ed Y¡¶©Ym[a Y¡[a¶…, g Ed drada da…, g Ed nwê$f-nm¡ê$f
narjH$,g Ed XrZXþ…IXmd XhZ… g Ed ñdY‘©ajUgj‘…& g Ed {dbjU{dMjU…&

ii) Zahao… {ed^{º$… EH$mpÝVH$m AmgrV²& {dîUw…, am‘M§Ð… lrH¥$îU…, {dÇ>b…, XÎmmÌo¶… hZw‘mZ²
BË¶mXtZm XodmZm§ Zm‘moÀ¶maU ‘{n Vñ¶ dÁ¶©‘² AmgrV²& {edoVaXodmZm§ Xodmb¶§ g H$Xm{n Z
à{de{V& Vogm§ XodmZm§ Xe©Z‘{n Vñ¶ Ë¶mÞ‘od AmgrV²&

B) Translate into English or Marathi. [5]

B§J«Or qH$dm ‘amR>rV AZwdmX H$am. (H$moUË¶mhr EH$mMm)

i) JwUdX JwUdX² dm Hw$d©Vm H$m¶©OmV§ n[aU{VñdYm¶m© MbV… npÊS>VoZ&

A{Va^gH¥$VmZm§ H$‘©Um‘m{dnÎmoa ^d{V öX¶Xmhr eë¶Vwë¶mo {dnmH$…&&

ii) Z¡dmH¥${V: ’$b{V Z¡d Hw$b§ Z erb§ {dÚm{n Z¡d Z M ¶ËZH¥$Vm{n godm&

^m½¶m{Z nyd©Vngm {H$b g{#mV{Z ’$mbo ’$bpÝV nwê$fñ¶ ¶W¡d d¥jm…&

[Total No. of Pages : 3
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C) n[aÀN>oX§ n{R>Ëdm CÎmam{U {bIV (H$mÝ¶{n n#m) [5]

i) H$íMZ J«m‘… AmgrV²& VÌ g§wdU©H$ma… {Zdg{Vñ‘& Vñ¶ Zm‘ Zah[a& Zah[a… gXmMmagånÞ…&
g AmË‘Zm ì¶dgm¶o {ZnwU… A{n AmgrV²& Zah[a… {edñ¶ na‘^º$…& à{V{XZ§ àmV: CËWm¶,
ñZmZm{XH$ g‘mß¶ {ednyOm§ nwaíMaU§ M XrK©H$mb§ ¶mdV² H$amo{Vñ‘&

1) J«m‘o H$… {Zdg{V ñ‘?

2) gwdU©H$mañ¶ Zm‘ {H$‘² AmgrV²?

3) gwdU©H$ma… H$sÑem?

4) gwdU©H$ma… ì¶dgß¶o H$W‘² AmgrV²?

5) gwdU©H$ma… H$ñ¶ na‘^º$…?

6) gwdU©H$ma… nyO¶m gh qH$ H$amo{V ñ¶?

Q2) A) Reference to context (any one) [5]

gg§X ©̂ ñnï>rH$aU H$am. (H$moUË¶mhr EH$mM)

i) VV² qH$ {ed Ed§JwUJU {d{eï>mo@pñV?

ii) AWogw Xodogw ‘‘ lÕm^md… ZmpñV&

B) Reference to context (any one) [5]

gg§X ©̂ ñnï>rH$aU H$am. (H$moUË¶mhr EH$mM)

i) Vñ‘¡ ‘‘: H$‘©Uo&

ii) hV{d{Yn[anmH$: Ho$Z dm b”Zr¶…&

C) C{MV§ ¶w‘§ {d{MZwV EHo$fm‘{n n#mmZm‘²& [5]

i) ^JdX²JrVm a) AdVmam…

ii) Xem b) Zr{Vgå~pÝY

iii) V¥Vr¶ c) EH$…

iv) eVH$‘² d) lÕmÌ¶{d^mJ…

v) {d{dY¡… ê$n¡… Ñí¶o@h§ e) ZoÌ‘²
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Q3) A) Write the summary of the lesson "aËZnarjm'. [12]

"aËZnarjm' nmR>mMm gmam§e {bhm.

OR/qH$dm

Write the discription of {ed in the lesson {edamO JwUdU©Z‘²&

"{edamO JwUdU©Z‘²' nmR>mVrb {edmMo dU©Z {bhm.

B) Write short notes (any one) [8]

Q>rnm {bhm. (H$moUË¶mhr EH$mda)

i) N>mÝXmoÝ¶mon{ZfX²

ii) V¥Vr¶§ ZoÌ‘²

Q4) A) Write the information about ñVmoÌdm¶§¶ with example. [12]

ñVmoÌdm¶¶mMr ‘m{hVr gmoXmhaU {bhm.

OR/qH$dm

Write the summary of lÕmÌ¶{d^mJ¶moJ

lÕmÌ¶{d^mJ¶moJmMm gmam§e {bhm.

B) Write short notes (any one) [8]

{Q>nm {bhm. (H$moUË¶mhr EH$mda)

i) ^JdX²JrVm

ii) gŵ m{fV‘²


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S.Y.B.A.
ARABIC

CC-1D : Grammar and Translation
 (2019 Pattern) (CBCS) (Semester - IV)  (24141)

Time : 2½ Hours] [Max. Marks : 70

Instructions to the candidates:
 1) Attempt all questions.

2) Figures to the right side indicate full marks.

Q1) Define and illustrate any three of the following. [30]

  
 
 

-  

Q2) Translate the following Passage into English Only: [20]





 





P.T.O.
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Q3) Translate the following passage Only in Arabic : [20]

The students go to different Libraries in the evening. I read many

English magazines last month. These Nurses are working in those

hospitals. The schools and colleges are closed during holidays. These

American engineers are very hardworking. The President called the

Iranian diplomats for an important meeting.
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Instructions to the candidates:
 1) Attempt all questions.

2) Figures to the right side indicate full marks.

Q1) Write the salient features of any one of the following books. [14]

  
 
 

Q2) Write the definition of any three of the following terms. [12]

 
 
 
 
 

Q3) Write the summery of any one of the following stories. [10]

  
 
 
 

Q4) Write a detailed note on life and literary contribution of any one of the 
following writers. [14]

 
 
 

P.T.O.
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Q5) a) Translate or explain any two of the following passages. [14]

      

   

    

     

    

     



  

       

 

  
b) Translate the following unseen passage in to your own language. [6]

Education has numerous benefits and governments all around the globe

are making sure that everyone can get an education. A lot of literature is

printed each year globally which updates people about the statistics of 

education. There are research articles, reports, magazines and newspaper

articles. One can find all sorts of data related to education through these

articles. This  has made research and policy making very easy- Articles 

are also published by NGOs which are working in the field of 

education to make their work more transparent and known to others.
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Q1) Write the answers of the following questions in 20 words each. (Any 8) [16]

a) What is the monetary policy?

b) What is the Bank Rate?

c) Where is the head of RBI located?

d) IRDA when was it approved?

e) When did SEBI get statutory status?

f) State two objectives of the International Monetary Fund.

g) When was the Asian Development Bank established?

h) What are the two objectives of BRICS?

i) What is the World Bank headquartered?

j) When did the Government of India enact the Bankruptcy Act?

P.T.O.
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Q2) Write the answers of the following questions in 50 words each. (Any Four)
[16]

a) Explain the management of Reserve Bank of India?

b) Explain the concept of ‘Cash Reserve Fund’?

c) Explain the type of loans provided by the International Monatary Fund?

d) Explain the role of World Bank.

e) Explain the importance of Bankuptcy regulator.

f) Explain the recent reforms in the financial sector?

Q3) Write the answers to the following questions in 100 words each. (Any Three)[18]

a) Explain the limitations on monetary policy instruments.

b) Explain the numerical tools of monetary policy.

c) Explain the recent reforms in the financial sector.

d) Explain the structure of ASEAN Development Bank.

e) Explain the role of IRDA.

Q4) Write the answers to the following questions in 300 words each. (Any Two)[20]

a) Explain the traditional functions of the RBI.

b) Explain the role of security Exchange Board of India.

c) Explain the various risk Factors in  banking business.


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[6041]-470
S.Y.B.A.

ECONOMICS - G2
CC-1D : Financial System- II

(2019 Pattern) (CBCS) (Semester - IV) (24153)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

P109

à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao àË¶oH$s 20 eãXmV {bhm. (H$moUVohr AmR>) [16]

A) MbZ{df¶H$ YmoaU åhUOo H$m¶?

~) ~±H$Xa åhUOo H$m¶?

H$) ^maVr¶ [aPìh© ~±Ho$Mo ‘w»¶ H$m¶m©b¶ H$moR>o Amho?

S>) Am¶. Ama. S>r. E. bm Ho$ìhm ‘mÝ¶Vm {‘imbr?

B) go~rbm d¡Ym{ZH$ XOm© Ho$ìhm {‘imbm?

’$) Am§Vaamï´>r¶ ZmUo{ZYrMr XmoZ C{Ôï>o gm§Jm.

¶) Am{e¶Z {dH$mg ~±Ho$Mr ñWmnZm Ho$ìhm Pmbr?

a) {~«³g ¶m g§KQ>ZoMr XmoZ C{Ôï>o gm§Jm?

b) OmJ{VH$ ~±Ho$Mo ‘w»¶ H$m¶m©b¶ H$moR>o Amho?

d) ^maV gaH$maZo {XdmiImoar H$m¶Xm Ho$ìhm bmJy Ho$bm?
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à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao àË¶oH$s 50 eãXm§V {bhm. (H$moUVohr Mma) [16]

A) ^maVr¶ [aPìh© ~±H$ Am°’$ B§{S>¶mMo ì¶dñWmnZ ñnï> H$am?

~) "amoI amIrd {ZYr' hr g§H$ënZm ñnï> H$am?

H$) Am§Vaamï´>r¶ ZmUo{ZYrÛmao XoÊ¶mV ¶oUmè¶m H$Om©Mo àH$ma ñnï> H$am?

S>) OmJ{VH$ ~±Ho$Mr ŷ{‘H$m ñnï> H$am?

B) {XdmiImoar {Z¶m‘H$mMo ‘hÎd$ ñnï> H$am.

’$) {dÎmr¶ joÌmVrb AbrH$S>rb gwYmaUm ñnîQ> H$am?

à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao àË¶oH$s 100 eãXm§V {bhm (H$moUVohr VrZ) [18]

A) MbZ{df¶H$ YmoaUmÀ¶m gmYZm§darb ‘¶m©Xm ñnï> H$am?

~) MbZ{df¶H$ YmoaUmMr g§»¶mË‘H$ gmYZo ñnï> H$am?

H$) {dÎmr¶ joÌmVrb AbrH$S>rb gwYmaUm ñnï> H$am?

S>) Am{e¶Z {dH$mg ~±Ho$Mr aMZm ñnï> H$am.

B) {d‘m {Z¶‘Z Am{U {dH$mg àm{YH$aUmMr ŷ{‘H$m ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr CÎmao àË¶oH$s 300 eãXm§V {bhm (H$moUVohr XmoZ) [20]

A) ^maVr¶ [aPìh© ~±Ho$Mr na§namJV H$m¶© ñnï> H$am.

~) ^maVr¶ à{V ŵVr d {d{Z‘¶ ‘§S>imMr ŷ{‘H$m ñnï> H$am?

H$) ~±qH$J ì¶dgm¶mVrb OmoIr‘ {ZpíMV Ho$bo OmUmao {d{dY KQ>H$ ñnï> H$am?





Q1) Attempt any eight questions (in 20 words) : [16]

a) Meaning of Liberty.

b) Definition of Justice.

c) Meaning of Right.

d) Meaning of Ideology.

e) Definition of Nationalism.

f) Meaning of socialism.

g) Definition of fascism.

h) When was united Nations established?

i) When was European union established?

j) When SAARC organization was established?

Q2) Attempt any four short Notes (in 50 words) : [16]

a) Social Liberty

b) Positive Liberty

c) Rule of Law

d) Concept of socialism

e) European union

f) Objectives of SAARC

Total No. of Questions : 4]
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Q3) Attempt any three questions (in 100 words) : [18]

a) Write the nature of Liberty.

b) Write the nature of Right.

c) Write the types of Nationalism.

d) Write the types of multinational companies.

Q4) Attempt any two questions (in 200 words) : [20]

a) Write the features of Equality.

b) Write the features of fascism.

c) Write the features of multinational companies.


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1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P-110

àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s H$moUË`mhr AmR> àíZm§Mr CÎmao {bhm (20 eãXm§V) … [16]

A) ñdmV§Í`mMm AW©

~) Ý`m`mMr ì`m»`m

H$) h¸$m§Mm AW©

S>) {dMma àUmbrMm AW©

B) amï´>dmXmMr ì`m»`m

\$) g_mOdmXmMm AW©

`) \¡${gP_Mr ì`m»`m

a) g§̀ wº$ amï´> g§KQ>ZoMr ñWmnZm H|$ìhm Pmbr?

b) ẁamonr`Z ẁ{Z`ZMr ñWmnZm H|$ìhm Pmbr?

d) gmH©$ g§KQ>ZoMr ñWmnUm H|$ìhm Pmbr?

àíZ àíZ àíZ àíZ àíZ 2) Imbrbn¡H$s H$moUË`mhr Mma Q>rnm {bhm (50 eãXm§V) [16]

A) gm_m{OH$ ñdmV§Í`

~) gH$mamË_H$ ñdmV§Í`

H$) H$m`ÚmMo amÁ`

3 P.T.O.
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S>) g_mOdmXmMr g§H$ënZm

B) ẁamonr`Z ẁ{Z`Z

\$) gmH©$Mr C{Ôï>o

àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s H$moUË`mhr VrZ àíZm§Mr CÎmao {bhm (100 eãXm§V) … [18]

A) ñdmV§Í`mMo ñdê$n {bhm.

~) h¸$m§Mo ñdê$n {bhm.

H$) amï´>dmXmMo àH$ma {bhm.

S>) ~hÿamï´>r` H§$nÝ`m§Mo àH$ma {bhm.

àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao {bhm (200 eãXm§V) … [20]

A) g_VoMr d¡{eï>ço {bhm.

~) \¡${gP_Mr d¡{eï>ço {bhm.

H$) ~hÿamï´>r` H§$nÝ`m§Mr d¡{eï>ço {bhm.


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Q1) Attempt any Eight questions (20 words) : [16]
a) What is meant by Marxism?
b) Name two books of Karl Marx.
c) What is meant by Equality, according Dr. Ambedkar?
d) Name the well-known book of Phule.
e) Who started the news paper Mook Nayak?
f) What was the Ideology of Ambedkar?
g) What are the principles of Gandhism?
h) What is meant by Satyagrah?
i) What are the techniques of Satyagrah?
j) What is meant by Feminism?

Q2) Attempt any Four questions (50 words) : [16]
a) Explain the concept of Marxian State.
b) Explain Dr. Ambedkar views on Equality.
c) What is meant by Non-violence?
d) Gram Swaraj.
e) What is meant by patriarchy?
f) Explain the relationship between caste and patriarchy.

SEAT No. :
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Q3) Attempt any three questions (100 words) :  [18]
a) Explain the concept of Historical Materialism.
b) State Mahatma Phule's views on caste.
c) Explain Dr. Ambedkar views on Religion.
d) Explain the types of Non-violence.

Q4) Attempt any two questions (200 words) : [20]
a) Explain Dr. Ambedkar views on Social Democracy.
b) What is meant by Satyagrah? Explain its techniques according to Mahatma

Gandhi.
c) Explain the meaning and nature of Feminism.


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(_amR>r ê$nm§Va)
doi : 2½ Vmg]                      [EHy$U JwU : 70

gyMZm : 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P-111

àíZ 1) H$moUVohr AmR> àíZm§Mr CÎmao {bhm. (20 eãXmV>) [16]
A) _mŠg©dmX åhUOo H$m`?
~) H$mb© _mŠg©À`m H$moUË`mhr XmoZ nwñVH$m§Mr Zmdo {bhm.
H$) S>m°. Am§~oS>H$am§À`m _Vo g_Vm åhUOo H$m`?
S>) _hmË_m \w$b|À`m à{gÕ Aem H$moUË`mhr XmoZ nwñVH$m§Mr Zmdo {bhm.
B) "_wH$Zm`H$' `m d¥ÎmnÌmMr gwadmV H$moUr Ho$br?
\$) S>m°. Am§~oS>H$am§Mr {dMmaàUmbr H$m` hmoVr?
`) Jm§YrdmXmMr VËdo H$m` hmoVr?
a) gË`mJ«h åhUOo H$m`?
b) gË`mJ«hmMo _mJ© H$moUVo?
d) ñÌrdmX åhUOo H$m`?

àíZ 2) H$moUË`mhr Mma àíZm§Mr CÎmao {bhm. (50 eãXmV>) [16]
A) _mŠg©dmXmMr g§H$ënZm ñnï> H$am.
~) g_Vo {df`r S>m°. Am§~oS>H$am§Mm Ñï>rH$moZ {bhm.
H$) Aqhgm åhUOo H$m`?
S>) J«m_ñdamÁ` åhUOo H$m` Vo ñnï> H$am.
B) {nV¥gÎmmH$ åhUOo H$m`?
\$) OmV d {nV¥gÎmmH$ `mVrb g§~Y ñnï> H$am.

P.T.O.
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àíZ 3) H$moUVohr VrZ àíZm§Mr CÎmao {bhm. (100 eãXmV>) [18]
A) Eo{Vhm{gH$ ^m¡{VH$dmX åhUOo H$m`?

~) OmVr {df`r _hmË_m \w$b|Mo {dMma ñnï> H$am.

H$) Y_m©{df`r S>m°. Am§~oS>H$am§Mo {dMma ñnï> H$am.

S>) AqhgoMo àH$ma ñnï> H$am.

àíZ 4) H$moUVohr XmoZ àíZm§Mr CÎmao {bhm. (200 eãXmV>) [20]
A) gm_m{OH$ bmoH$emhr{df`r S>m°. Am§~oS>H$am§Mo {dMma ñnï> H$am.

~) gË`mJ«h åhUOo H$m`? _hmË_m Jm§YrÀ`m _Vo gË`mJ«hmMr {d{dY V§Ìo ñnï> H$am?

H$) ñÌrdmXmMm AW© d ñdê$n ñnï> H$am.





Q1) Answer the following question  in 300 words : (Any one) [15]
a) Review the Achievement of the Peshwa Bajirao first.

OR
b) Critically examine Peshwa and Rajput relations.

Q2) Answer the following question  in 300 words : (Any one) [15]
a) Review the achievement of the Madhavrao Peshwa I.

OR
b) Describe in detail the life of women during the Peshwa period.

Q3) Answer the following question in  200 words (any two) [20]
a) Explain the improtance of Balaji Vishwanath's invasion of Delhi.
b) Explain the competence of Peshwa Nanasaheb.
c) Briefly explain the background of the making of 'Barbhai'.
d) Explain the revenue system of Peshwa period.

Q4) Short notes (any four) : [20]
a) Sardeshmukhi
b) Raghunathrao Peshwa
c) Sawai Madhavrao
d) Battle of Udgir
e) Treaty of sergaon
f) Maritime trade during the Peshwa period.



Total No. of Questions : 4]

[Total No. of Pages : 2
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Total No. of Questions : 3]

[6041]-473
S.Y.B.A (History)

CC - 2D - G 2 : ‘amR>¶m§Mm B{Vhmg (1707 - 1818)
(2019 Pattern) (Semester - IV) (24174)

(_amR>r ê$nm§Va)
doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm : 1) gd© àíZ gmoS>{dUo Amdí`H$ AmhoV.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P-112

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mo 300 eãXmV CÎma X¶m. (H$moUVmhr EH$) [15]
A) noedm n{hë¶m ~mOramdm§À¶m H$m‘{JarMm AmT>mdm X¶m.

qH$dm
~) noedo d amOnyV g§~YmMo Q>rH$mË‘H$ narjU H$am.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mo 300 eãXmV CÎma X¶m. (H$moUVmhr EH$) [15]
A) n{hë¶m ‘mYdamd noeì¶m§À¶m H$m‘{JarMm AmT>mdm ¿¶m.

qH$dm
~) noedoH$mbrZ ór OrdZmMo g{dñVa dU©Z H$am.

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZmMo 200 eãXmV CÎma X¶m. (H$moUVohr XmoZ) [20]
A) ~mbmOr {dídZmWm§Mo {Xëbr ñdmarMo ‘hÎd WmoS>³¶mV ñnï> H$am.
~) noedm ZmZmgmho~ ¶m§Mr ¶mo½¶Vm ñnï> H$am.
H$) "~ma^mB©' {Z{‘©VrMr nmíd©̂ y‘r WmoS>³¶mV ñnï> H$am.
S>) noedoH$mbrZ ‘hgyb ì¶dñWm ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) {Q>nm {bhm (H$moUË`mhr Mma) [20]
A) gaXoe‘wIr
~) noedm aKwZmWamd
H$) gdmB© ‘mYdamd
S>) CX{JaMr bT>mB©
B>) godJmdMm Vh
’$>) noedoH$mbrZ gmJar ì¶mnma


2



Q1) Write short notes on any three of the following : [15]
a) Contribution of co-operative societies in tribal development.
b) Isolation
c) Assimilation
d) Integrated tribal development
e) Programmes for particularly tribal group (PVTG'S)

Q2) Answer any three of the following questions in 50 words each. [15]
a) Explain the concept of Assimilation.
b) Write about the tribal sheduled area in brief.
c) Elaborate the concept of tribal development.
d) Write the contribution of tribals in freedom movement.
e) Explain the integration approach.

Q3) Answer any two of the following questions in 200 words each : [20]
a) Elaborate teh causes of tribal movement.
b) Describe the constitutional provisions for tribal communities.
c) Discuss about nomadic tribes.
d) Explain the contribution of tribal development association in tribal

development.

Q4) Answer any one of the following questions in 300 words each : [20]
a) Write the tribal development programme indetails.
b) Discuss on pre-Independence period tribal movement in details.



Total No. of Questions : 4]

[Total No. of Pages : 2
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Total No. of Questions : 4]

[6041]-474
S.Y.B.A (Anthropology)

CC - 1D G-2 : TRIBAL DEVELOPMENT
(2019 Pattern) (Semester - IV) (CBCS) (24193)

(_amR>r ê$nm§Va)
doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm : 1) gd© àíZ gmoS>{dUo Amdí`H$ AmhoV.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P-113

àíZ àíZ àíZ àíZ àíZ 1) WmoS>³¶mV {Q>nm {bhm. (H$moUË¶mhr VrZ) [15]
A) Am{Xdmgr {dH$mgmV ghH$mar nVg§ñWm§Mo ¶moJXmZ
~) AbJVm
H$) gm{‘{bH$aU
S>) EH$mË‘rH$ Am{Xdmgr {dH$mg
B) {deofV: d§{MV Am{Xdmgr g‘yhmgmR>r Agboë¶m ¶moOZm

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr 50 eãXmV CÎmao {bhm. (H$moUVohr VrZ) [15]
A) g‘ g§ñH¥$VrH$aU g§H$ënZm ñnï> H$am.
~) Am{XdmgrMo AZwgy{MV joÌ ¶m {df¶r WmoS>³¶mV {bhm.
H$) Am{Xdmgr {dH$mg g§H$ënZm {deX H$am.
S>) ñdmV§Í¶ MidirVrb Am{XdmgtMo ¶moJXmZ {bhm.
B>) EH$mË‘rH$aU Ñ{ï>H$moZ ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZmMr CÎmao 200 eãXmV CÎmao {bhm. (H$moUVohr XmoZ) [20]
A) Am{Xdmgr MidirMr H$maUo {deX H$am.
~) Am{Xdmgr g‘wXm¶mgmR>r AgUmè¶m KQ>ZmË‘H$ VaVwXrMo dU©Z H$am.
H$) ^Q>³¶m {d‘w³V O‘mVr {df¶r g{dñVa MMm© H$am.
S>) Am{Xdmgr {dH$mgmV Am{Xdmgr {dH$mg ‘§S>imMo ¶moJXmZ ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrb àíZmMr CÎmao 300 eãXmV  {bhm. (H$moUVohr EH$) [20]
A) Am{Xdmgr {dH$mg H$m¶©H«$‘ g{dñVa {bhm.
~) ñdmV§Í¶ nyd© H$mimVrb Am{XdmgtÀ¶m Midirda g{dñVa MMm© H$am.


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Q1) Write the answers of the following questions about 20 words each (anyeight)
[16]

a) write any two effects of ozone depletion.

b) State any two objectives of water prevention and control of pollution
act.

c) State any two constructive effects of flood.

d)  What is decentralized planning process ?

e) State any four symptoms of swine flu.

f) Write the definition of earthquake.

g) What is formal education ?

h) Write the definition of acid rain.

i) Write disadvantages of chemical fertilizers.

 j) When the environment protection act fomed.

P.T.O.
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Q2) Write a short notes in about 50 words each. (any three) [18]

a) Importance of ozone layer.

b) causes of acid rain.

c) Desaster management of flood.

d) Obectives of environmental management.

Q3) Write the answers to the following questions in 100 words. (any two) [16]

a) Explain the importance of kyoto protocal.

b) Definition of earthquake and explain the world distribution of earthquake.

c) Write the obective of environmental policy.

Q4) Write the answers to the following questions in 300 words. (any one) [20]

a) Definition of earthquake and explain its causes and consequences.

b) Explain the causes and effects of global warming.


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Total No. of Questions : 4]

[6041]-475
S.Y.B.A.

GEOGRAPHY
CC-1D - Gg - 201 (B) : Environmental Geography -II

(2019 Pattern) (CBCS) (Semester - IV) (24204)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>dUo Amdí¶H$ AmhoV.

2) Amdí¶H$ VoWo AmH¥$Vr H$mT>m.
3) COdrH$S>rb A§H$ àíZmMo JwU AmhoV.
4) ZH$mem ñQ>oÝgrb dmnaÊ¶g nadmZJr Amho.

P114

à.à.à.à.à.1) Imbrb àíZm§Mr àË¶oH$s 20 eãXm§V CÎmao {bhm. (H$moUVohr AmR>) [16]

A) AmoPmoZ j¶mMo XmoZ n[aUm‘ gm§Jm.

~) ObàXfU à{V~§Y Am{U {Z¶§ÌU H$m¶X¶mMo H$moUVohr XmoZ CX²Xoe {bhm.

H$) nwamMo H$moUVohr XmoZ {dYm¶H$ n[aUm‘ gm§Jm.

S>) {dH|$ÐrV {Z¶moOZ à{H«$¶m åhUOo H$m¶?

B) ñdmB©Z âbyMr H$moUVohr Mma bjUo gm§Jm.

’$) ŷH§$nmMr ì¶m»¶m {bhm.

¶) Am¡nMm[aH$ {ejU åhUOo H$m¶?

a) Amåb nO©Ý¶mMr ì¶m»¶m {bhm.

b) amgm¶{ZH$ IVmMo VmoQ>o/ Xmof gm§Jm.

d) n¶m©daU g§ajU H$m¶Xm H$Yr H$aÊ¶mV Ambm.
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à.à.à.à.à.2) Imbrb àíZm§Mr àË¶oH$s 50 eãXm§V {Q>nm {bhm. (H$moUVohr VrZ) [18]

A) AmoPmoZ WamMo ‘hËd.

~) Amåb nO©ì¶mMr H$maUo.

H$) nya AmnÎmr ì¶mdñWmnZ.

S>) n¶m©daU ì¶mdñWmnZ C{Ôï>o.

à.à.à.à.à.3) Imbrb àíZm§Mr àË¶oH$s 100 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [16]

A) ³¶moQ>mo H$amamMo ‘hËd {deX H$am.

~) ŷH§$nmMr ì¶m»¶m d OmJ{VH$ {dVaU gm§Jm.

H$) n¶m©daUr¶ YmoaUmMo CÔoe {bhm.

à.à.à.à.à.4) Imbrb àíZm§Mr àË¶oH$s 300 eãXm§V CÎmao {bhm. (H$moUVohr EH$) [20]

A) ŷH§$nmMr ì¶m»¶m gm§JyU H$maUo d n[aUm‘ ñnï> H$am.

~) OmJ{VH$ Vmn‘mZ dmT>rMr H$maUo Am{U n[aUm‘ g{dñVa {bhm.





Q1) Write answers of the following questions in about 20 words each.(any eight)
[16]

a) write any two advantages of Air transport.

b) State any two advantages of International trade.

c) Write any two Factors of alfred webers theory.

d)  Write any two economic factors affectiny on Industry.

e) Write any two names of economically developed states in India.

f) Define a ‘Regian’.

g) State any two objectves of regional development.

h) Write full from of ‘RKVY’.

i) When was Mahatma Gandhi National Rural Employment Guarantee Act
started.

j)  Who is the father of Indian Green Revolution?

P.T.O.

Total No. of Questions : 4]
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Q2) Write a short notes in about 50 words each. (any three) [18]

a) Retail Trade.

b) Mumbai- Pune industrial region.

c) Regional Imbalance.

d) Objectives of regional planning in India.

Q3) Write the answers of questions in 100 words each (any two) [16]

a) Explain an Integrated Rural Development programme.

b) Briefly explain the Pradhan Mantri Gram Sudak yogana.

c) What is regional development? Explain the imbalances of regional
development

Q4) Write the answers of questions in 300 words each. (any one) [20]

a) What is transport? Give a detaited account on Road transportation in
India.

b) Explain in detail the physical and economic factors affectiry on localization
of Industries.


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Total No. of Questions : 4]

[6041]-476
S.Y.B.A.

GEOGRAPHY
CC-2D-Gg - 201 (B) : Economic Geography -II
(2019 Pattern) (CBCS) (Semester - IV) (24205)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m.
4) ZH$mem ñQ>opÝgb dmnaÊ¶mg nadmZJr Amho.
5) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

P115

à.à.à.à.à.1) Imbrb àíZm§Mr àË¶oH$s 20 eãXm§V CÎmao {bhm. (H$moUVohr AmR>) [16]

A) hdmB© dmhVwH$sMo H$moUVohr XmoZ ’$m¶Xo {bhm.

~) Am§Vaamï´>r¶ ì¶mnmamMo H$moUVohr XmoZ ’$m¶Xo gm§Jm.

H$) Amë’o$S> do~a ¶m§À¶m {gÕm§VmMo H$moUVohr XmoZ KQ>H$ {bhm.

S>) CX¶moJ Y§X¶mda n[aUm‘ H$aUmao H$moUVohr XmoZ Am{W©H$ KQ>H$ {bhm.

B) ^maVmVrb H$moUË¶mhr XmoZ Am{W©H$Ñï>¶m {dH${gV amÁ¶m§Mr Zmdo {bhm.

’$) "àXoe' ì¶m»¶m {bhm.

¶) àmXo{eH$ {dH$mgmMr H$moUVrhr XmoZ C{Ôï>o gm§Jm.

a) "RKVY' Mo nyU© én {bhm.

b) ‘hmË‘m Jm§Yr amï´>r¶ J«m‘rU amoOJma h‘r H$m¶Xm H$Yr gwé Pmbm.

d) ^maVr¶ harVH$m§VrMo OZH$ H$moU?
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à.à.à.à.à.2) àË¶oH$s 50 eãXm§V Q>rnm {bhm. (H$moUVohr VrZ) [18]

A) {H$aH$moi ì¶mnma

~) ‘w§~B© - nyUo Am¡X²¶mo{JH$ àXoe

H$) àmXo{eH$ Ag‘Vmob

S>) ^maVmVrb àmXo{eH$ {Z¶moOZmMr C{Ôï>o.

à.à.à.à.à.3) Imbrb àíZm§Mr àË¶oH$s100 eãXm§V CÎmao {bhm. (H$moUVohr VrZ) [16]

A) EH$mpË‘H$ J«m‘rU {dH$mg H$m¶©H«$‘ ñnï> H$am.

~) àYmZ‘§Ìr J«m‘gS>H$ ¶moOZm WmoS>³¶mV ñnï> H$am.

H$) àmXo{eH$ {dH$mg åhUOo H$m¶? àmXo{eH$ {dH$mgmMo ‘hËd ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr àË¶oH$s 300 eãXm§V CÎmao {bhm. (H$moUVohr EH$) [20]

A) dmhVwH$ åhUOo H$m¶? ^maVmVrb añVodmhVwH$sda g{dñVa d¥Îmm§V Úm.

~) CX¶moJ Y§X¶m§À¶m ñWm{ZH$sH$aUmda n[aUm‘ H$aUmao àmH¥${VH$ d Am{W©H$ KQ>H$ g{dñVa ñnï>
H$am.


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Q1) Write any Eight of the following Questions (20 words) [16]

a) Explain the meaning of District Police Administration.

b) What is the head of the district police administration called ?

c) L.C.B. explain the meaning of.

d) State two functions of District Superintendent.

e) What is District Court ?

f) What is District Consumer Court ?

g) State two problems of district Jail.

h) What is district disaster management Authority ?

i) State two functions of district planning committee.

j) State any two features of district consumer court.

P.T.O.
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Q2) Write any four of the following Questions (50 words). [16]

a) Police patil

b) Structure of Taluka Court.

c) Consumer grivance redressal centre.

d) District planning committee.

e) Rural Development scheme.

f) Objectives of disaster management.

Q3) Write any three of the following Questions.(100 words) [18]

a) Sate the function and role of District Superintendent.

b) Explain the role of District Court.

c) Inform about the local crime investigation department.

d) Sate the structure of District Jail.

Q4) Write any two of the following Questions (200 words) [20]

a) State the problems and reforms of secondary judiciary in India.

b) State police administration and general citizen relations.

c) State the problems of District jail administration and suggest there
improvements.


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Total No. of Questions : 4]

[6041]-477
S.Y.B.A.

PUBLIC  ADMINISTRATION
CC-1D: District   Administration

(2019 Pattern) (Credit) (Semester -IV) (24443)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo A{Zdm¶© Amho.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P116

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr AmR> àíZm§Mr CÎmao {bhm. (20 eãXm§V) [16]

A) {Oëhm nmo{bg àemgZmMm AW© gm§Jm.

~) {Oëhm nmo{bg àemgZmÀ¶m à‘w»mmg H$m¶ åhUVmV.

H$) L.C.B. Mm AW© gm§Jm.

S>) {Oëhm A{YjH$mMr XmoZ H$m¶© gm§Jm.

B) {Oëhm Ý¶m¶mb¶ åhUOo H$m¶?

’$) {Oëhm J«mhH$ Ý¶m¶mb¶ åhUOo H$m¶?

¶) {Oëhm H$mamJ¥hmMr XmoZ g‘ñ¶m gm§Jm.

a) {Oëhm AmnÎmr ì¶dñWmnZ àm{YH$aU åhUOo H$m¶?

b) {Oëhm {Z¶moOZ g{‘VrMo XmoZ H$m¶© gm§Jm.

d) {Oëhm J«mhH$ Ý¶m¶mb¶mMr XmoZ d¡{eï>¶o gm§Jm.
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à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr Mma Q>rnm {bhm. (50 eãXm§V) [16]

A) nmo{bg nmQ>rb.

~) VmbwH$m Ý¶m¶mb¶mMr aMZm.

H$) J«mhH$ VH«$ma {ZdmaU H|$Ð.

S>) {Oëhm {Z¶moOZ g{‘Vr.

B) J«m‘rU {dH$mg ¶moOZm.

’$) AmnÎmr ì¶dñWmnZ CX²Xrï>¶o.

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao {bhm. (100 eãXm§V) [18]

A) {Oëhm A{YjH$mMr H$m¶© Am{U ŷ{‘H$m gm§Jm.

~) {Oëhm Ý¶m¶mb¶mMr ŷ{‘H$m g§mJm.

H$) ñWm{ZH$ JwÝhm AÝdofU {d^mJmMr ‘mhrVr gm§Jm.

S>) {Oëhm H$mamJ¥hmMr aMZm gm§Jm.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao {bhm. (200 eãXm§V) [20]

A) ^maVmVrb Xþæ¶‘ Ý¶m¶ì¶dñWoÀ¶m g‘ñ¶m gm§JyZ gwYmaUm gm§Jm.

~) nmo{bg àemgZ Am{U gm‘mÝ¶ ZmJ[aH$ g§~§Y gm§Jm.

H$) {Oëhm H$mamJ¥h àemgZmÀ¶m g‘ñ¶m gm§JyZ gwYmaUm gm§Jm.





Total No. of Questions : 4]

[6041]-478
S.Y.B.A.

PSYCHOLOGY
SEC - 1B : Positive  Psychology

 (2019 Credit Pattern) (Semester -IV) (24223)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P117 [Total No. of Pages : 4
SEAT No. :

Q1) Answere the following question in 100 words each.(any four) [20]

        a) Explain the relation between positive psychology and Health.

b) Write a meaning of subjective well-being.

c) Explain seligman’s PERMA model.

d) What are positive Emotions ?

e) What is Resilience?

f) What is ‘Life Above Zero’?

Q2)  Answer the following questions in 200 words each (any two) [20]

a) Explain in detail about Nunstudy.

b) Explain Gender and Happiness.

c) Explain positive emotions and well-being,and its flow experiences.

d) How does Positive Traits affect on personality.

P.T.O.
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Q3) Answer the following questions in 400 words each (any one) [20]

a) Explain the definition and nature of positive psychology and assumptions
and goals of positive psychology.

b) Explain the verious virtue. Explain the relation between strengths of
character and positive beliefs.

Q4)  Write short notes.(any two) [10]

a) Education field and positive psychology.

b) Money and Happiness.

c) Growth through Trauma (PTG).

d) Mindfulness and well-being.


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Total No. of Questions : 4]

[6041]-478
S.Y.B.A.

PSYCHOLOGY
SEC - 1B : Positive  Psychology

 (2019 Credit Pattern) (Semester -IV) (24223)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nwU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

P117

à.à.à.à.à.1) Imbrb àíZm§Mr 100 eãXm§V CÎmao {bhm. (H$moUVohr Mma) [20]

A) gH$mamË‘H$ ‘mZgemó Am{U Amamo½¶ ¶m§Mm g§~§Y ñnï> H$am.

~) ì¶{º${Zð> IwembrMm AW© {bhm.

H$) go{bJ‘Z ¶m§Mo PERMA àmén ñnï> H$am.

S>) gH$mamË‘H$ ^mdZm åhUOo H$m¶?

B) pñWVr ñWmnH$Ëd åhUOo H$m¶?

’$) ewÝ¶mdaMo OrdZ åhUOo H$m¶?

à.à.à.à.à.2) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [20]

A) H°$W{bH$ ZÝgMm Aä¶mg ñnï> H$am.

~) "qbJ ôX Am{U AmZ§X' g{dñVa {bhm.

H$) gH$mamË‘H$ ^mdZm Am{U Iwembr d àdmhr pñWVr AZŵ d ñnï> H$am.

S>) gH$mamË‘H$ JwUm§Mm ì¶{º$‘Ëdmda H$gm n[aUm‘ hmoVmo.
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à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎmam 400 eãXm§V {bhm. [20]

A) gH$mamË‘H$ ‘mZgemómMr ì¶m»¶m d ñdén ñnï> H$am Am{U gH$mamË‘H$ ‘mZgemómMr J¥hrVHo$
d C{Ôï>¶o g{dñVa gm§Jm.

~) {d{dY gXJwUm§Mo dU©Z H$am Am{U à~b JwU d gH$mamË‘H$ g‘OwVr ¶m§Mm nañna g§~§Y g{dñVa
{bhm.

à.à.à.à.à.4) Q>rnm {bhm. (H$moUVohr XmoZ) [10]

A) e¡j{UH$ joÌ Am{U gH$mamË‘H$ ‘mZgemó.

~) n¡gm Am{U AmZ§X

H$) AmKmVmZ§VaMm {dH$mg (PTG)

S>) ‘ZgOJVm Am{U Iwembr.





Total No. of Questions : 4]

[6041]-479

 S.Y.B.A.
GANDHIAN THOUGHT (Philosophy)

CC - 2D : Gandhian Thought and Contemporary Problems
(2019 Pattern) (CBCS) (Semester - IV) (24233)

Time : 2½ Hours] [Max. Marks : 70

Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

P118 [Total No. of Pages : 2

SEAT No. :

Q1) Answer any Three of the following questions in 100 words. [15]
a) Explain Gandhian views on unemployment.
b) Explain any two varnasharamdharma.
c) What are the views of Gandhiji on technology?
d) Explain briefly Ekadash vrat (VOWS) of Gandhiji.
e) What are the views of Gandhiji on discrimination in modern life?

Q2) Answer any Two of the following questions in 100 words. [20]
a) What are the structure of human values that explicit in Gandhain thought?

Explain.
b) Explain briefly Gandhiji’s views on untouchability.
c) What are the views of Gandhiji on overpopulation in modern life?
d) According to Gandhiji, what are the problems of industrialization?

Q3) Write a short note (any Three) [15]
a) Gandhian concept of Social reconstruction.
b) Gandhian views on adult education.
c) Gandhian views on Alienation.
d) Gandhiji views on science.
e) Briefly explain Gandhiji;s views on status of women.

Q4) Answer any one of the following questions in 400 words: [20]
a) Write an essay on ‘Gandhian standpoint of religion and science’.
b) Elaborately explain Philosophical and practical significance of Gandhian

theory.

… … …

P.T.O.
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Total No. of Questions : 4]

[6041]-479

 S.Y.B.A.
GANDHIAN THOUGHT (Philosophy)

CC - 2D : Gandhian Thought and Contemporary Problems
(2019 Pattern) (CBCS) (Semester - IV) (24233)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«oOr àíZn{ÌH$m nXmdr.

P118

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao 100 eãXm§V {bhm. [15]
A) ~oamoOJmar~Ôb Jm§YrdmXr {dMma ñnï> H$am.
~) H$moUVohr XmoZ dUm©l‘Y‘© ñnï> H$am.
H$) V§ÌkmZm~Ôb Jm§YrOtMo H$m¶ ‘V Amho?
S>) Jm§YrOtMo EH$mXe d«V WmoS>³¶mV ñnï> H$am.
B) AmYw{ZH$ OrdZmVrb ôX^mdm~Ôb Jm§YrOtMo H$m¶ ‘V Amho?

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎma 100 eãXm§V {bhm. [20]
A) Jm§Yr {dMmam‘Ü¶o ‘mZdr ‘yë¶m§Mr aMZm H$m¶ Amho? ñnï> H$am.
~) Añn¥í¶Vo~Ôb Jm§YrOtMo ‘V WmoS>³¶mV ñnï> H$am.
H$) AmYw{ZH$ OrdZmVrb A{YH$ bmoH$g§»¶o~Ôb Jm§YrOtMo H$m¶ ‘V Amho? ñnï> H$am.
S>) Jm§YrOtÀ¶m ‘Vo, Am¡X²¶mo{JH$sH$aUmÀ¶m g‘ñ¶m H$m¶ AmhoV? ñnï> H$am.

à.à.à.à.à.3) {Q>nm {bhm§ (H$moUVohr VrZ) [15]
A) gm‘m{OH$ nwZa©MZoMr Jm§YrdmXr g§H$ënZm.
~) àm¡T> {ejUm~Ôb Jm§YrdmXr {dMma.
H$) naHo$nUmda Jm§YrdmXr {dMma.
S>) Jm§YrOtMo {dkmZmdarb {dMma.
B) {ó¶m§À¶m pñWVr~Ôb Jm§YrOtMo {dMma WmooS>³¶mV ñnï> H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎmao 400 eãXm§V {bhm. [20]
A) ‘Y‘© Am{U {dkmZmMm Jm§YrdmXr Ñ{ï>H$moZ’ ¶m {df¶mda EH$ {Z~§Y {bhm.
~) Jm§YrdmXr {gÕm§VmMo VmpËdH$ Am{U ì¶mdhm[aH$ ‘hÎd {dñV¥VnUo ñnï> H$am.

… … …



Total No. of Questions : 4]

[6041]-480
 S.Y.B.A.

CC - 1D : YOGVIDYA - IV
(2019 Pattern) (CBCS) (Semester - IV) (24243)

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions must be solved.
2) Figures to the right indicate full marks.

P119 [Total No. of Pages : 2
SEAT No. :

Q1) Answer any Three of the following five questions in one sentence. [5]
a) Which yoga book was written by Maharshi Patanjali?
b) Who wrote the book ‘Goraksha Samhita’?
c) State  the names of Pranayama?
d) State the names of five Yama?
e) State the names of five Niyama?
f) State the names of five Karmendriye?
g) Definition of health according to the World Health Organization?

Q2) Write the short note (any two) [10]
a) Physical Health
b) Mental Health
c) Social Health

Q3) Answer any two of the following questions in 150 words. [20]
a) Explain the need and importance of yoga in the modern age?
b) Explain the importance of Yoga Sangram?
c) Will Practicing Yoga Develop Personality? Discuss?

Q4) Answer any one of the following questions in detail. [15]
a) Discuss the role of Yoga in the educational process?
b) Explain the types and importance of pranayama?

… … …

P.T.O.
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Total No. of Questions : 4]

[6041]-480
 S.Y.B.A.

CC - 1D : YOGVIDYA - IV
(2019 Pattern) (CBCS) (Semester - IV) (24243)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50
gyMZm …- 1) gd© àíZ Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P119

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr nmM àým§Mr EH$m dm³¶mV CÎmao Úm. [5]
A) ‘hfu§§§§ nV§Obr ¶m§Zr H$moUVm ¶moJ J«§W {b{hbm hmoVm?
~) ‘Jmoaj g§{hVm’ hm J«§W H$moUr {b{hbm?
H$) àmUm¶m‘mMr Zmdo gm§Jm?
S>) nmM ¶‘m§Mr Zmdo gm§Jm?
B) nmM {Z¶‘m§Mr Zmdo gm§Jm?
’$) n§M H$‘]{Ð¶|Mr Zmdo gm§Jm?
¶) OmJ{VH$ Amamo½¶ g§KQ>ZoZwgma Amamo½¶mMr ì¶m»¶m gm§Jm?

à.à.à.à.à.2) Q>rnm {bhm. (H$moUVohr XmoZ) [10]
A) emar[aH$ ñdmñÏ¶
~) ‘mZ{gH$ ñdmñÏ¶
H$) gm‘m{OH$ ñdmñÏ¶

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr XmoZ àým§Mr 150 eãXm§V CÎmao Úm. [20]
A) AmYw{ZH$ ¶wJmV ¶moJmMr JaO Am{U ‘hÎd gm§Jm?
~) ¶moJg§J«m‘mMo ‘hÎd gm§Jm?
H$) ¶moJmä¶mg Ho$ë¶mZo ì¶{º$‘Ëd {dH${gV hmoB©b H$m? MMm© H$am?

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr EH$m àýmMo g{dñVa CÎma Úm. [15]
A) e¡j{UH$ à{H«$¶oVrb ¶moJmMr ŷ{‘H$m MMm© H$am?
~) àmUm¶m‘mMo àH$ma d ‘hÎd gm§Jm?

… … …



Total No. of Questions : 4]

[6041]-481
S.Y.B.A.

HISTORY OF CIVILIZATION - IV
CC-1D : Cultural History of Maharashtra and Heritage (Maratha Period)

(2019 Pattern) (CBCS) (Semester - IV) (24253)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P120 [Total No. of Pages : 2
SEAT No. :

Q1) Answer the following questions in 300 words (any one) [15]
a) Write the reasons of the rise of Maratha power?

OR
b) Explain the concept of ‘Gavgada’ In Maratha period.

Q2) Answer the following questions in 300 words (any one) [15]
a) Explain the AlutEdari system in Maratha period.

OR
b) Explain the festival in Maratha period.

Q3) Answer the following questions in 200 words (any two) [20]
a) Explain the history of Marathi Language.
b) Write to religious life in Peshwa Period.
c) Explain the trades and industry during Maratha Period.
d) Describe the folklore in Maharashtra.

Q4) Short notes (any four) [20]
a) Concept of Maharashtra Dharm.
b) Swaranjum.
c) Swarajya.
d) Ballutedar.
e) Agricultural life in Maharashtra.
f) Gandhi and Vade.


P.T.O.



2[6041]-481

Total No. of Questions : 4]

[6041]-481
S.Y.B.A.

HISTORY OF CIVILIZATION - IV
CC-1D : Cultural History of Maharashtra and Heritage (Maratha Period)

(2019 Pattern) (CBCS) (Semester - IV) (24253)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P120

à.à.à.à.à.1) Imbrb àíZm§Mo 300 eãXmV CÎmao {bhm. (H$moUVohr EH$) [15]
A) ‘amR>r gÎmoÀ¶m CX¶mMr H$maUo ñnï> H$am.

qH$dm
~) ‘amR>oH$mbrZ "JmdJmS>m' hr g§H$ënZm ñnï> H$am.

à.à.à.à.à.2) Imbrb àíZm§Mo 300 eãXmV CÎmao {bhm. (H$moUVohr EH$) [15]
A) ‘amR>oH$mbrZ AmbwVoXmar nÕV ñnï> H$am.

qH$dm
~) ‘hmamï´>mVrb gU d CËgd ¶m§Mr ‘m{hVr {bhm.

à.à.à.à.à.3) Imbrb àíZm§Mo 200 eãXmV CÎmao {bhm. (H$moUVohr XmoZ) [20]
A) ‘amR>r ^mfoMm B{Vhmg ñnï> H$am.
~) noedoH$mbrZ Ym{‘©H$ OrdZ ñnï> H$am.
H$) ‘amR>oH$mbrZ ì¶mnma d CÚmoJY§Xo ñnï> H$am.
S>) ‘hmamï´>mVrb bmoH$gm{hË¶mMo dU©Z H$am.

à.à.à.à.à.4) {Q>nm {bhm. (H$moUVohr Mma) [20]
A) ‘hmamï´> Y‘© (g§H$ënZm)
~) ga§Om‘
H$) ñdamÁ¶
S>) ~bwVoXma
B) ‘amR>mH$mbrZ H¥$fr OrdZ
’$) JT>r, dmS>o





Total No. of Questions : 4]

[6041]-482
S.Y.B.A.

ECONOMICS (HOME ECONOMICS)
CC-1D-G-2 : Indian Family Welfare

(2019 Pattern) (Semester - IV) (CBCS) (24263)

Time : 2½ Hour] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Diagrams must be drawn wherever necessary.
3) Figures to the right indicate full marks.

P121 [Total No. of Pages : 4
SEAT No. :

Q1) Write the answers to the following questions. in 20 words each. (any eight)[16]

a) State the two objectives of marriage.

b) What is considered as marriage in Muslim religion?

c) Describe the types of marriage that fall on the basis of relationship.

d) Explain the two functions of marriage.

e) What is Family break up?

f) What is social stratification?

g) What factors are involved in the process of family organization?

h) Define child welfare.

i) When was the Dowry Prohibition Act passed?

j) When is Women’s Day celebrated in India?

P.T.O.
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Q2) Write the answers to the following questions in 50 words each. (Any four)[16]

a) Explain the objectives of marriage organization in India?

b) Explain the types of marriages according to marriage restrictions.

c) Explain the concept of family disintegration.

d) Explain the scope of family organization.

e) Explain the social laws made for women?

f) Explain the nature of family welfare in India?

Q3) Write the answers to the following questions in 150 words each. (any three)[18]

a) Explain the nature of social marriage organization in India?

b) Explain the reasons for family break up?

c) Explain the various problems of women in India?

d) Explain the importance of family walfare in India?

Q4) Write the answers to the following questions in 300 words each. (any two)[20]

a) What is marriage? Explain in detail the various functions of marriage.

b) What is social stratification? Explain the features of social stratification?

c) What is family walfare? Explain  the measures taken by the government
and NGO’s for the walfare of the family.


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[6041]-482
S.Y.B.A.

ECONOMICS (HOME ECONOMICS)
CC-1D-G-2 : Indian Family Welfare

(2019 Pattern) (Semester - IV) (CBCS) (24263)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r B§J«Or àíZn{ÌH$m nhmdr.

P121

à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao àË¶oH$s 20 eãXm§V {bhm. (H$moUVohr AmR>) [16]

A) {ddmhmMr XmoZ C{Ôï>ço gm§Jm.

~) ‘wpñb‘ Y‘m©V {ddmhmbm H$m¶ ‘mZbo OmVo?

H$) ZmVog§~§YmÀ¶m AmYmao nS>Umao {ddmhmMo àH$ma gm§Jm.

S>) {ddmhmMr XmoZ H$m¶} gm§Jm.

B) Hw$Qw>§~ {dKQ>Z åhUOo H$m¶?

’$) gm‘m{OH$ ñVarH$aU åhUOo H$m¶?

¶) Hw$Qw>§~ g§KQ>Z à{H«$¶oV H$moUË¶m KQ>H$m§Mm g‘mdoe hmoVmo?

a) ~mb H$ë¶mUmMr ì¶m»¶m X²¶m.

b) hþ§S>m à{V~§Y H$m¶Xm H|$ìhm H$aÊ¶mV Ambm?

d) ^maVmV ‘{hbm {XZ H|$ìhm gmOam Ho$bm OmVmo?
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à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao àË¶oH$s 50 eãXm§V {bhm. (H$moUVohr Mma) [16]

A) ^maVmVrb {ddmh g§ñWoMr C{Ôï>o ñnï> H$am.

~) {ddmh {df¶H$ {Z~ªYmZwgma AgUmao {ddmhmMo àH$ma ñnï> H$am.

H$) "Hw$Qw>§~ {dKQ>Z' g§H$ënZm ñnï> H$am.

S>) Hw$Q>§w~ g§KQ>ZoMr ì¶már ñnï> H$am.

B) {ñÌ¶m§gmR>r Ho$bobo gm‘m{OH$ H$m¶Xo ñnï> H$am.

’$) ^maVmVrb Hw$Q>§w~ H$ë¶mUmMo ñdê$n ñnï> H$am.

à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao àË¶oH$s 150 eãXm§V {bhm. (H$moUVohr VrZ) [18]

A) ^maVmVrb gm‘m{OH$ {ddmh g§ñWoMo ñdê$n ñnï> H$am.

~) Hw$Qw>§~ {dKQ>ZmMr H$maUo ñnï> H$am.

H$) ^maVmVrb ‘{hbm§À¶m {d{dY g‘ñ¶m ñnï> H$am.

S>) ^maVmVrb Hw$Qw>§~ H$ë¶mUmMo ‘hÎd ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr CÎmao àË¶oH$s 300 eãXm§V {bhm. (H$moUVohr XmoZ) [20]

A) {ddmh åhUOo H$m¶? {ddmhmMo {d{dY H$m¶© g{dñVa ñnï> H$am.

~) gm‘m{OH$ ñVarH$aU åhUOo H$m¶? gm‘m{OH$ ñVarH$aUmMr d¡{eï>ço ñnï> H$am?

H$) Hw$Q>§w~ H$ë¶mU åhUOo H$m¶? Hw$Qw>§~ H$ë¶mUmgmR>r gaH$ma d ñd¶§godr g§ñWm§Zr Ho$bobr Cnm¶¶moOZm
ñnï> H$am.





Total No. of Questions : 4]

[6041]-483
S.Y.B.A.

DEFENCE AND STRATEGIC STUDIES
CC-1D-G-2 : Chhatrapati Shivaji Maharaj Military System

(2019 Pattern) (CBCS) (Semester - IV) (24273)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P122 [Total No. of Pages : 2
SEAT No. :

Q1) Answer the Following questions in 100 words each.( Any Three) [15]
a) What are the Principles of guerrilla warfare?
b) What are the types of forts?
c) State the Characteristic of guerrilla warfare.
d) What are the characteristic of the fort system of Chhatrapati Shivaji Maharaj?
e) State the strategy of Chhatrapati Shivaji Maharaj.

Q2) Answer the Following questions in 300 words each.( Any one) [15]
a) Describe the Vision of Chhatrapati Shivaji Maharaj in naval development.
b) State the Characteristics of the military system of Chhatrapati Shivaji. Maharaj.

Q3) Answer the Following questions in 200 words each.( Any Two) [20]
a) Explain the Importance of sea forts in the time of Chhatrapati Shivaji Maharaj.
b) Explain the Chhatrapati Shivaji Maharaj the father of Indian Navy.
c) State the naval policy of Chhatrapati Shivaji Maharaj.
d) Explain the organization of the Maratha army under the leadership of

Chhatrapati Shivaji Maharaj.

Q4) Write Short notes (Any Four) [20]
a) Organization of forts under the leadership of Chhatrapati Shivaji Maharaj
b) Water fort
c) Creation of Raigad
d) Chhatrapati Shivaji Maharaj’s policy regarding armor
e) Cavalry
f) Strategy of Guerrilla warfare


P.T.O.
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à.à.à.à.à.1) Imbrb àíZmMr CÎmao àË¶oH$s 100 eãXmV {bhm. (H$moUVohr VrZ) [15]
A) J{Z‘r H$mdm ¶wÕnÕVrMo VËdo H$moUVr?
~) {H$ëë¶m§Mo àH$ma H$moUVo?
H$) J{Z‘r H$mdm ¶wÕnÕVrMr d¡{eï>ço gm§Jm.
S>) N>ÌnVr {edmOr ‘hmamOm§À¶m {H$„m ì¶dñWoMr d¡{eï>ço H$moUVr?
B) N>ÌnVr {edmOr ‘hmamOm§Mr ¶wÕZrVr gm§Jm.

à.à.à.à.à.2) Imbrb àíZmMr CÎmao àË¶oH$s 300 eãXmV {bhm. (H$moUVohr EH$) [15]
A) Zm¡Xb {dH$mgmVrb N>ÌnVr {edmOr ‘hmamOm§Mr XÿaÑï>r {deX H$am.
~) N>ÌnVr {edmOr ‘hmamOm§À¶m bîH$ar ì¶dñWoMr d¡{eï>ço gm§Jm.

à.à.à.à.à.3) Imbrb àíZmMr CÎmao àË¶oH$s 200 eãXmV {bhm. (H$moUVohr XmoZ) [20]
A) N>ÌnVr {edmOr ‘hmamOm§À¶m H$mimVrb gmJar {H$ëë¶m§Mo ‘hÎd ñnï> H$am.
~) N>ÌnVr {edmOr ‘hmamO ^maVr¶ Zm¡XbmMo OZH$ ñnï> H$am.
H$) N>ÌnVr {edmOr ‘hmamOm§Mo Zm{dH$ YmoaU gm§Jm.
S>) N>ÌnVr {edmOr ‘hmamOm§À¶m ZoV¥ËdmImbrb ‘amR>m g¡Ý¶mMo g§KQ>Z ñnï> H$am.

à.à.à.à.à.4) WmoS>³¶mV {Q>nm {bhm. (H$moUVohr Mma) [20]
A) N>ÌnVr {edmOr ‘hmamOm§À¶m ZoV¥ËdmImbrb {H$ëë¶m§Mr g§KQ>Zm
~) ObXþJ©
H$) am¶JS>Mr {Z{‘©Vr
S>) N>ÌnVr {edmOr ‘hmamOm§Mo Ama‘mam~m~VMo YmoaU
B) KmoS>Xb
’$) J{Z‘r ¶wÕ ZrVrMo S>mdnoM


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Q1) Answer any one question in 500 words. [14]
 Define population education and explain the scope of population education.

OR
Write an essay on the topic literacy foundation.

Q2) Answer any one question in 500 words. [14]
What do you mean by Fertility? Explain the determinants of Fertility.

OR
Write an essay on world and Indian Population growth & Present Trends.

Q3) Answer any one question in 500 words. [14]
Explain the factors affecting Population Growth.

OR
Define population  controls and the sources of population control.

Q4) Answer any one question in 500 words. [14]
What do you mean factors affecting population growth? Explain any three
factors.

OR
Write an essay on Indian Population Growth & Present Trends.

Q5) Write shorts notes on. (any two) [14]
a) Literacy rate
b) Population
c) MMR
d) Migration


P.T.O.
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2) COdrH$S>rb AmH$S>o nyU© JwU Xe©{dVmV.
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à.à.à.à.à.1) H$moUË¶mhr EH$m àíZmMo 500 eãXmV CÎma Úm. [14]
bmoH$g§»¶m {ejUmMr ì¶m»¶m H$am Am{U bmoH$g§»¶m {ejUmMr ì¶már ñnï> H$am.

qH$dm
gmjaVm nm¶m ¶m {df¶mda {Z~§Y {bhm.

à.à.à.à.à.2) H$moUË¶mhr EH$m àíZmMo 500 eãXmV CÎma Úm. [14]
’${Q>©{bQ>r åhUOo H$m¶? àOZZj‘VoMo {ZYm©aH$ ñnï> H$am.

qH$dm
OJ Am{U ^maVr¶ bmoH$g§»¶m dmT> Am{U dV©‘mZ Q>ó§S> ¶mda {Z~§Y {bhm.

à.à.à.à.à.3) H$moUË¶mhr EH$m àíZmMo 500 eãXmV CÎma Úm. [14]
bmoH$g§»¶m dmT>rda n[aUm‘ H$aUmao KQ>H$ ñnï> H$am.

qH$dm
bmoH$g§»¶m {Z¶§ÌUo Am{U bmoH$g§»¶m {Z¶§ÌUmMo òmoV n[a^m{fV H$am.

à.à.à.à.à.4) H$moUË¶mhr EH$m àíZmMo 500 eãXmV CÎma Úm. [14]
bmoH$g§»¶m dmT>rda n[aUm‘ H$aUmao KQ>H$ H$m¶ åhUm¶Mo? H$moUVohr VrZ KQ>H$ ñnï> H$am.

qH$dm
^maVr¶ bmoH$g§»¶m dmT> Am{U gÜ¶mMo Q>ó§S> ¶mda {Z~§Y {bhm.

à.à.à.à.à.5) em°Q>© ZmoQ²>g da {bhm. (H$moUË¶mhr XmoZ) [14]
A) gmjaVm Xa
~) bmoH$g§»¶m
H$) E‘E‘Ama
S>) ñWbm§Va


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Q1) A) Fill in the blanks. [7]

a) Balance sheet is _______ of Assets and Liabilities.

i) Book ii) Ledger

iii) Journal Proper iv) Statement

b) Petty Cash Book is used for recording ______ transactions.

i) Debit ii) Credit

iii) Cash iv) Petty

c) ______ Involves Receipts and payments of Money.

i) Cash voucher ii) Credit voucher

iii) Contra iv) Sales

d) The Amount of Bad debt is _______ to business.

i) Profit ii) Loss

iii) Assets iv) Liability

e) Only ______ Discount recorded in Journal Proper.

i) Trade ii) Cash

iii) Purchase iv) Sales

f) ______ is excess of Assets over liabilities.

i) Goodwill ii) Capital

iii) Investment iv) Drawing

P.T.O.
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g) ERP stands for

i) Enterprise Resource Planning

ii) Enternet Resource Planning

iii) Enterprise Resource Performance

iv) Electronic Resource Planning

B) State the following statements are true or false : [7]
a) F4 shortcut key is used for contra voucher.

b) Goodwill is an intangible asset.

c) Income due but not received is liability.

d) Journal is a book of secondary book.

e) Cash sales are entered in sales Journal.

f) Depreciation is charged on Fixed Assets.

g) Credit purchase of Machinery is entered in Purchase Journal.

Q2) Write answer of the question in 1 or 2 sentence : [14]
a) What is Trial Balance?

b) What is Balance Sheet?

c) What is Financial year?

d) What is Net Profit?

e) What is Depreciation?

f) What is Cash Book?

g) What is Voucher?

Q3) Prepare Shyama’s (Simple) Cash Book from the following information : [12]
2018

Mar. 1 Opening cash balance ` 15,000.

3 Sold goods for ` 13,800.

4 Purchased goods for ` 12,000 less 10% trade discount.

5 Paid rent ` 1,120.
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6 Sold goods for ` 15,000 less 15% trade discount.
8 Paid Lalji ` 1,450 on account.
9 Paid Mansi ̀  1,120 as travelling expenses.
11 Received from Nayan a commission of ` 3,000.
20 Purchased stationery for ` 175.
24 Paid to Raj ` 1,650 on account.

OR
Explain advantages and disadvantages of Accounting Software in detail. [12]

Q4) From the following Trial Balance of Rima Enterprises you are require to prepare
Trading Account, Profit and Loss Account for the year ending on 31st March,
2021 and Balance Sheet as on that same date. [20]

Trial Balance as on 31st March 2021
Particulars Debit ` Credit `
Opening stock 45,200
Capital 3,00,000
Drawings 20,000
Furniture 60,000
Prepaid Insurance 1,770
Debtors and Creditors 70,000
Purchases and sales 57,000
Plant and Machinery 50,000
Investment 68,000
Factory Insurance 26,000
Audit Fees 21,000
Carriage Inward 1,800
Land and Building 1,40,000
Rent 4,120
Reserve for Bad debts 6,000
Carriage outward 8,360
Returns 2,000 9,000
Discount 1,000 7,000
Commission Received 8,000

                      Total 5,79,250 5,79,250
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Adjustments :

a) Write of Bad debts ` 2,000 and provide 2.5% reserve for bad debts on
debtors.

b) Closing stock valued at cost price ` 46,000 and market price ` 40,000.

c) Provide Depreciation @5% on Building and 10% on Machinery.

d) Rent prepaid ` 3,560.

e) Outstanding carriage Inward is ` 1,200.

OR

What do you meant by Voucher? Explain how to create various type of voucher
in Tally Software. [20]

Q5) Write short notes (Any 2) : [10]
a) Cash Book.

b) Importance of Final Account.

c) Depreciation.

d) Balance Sheet.


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Q1) Attempt each of the following :

a) In each of the following cases, choose the correct alternative : [1 each]

i) Accepting H
0
 when H

0
 is not true is called as

(A) Type I error (B) Type II error

(C) Correct decision (D) Level of significance

ii) Let R

r r

r r

r r

 
   
  

12 13

21 23

31 32

1

1

1

, Then the three regression planes coincide

if

(A) |R| = 0 (B) |R| > 0

(C) |R| < 0 (D) |R| = 1

iii) Suppose that X
1
, X

2
, X

3
 are three variables. The multiple correlation

coefficient  .R2
1 23  is defined as (Notation : X̂  : Estimated value of

X).

(A) The Karl Pearson’s correlation between X
1
 and X̂1

(B) The Karl Pearson’s correlation between X
2
 and X̂2

(C) The Karl Pearson’s correlation between X
3
 and X̂3

(D) The Karl Pearson’s correlation between (X
2
, X

3
) and  ˆ ˆX , X2 3

P.T.O.
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iv) Population growth mainly depends on

(A) Number of female births (B) Number of male births

(C) Total number of births (D) Number of male deaths

v) Traffic intensity is computed by using the formula.

(A)

 (B)




(C)  (D)  

b) In each of the following, state whether the given statement is true or
false : [1 each]

i) The null hypothesis is not rejected if p-value is less than the level of
significance.

ii) If  = 16 per hour and  = 24 per hour in M/M/1 model then the
average number of customers in the system is 3.

iii) Critical region is a region of rejection of null hypothesis.

iv) Standardized death rates are useful for comparing the death rates of
two regions.

v) The value of partial correlation coefficient lies between 0 to 1.

Q2) Attempt any four of the following : [5 each]

a) Define residual and state its properties.

b) With usual notations, show that   . .R r r   2 2 2
1 23 12 13 21 1 1 .

c) Workers come to tool store room to inquire about the special tools for a
particular job. Customers arrive at the store have Poisson distribution
with average rate of 6 customers per hours. The average service time is 9
customers per customer. Find

i) Average queue length.

ii) Expected number of workers in the system.

d) Define crude death rate and standardized death rate. Explain direct method
of standardization.
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e) Define the following terms :

i) Random Sample.

ii) Statistic.

iii) Parameter.

iv) Sampling Distribution.

v) Standard Error.

f) Describe the procedure for testing the hypothesis H
0
 :  = 

0
 against

H
1
 :  > 

0
 where  is the population mean by assuming that population

variances are known.

Q3) Attempt any four of the following : [5 each]

a) In a tri-variate data the total correlation coefficients are given by
r

12
 = 0.50, r

13 
= –0.3, r

23
 = 0.45. Is the data consistent?

b) Show that X
1.23

 is uncorrelated with X
2
 and X

3
.

c) Explain what is Standardized Death rate (S.T.D.R) and also explain the
methods of obtaining S.T.D.R.

d) Explain the following terms

i) Customer.

ii) Waiting time.

iii) Queue length.

iv) Traffic density.

v) Queue discipline.

e) Explain the following terms :

i) Type-I error.

ii) Type-II error.

iii) Standard error of a statistic.

iv) Null hypothesis.

v) Alternative hypothesis.

f) Two hundred people were attacked by a disease and 144 survived. Can
we say that 80% people survive if they are attacked by this disease. (Use
5% level of significance).
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Q4) Attempt any two of the following : [10 each]

a) i) Derive the equation of least square regression plane of Y and X
1
 and

X
2
. [6]

ii) If r
12

 = 0.40, r
23

 = 0.25, r
13

 = 0.30 then compute r
12.3

. [4]

b) i) Define partial regression coefficient. State its properties. [5]

ii) Explain in brief the role of Poisson distribution, exponential
distribution and geometric distribution in queuing model. [5]

c) i) D escri be br i ef l y  the large sam pl e test f or testi ng H
0
 : 

1
 = 

2 
against

H : 1 1 2 , where 
1
 and 

2
 are the population means from which

the two independent samples are choosen. It is assumed that the
population variances are known. [5]

ii) Construct 100 (1 – )% confidence interval for population mean 
when population variance 2 is known. [5]

d) i) Construct 100 (1 – )% confidence interval for P
1
 – P

2
, where P

1

and P
2
 are the population proportion of the two populations. The

sizes are n
1
 and n

2
 of random samples, taken from these two

populations. [5]

ii) Explain the following approaches of testing of hypothesis [5]

I) Critical region approach.

II) P-value approach.

III) Confidence interval approach.


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Q1) Attempt any three of the following : [15]

a) Write a short note on imperative sentences.

b) Write a short note on tag questions.

c) Write a short note on adverbial phrase with suitable examples.

d) Explain the term subject, verb, concord. Give suitable examples.

e) Write a short note on complex sentence.

Q2) Attempt any three of the following : [15]

a) Discuss the term syntax in brief.

b) Write a short note on homonymy and polysemy. Give suitable examples.

c) What is semantics? Explain in brief.

d) Define the term clause. Explain its parts in brief.

e) Write a note on negative sentence. Give suitable examples.

Q3) Attempt any four of the following : [20]

a) State the difference between synonymy and antonymy.

b) Write a short note on semantics as a branch of linguistic.

c) What is homography? Give suitable examples.

d) State the difference between denotative and cannotative meaning.

P.T.O.
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e) Explain the term superordination with suitable examples.

f) Write a note on the types of meaning.

Q4) Attempt any four of the following : [20]

a) Describe Austin’s typology of speech acts.

b) Explain the term co-operative principle and its maxims.

c) Write a note on pragmatics as a branch of linguistics.

d) Write a note on Searle’s classification of illocutionary acts.

e) Write a note on direct and indirect speech acts.

f) Pragmatics is the communicative use of language. Explain.


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Q1) Attempt each of the following : [5 × 1 = 5]

A) Choose the correct alternative of the following :

a) The important characteristic(s) of Bernoulli trials.

(i) Each trial is associated with just two possible outcomes

(ii) Trials are independent

(iii) Trials are infinite

(iv) Both (i) and (ii)

b) Parameter is a characteristic of

(i) Population (ii) Sample

(iii) Probability distribution (iv) Both (i) and (ii)

c) A theoretical probability distribution

(i) does not exist (ii) exists only in theory

(iii) exists in real life (iv) Both (ii) and (iii)

d) If X is a degenerate random variable then :

(i) E(X2) < [E(X)]2 (ii) E(X2) > [E(X)]2

(iii) E(X2) = [E(X)]2 (iv) None of these

e) Let X
1
 and X

2
 are two independent Poisson variates then the

probability distribution of (X
1
 + X

2
) is :

(i) Binomial (ii) Poisson

(iii) Geometric (iv) Bernoulli

P.T.O.
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B) State whether the following statements are true or false : [5 × 1 = 5]

a) Variance of constant is zero.

b) Expectation of constant is itself constant.

c) Mean of Binomial distribution is np.

d) Mean and variance of Poisson distribution are not equal.

e) If X   P(m) then variance is m.

Q2) Attempt any four of the following : [4 × 5 = 20]

a) State the properties of Distribution Function.

b) Define Binomial distribution. If X   B(n, p) obtain its m.g.f.

c) Let x be a random variable such that P(x = –2) = P(x = –1),
P(x = 2) = P(x = 1), P(x > 0) = P(x < 0) = P(x = 0), Obtain the probability
mass function of X & it’s distribution function.

d) Let P(x) is a probability function of a discrete random variable X which assumes
the values x

1
, x

2
, x

3
 and x

4
 such that 2P(x

1
) = 3P(x

2
) = P(x

3
) = 5P(x

4
). Find

probability function & cumulative distributive function of X.

e) If Y = hX then prove that rth cumulants of Y = hr × (rth cumulant of X), h
is constant.

f) Let X   B(n, p). State the c.g.f. of X, hence find mean of X.

Q3) Attempt any four of the following : [4 × 5 = 20]

a) Prove that the Variance is invariant to the change of origin i.e.
V(X + a) = V(X); a is constant.

b) Define moment generating function of a r.v.X. State the uniqueness
property of m.g.f.

c) Define expectation of discrete random variable with usual notation prove
that E(aX + b) = aE(X) + b.

d) State and prove the additive property of binomial distribution.

e) Suppose that the random variable X assumes values 0, 1, 2 with probability
1/3, 1/6, 1/2 respectively. Obtain the distribution function of X.

f) Ten fair coins are thrown simultaneously, find the probability of getting at
least seven heads.
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Q4) Attempt any two of the following : [2 × 10 = 20]

a) Suppose that the random variable X has possible values 1, 2, 3, ..... and

probability of P( ) jx 
1

2
, j = 1, 2, 3,......, i......,......

i) Compute probability of X = even

ii) P(X < 5)

iii) P(X = 3x)

b) i) A room has 4 sockets. From a collection of 12 bulbs, of which only
5 are good. A person selects 4 bulbs at random (without replacement)
and puts them in the sockets. Find the probability that (I) the room
is lighted, (II) exactly one bulb in the selected bulbs is good.

ii) Obtain mean and variance of Standard Uniform distribution.

c) State and prove binomial approximation to hypergeometric distribution.
Also give an illustration for it.

d) i) Explain with an illustration, what is meant by a Bernoulli trial.

ii) Define Bernoulli distribution with parameter p. Obtain third central
moment for a Bernoulli r.v.


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Q1) Attempt any five of the following: [10]

a) Find an equation of the plane spanned by the vectors u=(–1,2,1) and
v = (–3,1,4).

b) Let V be a vector space, u be a vector, then prove that 0u=0.

c) Determine whether the set of all vectors of the form (a,1) where a is a real
number, is a subspace of R2.

d) Let T : R2 → R2 be a linear transformation given by the formula

T (x,y) = (2x–y, –8x+4y). check whether (1,1) is in Ker (T)?

e) Define the reduced row-echelon form if the matrix.

f) Let V be a vector space, k be a scalar, then prove that k0 = 0.

g) If T : V→ W is a linear transformation then prove that T(–v) = –T(v), for
all v in V.

Q2) Attempt any four of the following: [20]

a) If T : V→ W is a linear transformation, then prove that the kernel of T is
a subspace of V.

b) Consider the vectors u=(1,–2,1) and v=(2,4,0) in R3. Show that (4,0,2) is
a linear combination of u and v.

c) Determine whether the polynomials p
1
=1–2x, p

2
= 2 + 3x – x2, p

3 
= 1+2x–x2

are linearly dependent or linearly independent in p
2
.

P.T.O.
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d) Show that the set of all points in R2 lying on a line is a vector space with
respect to the standard operations of vector addition and scalar
multiplication if and only if the line passes through the origin.

e) Prove that a line passing through the origin in R3 is a vector space under
the standard operation on R3.

f) If AX=0 is a homogeneous linear system of m equations in n unknowns,
then prove that the set of solution vectors is a subspace of Rn

Q3) Attempt any four of the following: [20]

a) Slove:

x + y – z = 0

x + 5y – z = 8

2x + 2y – 5z = –9

by Gaussian elimination and back-substitution method.

b) Determine whether the Vectors v
1
= (1,2,3), v

2 
= (5,2,–1), v

3
= (0,2,1) are

linearly independent or linearly dependent in R3.

c) Show that the three vectors v
1
 = (0,3, 1,–1), v

2
 = (6,0,5,1), and v

3
 = (4, –7, 1,3)

form a linearly dependent set in R4.

d) Determine whether the vectors v
1
 = (–1, 1,–2), v

2
 = (1, 0, –1), and

v
3
 = (0,1,3) span the vector space R3.

e) Find bases for the row and column spaces of the matrix:

1 3 4 2 5 4

2 6 9 1 8 2

2 6 9 1 9 7

1 3 4 2 5 4

− − 
 − − 
 − −
 − − − 

f) Consider the basis S = v
1
, v

2
, v

3
 for R3, where v

1
 = (0,0, 1), v

2
 = (0, 1,1),

v
3
= (1,1,1). Let T : R3 → R2 be the linear transformation for which

T(v
1
) = (1,0), T(v

2
) = (2, –1), T(v

3
) = (4,3). Find a formula for T (x

1
, x

2
, x

3
),

and then use that formula to compute T(2, –3,5).
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 Q4)Attempt any two of the following: [20]

a) Let V be an n - dimensional vector space, and let S be a set in V with
exactly n vectors. Then prove that S is a basis for V if and only if S
spans V or S is linearly independent.

b) State and prove the dimension theorem for linear transformations.

c) Let V be the set of positive real numbers, let u and v be any vectors
(i.e., positive real numbers) in V, and let k be any scalar. Define the addition
and scalar multiplication operations on V to be u + v = uv and
k.u = uk. Show that V is a vector space.

d) If S = v
1
, v

2
,.. . , v

n
 is a basis for a vector space V, then prove that every

vector v in V can be expressed in the form v = c1v1 + c2v2 + .....+ cnvn in
exactly one way.


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Q1) Write shorts note on (any three) [15]
a) Migration.
b) Meaning of population policy.
c) Family welfare program-1977.
d) Abortion ban
e) Population dynamics.

Q2) Answer the following questions in 50 words each (any three) [15]
a) Explain the age structure of population in India.
b) Explain the nature of family planning program.
c) Elaborate the gender composition of population in India.
d) State the objective of National Rural Health Mission.
e) Write two characteristics of Indian Population.

Q3) Answer the following questions in 200 words each (any two) [20]
a) State the factors affecting mortality.
b) Give a brief review of India’s population policy after independence.
c) Elaborate the growth of population in India since 1901.
d) Discuss in detail about gender diagnosis and abortion ban.

Q4) Answer the following questions in 300 words each (any one) [20]
a) Elaborate information about poste independent population policy.
b) What is migration. Explain the causes and effects of migration.



P.T.O.



2[6041]-491

Total No. of Questions : 4]

[6041]-491
S.Y.B.A.

SOCIOLOGY
G2- SEC - 1B : Population And Indian Society

(2019 Pattern) (CBCS) (Semester - IV) (24373)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo A{Zdm¶© AmhoV.
2) COdrH$S>rb AmH$S>o nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _wi B§J«Or àíZn{ÌH$m nhmdr.

P129

à.à.à.à.à.1) WmoS>Š`mV {Q>nm {bhm. (H$moUVohr VrZ) [15]
A) ñWbm§Va
~) bmoH$g§»`m YmoaUmMm AW©
H$) Hw$Qw>§~ H$ë`mU H$m ©̀H«$_ - 1977
S>) J ©̂nmV ~§Xr
B) bmoH$g§» òMr JVr{ebVm

à.à.à.à.à.2) Imbrb àíZm§Mr 50 eãXm§V CÎmao {bhm. (H$moUVohr VrZ) [15]
A) ^maVmVrb bmoH$g§» òMr d`aMZm ñnï> H$am.
~) Hw$Qw>§~ {Z`moOZ H$m ©̀H«$_mMo ñdê$n ñnï> H$am.
H$) ^maVmVrb bmoH$g§» òMr qbJ aMZm {deX H$am.
S>) amï´>r` J«m_rU Amamo½` _mo{h_oMr C{Ôï>o gm§Jm.
B) ^maVr` bmoH$g§» òMr XmoZ d¡{eï> ò {bhm.

à.à.à.à.à.3) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [20]
A) _Ë ©̀Voda n[aUm_ H$aUmao KQ>H$ {bhm.
~) ñdmV§Í`moÎma ^maVr` bmoH$g§»`m YmoaUmMm WmoS>Š`mV AmT>mdm ¿`m.
H$) 1901 nmgwZ ^maVmÀ`m bmoH$g§» òV Pmbobr dmT> {deX H$am.
S>) J ©̂qbJ {ZXmZ d J ©̂nmV ~§Xr `m~m~V g{dñVa {ddoMZ H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr 300 eãXm§V CÎmao {bhm. (H$moUVmhr EH$) [20]
A) ñdmV§Í`moÎma H$mimVrb bmoH$g§»`m YmoaU `m{df`r _m{hVr {deX H$am.
~) ñWbm§Va åhUOo H$m`? ñWbm§VamMr H$maUo Am{U n[aUm_ ñnï> H$am.


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Q1) Write shorts note on (any three) [15]
a) Problems of women’s trafficking.
b) PCPNDT.
c) Migrant worker.
d) Article 350.
e) Xenophobia.

Q2) Answer the following questions in 50 words each. [15]
a) Discuss the challenges of Indian workers.
b) State the provisions of transgender persons (Protection of Rights) act.
c) Explain the nature of Pradhan Mantri Suraksha. Bima Yojana.
d) Elaborate the provisions in Article 347.
e) State the provisions of citizenship act in India.

Q3) Answer the following questions in 200 words. each. [20]
a) Discuss the health problems of women in India.
b) Comment on the problem of unemployment in India.
c) Discuss the issues of minorities in India.
d) Explain the nature of the national registar of citizens.

Q4) Answer the following questions in 300 words each (any one) [20]
a) Discuss the problems of womens as vulnerable section of society.
b) Elaborate the problems of child labour in India.



P.T.O.
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à.à.à.à.à.1) WmoS>Š`mV {Q>nm {bhm. (H$moUVohr VrZ) [15]
A) _{hbm {dH«$sMr g_ñ`m
~) PCPNDT
H$) ñWbm§V[aV H$m_Jma
S>) H$_b 350
B) PoZmo\$mo{~`m

à.à.à.à.à.2) Imbrb àíZm§Mr 50 eãXmV CÎmao {bhm. (H$moUVohr VrZ) [15]
A) ^maVr` H$m_Jmam§À`m AmìhmZm§da MMm© H$am.
~) Q´>mÝgOoÝS>a ì`{ŠV g§ajU H$m`XçmÀ`m VaVwXr gm§Jm.
H$) àYmZ_§Ìr gwajm {d_m `moOZoMo ñdê$n ñnï> H$am.
S>) H$b_ 347 _Yrb VaVwXr {deX H$am.
B) ^maVmVrb ZmJ[aH$Îd H$m`XçmVrb VaVwXr gm§Jm.

à.à.à.à.à.3) Imbrb àíZmMr 200 eãXmV CÎmao {bhm. (H$moUVohr XmoZ) [20]
A) ^maVmVrb _{hbm§À`m Amamo½`{df`H$ g_ñ òda MMm© H$am.
~) ^maVmVrb ~oamoOJmarÀ`m g_ñ òda ^mî` H$am.
H$) ^maVmVrb Aëng§»`mH$m§À`m àíZm§da MMm© H$am.
S>) Z°eZb a{OñQ>a Am°\$ {g{Q>PZMo ñdê$n ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr 300 eãXmV CÎmao {bhm. (H$moUVohr EH$) [20]
A) g_mÁmmMm EH$ d§{MV KQ>H$ åhUwZ _{hbm§À`m g_ñ`m da MMm© H$am.
~) ^maVmVrb ~mb H$m_Jmam§Mr g_ñ`m {deX H$am.


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Q1) Attempt each of the following:

A) Choose the correct alternative of the following. [1 each]

a) If a point is out of control in p-chart then we

i) Eliminate the out-of-control points and recalculate the control
limits

ii) Take one more sample and recalculate the control limits

iii) Eliminate the out-of-control points and the nearest two points,
and recalculate the control limits.

iv) Take no action

b) The p-chart is based on

i) Poisson distribution ii) Binomial distribution

iii) Hypergeometric distribution iv) Normal distribution

c) The c-chart used to study process under control related to:

i) Average ii) Dispersion

iii) defects iv) Defective

P.T.O.
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d) The average value of the characteristic corresponding to in-control
state is represented by __________ in the control charts.

i) LCL ii)  UCL

iii) CL iv) Sample number

e) If a point lies above UCL in p-chart is known as_______

i) Low spot. ii) Average point.

iii) High spot. iv) Median point

B) State whether the following statement are true or false: [1 each]

a) X - charts are used for checking whether the process is in control
with respect to average.

b) The chance causes in the production process  can be discovered
and corrected.

c) The c - chart is used for the fraction defectives.

d) Control charts can be used very effectively in the process of
hypothesis testing.

e) R-charts are used for checking whether the process is in control
with respect to average.

Q2) Attempt any four of the following: [4×5=20]

a) What do you mean by saying that a production process is under statistical

control? Explain the necessity of constructing both R and X  charts.

b) Explain the chance causes and assignable causes of variations.

c) Explain in brief the meaning and purpose of statistical quality control.

d) Describe the procedure of construction of the c-chart.

e) For double sampling plan with N = 3000, n =50, C = 2 , find the probability
of producer’s risk for AQL p = l%.

f) For single sampling plan with n =10 and c = 2, compute probability of
accepting a lot if the incoming quality is 0.1, use Binomial distribution.
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Q3) Attempt any four of the following: [4×5=20]

a) Explain the constructions of R and X charts, when standards are unknown.

b) Derive an expression for Average Outgoing Quality (AOQ) in case of
Single Sampling Plan (SSP).

c) Describe various criterions for judging lack of controls in control charts.

d) Describe the construction and interpretation of C-chart.

e) A p-chart indicates that the average is 0.2.If 50 items are inspected each
day, what is the probability of detecting a shift of 0.04:

i) On the first day after the shift,

ii) by the end of the third day after the shift.

f) Describe the working of Single Sampling Plan (SSP).

Q4) Attempt any two of the following:

a) The following data indicates the sample mean and range values for 10
subgroups of size 5 items each.

Subgroup No. 1 2 3 4 5 6 7 8 9 10

Average ( )X 30 29 25 30 40 25 29 27 31 28

Range (R) 12 13 12 14 14 11 15 13 11 13

Set up X and R-charts and examine the state of control of the given process.
Comment on your results. use constants A

2
=0.577, D

3
=0 and D

4
=2.115.

[10]

b) The number of defects in each sample of 20 items is given below.

Item No. 1 2 3 4 5 6 7 8 9 10

No. of defects 2 0 4 1 1 8 0 2 3 1

Item No. 11 12 13 14 15 16 17 18 19 20

No. of defects 2 0 0 1 3 2 1 0 1 0

Draw c-chart and check whether the process in under control. [10]
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c) The following data indicates the percentage of defectives in a sample of
size 50 taken at equal intervals of a production process. [10]

Sample No. 1 2 3 4 5 6 7 8 9 10

% of defective 0.09 0.11 0.13 0.05 0.14 0.6 0.2 0.12 0.7 0.4

Sample No 11 12 13 14 15 16 17 18 19 20

% of defective 0.13 0.06 0.18 0.14 0.17 0.14 0.15 0.8 0.10 0.16

Draw the p-chart to check whether the production process is under control.
Suggest the control limits for future use.

d) i) Describe the working of Double sampling Plan (DSP). obatin an
expression for average sample number in case of DSP. [7]

ii) Describe the terms ‘AQL’ and ‘LTPD’ in acceptance sampling plan.[3]


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Q1) Answer any Three of the following questions in 50 words. [15]

a) Explain nature of predicate logic.

b) State nontransitive relation.

c) Describe universal proposition.

d) What propositional function?

e) What are individual variable and predicate constants?

Q2) Write short notes on any Three of the following in 50 words. [15]

a) Transitive relations.

b) Existential quantifier.

c) Symbolize the following relational propositions. (any five)

i) Mango is bigger than apples.(Bxy, m, a)

ii) Ashish is older than Sanjay. (Ozy, a, s)

P.T.O.
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iii) Rajesh like books more than film. (Lxyz, r, b,f)
iv) Father loves with his daughter. (Lxy, f, d)
v) Pune is between Mumbai and Satara. (Bxyz, p, m, s)
vi) Something attracts something . (Axy, x, attracts y)
vii) John loves Mary. (Lxy, J, M)

d) Instantiation.
e) Nonreflexive relations.

Q3) Answer Two of the following questions in 200 words. [20]

a) Explain preliminary quantificational rules of Universal Instantiation [UI]
and Universal Generalization [UG].

b) Symbolize the following propositions. (Any five)
i) Students are healthy. (Sx, Hx)
ii) No chairs are tables. (Cx, Tx)
iii) Some books are costly. (Bx, Cx)
iv) Some students are not honest. (Sx, Hx)
v) All people are honest. (Px, Hx)
vi) Not a single pencil is eraser. (Px, Ex)
vii) Childrens are brilliant. (Cx, Bx)

c) Explain reflexive and irreflexive relations.

d) Prove the validity of following arguments with the help of direct proof
(any two).

i) 1) (X) (Ax Bx)

2) Bs   /:. As 
ii) 1)

2) (X) (IX DX)      /:. (X) (P   D )x x  

iii) 1) (X) (T x Lx)

2) ( X) (Hx  Tx)   /:. ( x) (Hx  Lx)  

(X) (PX IX)
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Q4) Answer any One of the following questions in 400 words. [20]

a) What is quantification? Explain preliminary quantificational rules of
Existential Generalization [EG] and Existential Instantiation [EI].

b) What is relational logic? Explain symmetry and a-symmetry relations.

… … …
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à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao àË¶oH$s 50 eãXm§V {bhm. [15]

A) {dYo¶ VH©$emómMo ñdê$n ñnï> H$am.

~) {df‘ àdm{hÎmVm g§~§Y ñnï> H$am.

H$) gd©dmMr {dYmZ ñnï> H$am.

S>) {dYmZ ’$bZ åhUOo H$m¶?

B) ì¶º$s Ma {dYo¶ AMa åhUOo H$m¶?

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr VrZ Q>rnm 50 eãXm§V {bhm. [15]

A) à{d{hVVm g§~§Y.

~) A§edmMr g§»¶rH$maH$.

H$) Imbrb g§~§YdmMr {dYmZmMo MrÝhm§H$U H$am. (H$moUVohr nmM)

i) Am§~m g’$aM§Xmnojm ‘moR>m Amho. (Bxy, m, a)

ii) Am{ef hm g§O¶nojm ‘moR>m Amho. (Ozy, a, s)

iii) amOoebm nwñVH$m§nojm {MÌnQ> OmñV AmdS>Vmo. (Lxyz, r, b,f)
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iv) dS>rb Ë¶m§À¶m ‘wbrda OmñV ào‘ H$aVmV. (Lxy, f, d)

v) nwUo ho ‘w§~B© Am{U gmVmam ¶m§Mo‘Ü¶o Amho. (Bxyz, p, m, s)

vi) H$mhrVar H$í¶mbmVar AmH${f©V H$aVo. (Axy, x, attracts y)

vii) Om°ZMo ‘oarda ào‘ Amho. (Lxy, J, M)

S>) CXmhaUrH$aU.

B) AnamdVuVVm.

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎma 200 eãXm§V {bhm. [20]

A) g§»¶rH$aUmMo àmW{‘H$ gmd©{ÌH$ CXmhaUrH$aU [UI] Am{U gmd©{ÌH$ gm‘mÝ¶rH$aU  [UG]
{Z¶‘ {deX H$am.

~) Imbrb g§»¶rH$maH$s¶ {dYmZmMo MrÝhm§H$U H$am. (H$moUVohr nmM)

i) {dYmWu {ZamoJr AgVmV. (Sx, Hx)
ii) H$moUË¶mhr IwÀ¶m© Q>o~b ZmhrV. (Cx, Tx)
iii) H$mhr nwñVHo$ ‘hmJ AmhoV. (Bx, Cx)
iv) H$mhr {dYmWu àm‘m{UH$ ZmhrV. (Sx, Hx)
v) gd© bmoH$ àm‘m{UH$ AmhoV. (Px, Ex)
vi) EH$hr nopÝgb ImooS>a~a Zmhr. (Px, Ex)
vii) ‘wbo hþema AgVmV. (Cx, Bx)

H$) g§~§YdmMr VH©$emómVrb namdVuVVm A-namdVuVVm ñnï> H$am.

S>) Imbrb ¶wº$sdmX àË¶j {gÕVm nÕVrZo {gÕ H$am. (H$moUVohr XmoZ)

i) 1) (X) (Ax Bx)

2) Bs   /:. As 
ii) 1) (X) (PX IX)

2) (X) (IX DX)      /:. (X) (PX  DX)  

iii) 1) (X) (T x Lx)

2) ( X) (Hx  Tx)   /:. ( X) (Hx  Lx)  
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à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 400 eãXm§V {bhm. [20]

A) g§»¶rH$aU åhUOo H$m¶? g§»¶rH$aUmMo àmW{‘H$ A§edmMr gm‘mÝ¶rH$aU [EG] d A§edmMr
CXmhaUrH$aU [EI] {Z¶‘ ñnï> H$am.

~) g§~§YdmMr VH©$emó åhUOo H$m¶ gm§JyZ Ë¶mMo àH$ma åhUyZ g‘‘mÌVm d A-g‘‘mÌVm ñnï> H$am.

… … …
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Q1) Answer the following questions in 300 words each. [15]
a) Take a review of Ancient Indian Ashrama system.

OR
b) Discuss the Gurukula, Ashram and University system of Education in

Ancient India.

Q2) Answer the following questions in 300 words each. [15]
a) Write in detail about various industries in Ancient India.

OR
b) State the different phases in the development of Ancient Indian coins.

Q3) Answer the following questions in 200 words each (any two). [20]
a) Take a brief review of life of women in vedic period.
b) Explain the importance of sixteen sacraments in Ancient Times.
c) Explain the nature of Agriculture in Ancient India.
d) Discuss the internal trade in Ancient times.

Q4) Write notes on (any four). [20]
a) Demerits of varna system.
b) Importance of marriage sacrament.
c) Aims and objectives of ancient education.
d) Puga.
e) Indo - Roman Trade.
f) Ancient measures.


P.T.O.
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à.à.à.à.à.1) Imbrbn¡H$s àíZm§M§r CÎmao àË¶oH$s 300 eãXmV {bhm. [15]
A) àmMrZ ^maVr¶ Aml‘ì¶dñWoMm AmT>mdm ¿¶m.

qH$dm
~) àmMrZ ^maVmVrb Jwê$Hw$b, Aml‘ d {dÚmnrR>r¶ {ejUì¶dñWoMr MMm© H$am.

à.à.à.à.à.2) Imbrbn¡H$s àíZm§M§r CÎmao àË¶oH$s 300 eãXmV {bhm. [15]
A) àmMrZ ^maVmVrb {d{dY CÚmoJm§{df¶r g{dñVa {bhm.

qH$dm
~) àmMrZ ^maVr¶ ZmÊ¶m§À¶m {dH$mgmVrb {d{dY Q>ßno gm§Jm.

à.à.à.à.à.3) Imbrbn¡H$s àíZm§M§r CÎmao àË¶oH$s 200 eãXmV {bhm. (H$moUVohr XmoZ) [20]
A) doXH$mbrZ ñÌr-OrdZmMm WmoS>³¶mV AmT>mdm ¿¶m.
~) àmMrZ H$mimVrb gmoim g§ñH$mam§Mo ‘hÎd {deX H$am.
H$) àmMrZ ^maVr¶ eoVr CÚmoJmMo ñdê$n ñnï> H$am.
S>) àmMrZ H$mimVrb A§VJ©V ì¶mnmamMr MMm© H$am.

à.à.à.à.à.4) Q>rnm {bhm. (H$moUË¶mhr Mma) : [20]
A) dU©ì¶dñWoMo Xmof.
~) {ddmhg§ñH$mamMo ‘hÎd
H$) àmMrZ {ejUmMo Ü¶o¶ d CÔoe
S>) nyJ
B) ^maV-amo‘ ì¶mnma
’$) àmMrZ dOZo


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Q1) Write the answers of the following questions in 50 words each (any three).[15]
a) What are the functions of block education officer.
b) Write the need of ICT.
c) Explain the principle of utility of curriculum development.
d) Explain the concept of educational management.
e) What are the functions of education secretary.

Q2) Write the answers of the following question in 100 words each. (any two).[20]
a) Explain the constructivist approach of curriculum.
b) Explain the function of education director.
c) Explain the application of ICT in education evaluation.
d) Explain the characteristics of education management.

Q3) Answer any one question in 300 words. [20]
a) Explain the types of curriculum in details.
b) Explain the concept of ICT. Explain the characteristics of ICT teacher.

Q4) Write short notes in 50 words each. (any three). [15]
a) Use of ICT in learning.
b) Concept of curriculum development.
c) Functions of district education officer
d) Principle of individual difference of curriculum development.
e) Functions of state council of educational research and training.


P.T.O.
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à.à.à.à.à.1) Imbrb àíZm§Mr àË¶oH$s 50 eãXm§V CÎmao {bhm. (H$moUVohr VrZ) [15]
A) JQ>{ejUm{YH$m¶mªMr H$m¶ª H$moUVr?
~) ‘m{hVr d g§àofU V§ÌkmZmMr JaO {bhm.
H$) AÜ¶¶Z {dH$gZmMo Cn¶wº$VoMo VËd ñnï> H$am.
S>) e¡j{UH$ ì¶dñWmnZmMm AW© ñnï> H$am.
B) {ejU g{Mdm§Mr H$m¶} H$moUVr?

à.à.à.à.à.2) Imbrb àíZm§Mr àË¶oH$s 100 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [20]
A) Aä¶mgH«$‘mMm aMZmË‘H$ Ñï>rH$moZ ñnï> H$am.
~) {ejU g§MmbH$m§Mr H$m¶} ñnï> H$am.
H$) ‘m{hVr d g§no«fU V§ÌkmZmMr e¡j{UH$ ‘yë¶‘mnZmVrb Cn¶wº$Vm ñnï> H$am.
S>) e¡j{UH$ ì¶dñWmnZmMr d¡{eï>o ñnï> H$am.

à.à.à.à.à.3) Imbrbn¡H$s EH$m àíZmMo CÎma 300 eãXm§V {bhm. [20]
A) Aä¶mgH«$‘mMo àH$ma g{dñVa ñnï> H$am.
~) ‘m{hVr d g§no«fU V§ÌkmZmMr g§H$ënZm ñnï> H$am. ICT {ejH$m§À¶m A§Jr AgUmao JwU ñnï> H$am.

à.à.à.à.à.4) àË¶oH$s 50 eãXm§V Q>rnm {bhm. (H$moUVohr VrZ) [15]
A) AÜ¶¶ZmV ‘m{hVr g§no«fU V§ÌkmZmMr Cn¶wº$Vm.
~) Aä¶mgH«$‘ {dH$gZmMr g§H$ënZm.
H$) {Oëhm {ejUm{YH$m¶mªMr H$m¶}.
S>) Aä¶mgH«$‘ {dH$gZmMo ì¶{º$ ôXmMo VÎd.
B) amÁ¶ e¡j{UH$ g§emoYZ d à{ejU n[afXoMr H$m¶}.


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Q1) Attempt any five of the following. [10]
a) If ( ) ( ) (2cos3 ) 2sin3tr t e i t j t k   is the position of a particle in the

space at time t. Find the particle’s speed t = 0.

b) Solve the initial value problem for ( )r t  where ( )d r t ti tj tk
dt

   

with initial condition : (0) 2 3 .r i j k  
c) Define line integral of a vector field along a curve C.
d) Define gradient of a scalar function.
e) Show that divergence of  2 3 2 4F (4 )x yi z y xy j z k     is 0.

f) Find the k -component of curl (F)  for the vector fields

F x yi j
y x

          
on the plane.

g) State Divergence theorem.

Q2) Attempt any four of the following. [20]

a) Let ( ) ( ) ( ) ( )u s a s i b s j c s k    be a vector function of s and that
s = f(t) is a differentiable scalar function of t then prove that

( ) ( ) ( ( ))d d du s f t u f t
dt dt ds

 .

b) Find the value (s) of t so that the tangent line to the curve
2( ) (1 ) (2 3)r t t i t j t k      contains the point (–8, 2, –1).

P.T.O.
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c) Find the point on the curve ( ) (12sin ) (12cos ) 5r t t i t j tk    at a
distance 13 units along the curve from the point (0, –12, 0) in the
direction opposite to the direction of increasing arc length.

d) Evaluate the line integral 2 2( ) 2
C

x y dx xydy   along the curve C : x = t,

y = 2t2, 0 < t < 1, where t = sin u for 0
2

u 
  .

e) Find the work done by the force field F xi y j zk    in moving an
object along the curve C parametrized by 2( ) cos( )r t t i t j  

sin( ) ,0 1t k t   .
f) Find the flux of ( )F x y i xj    across the circle x2 + y2 = 1 in the

xy – plane.

Q3) Attempt any four of the following. [20]
a) Evaluate .

C

F dr  where ( , , )F x y z xzi yzj   and C is the line segment

from (–1, 2, 0) to (3, 0, 1).
b) Let ( , , ) ( , , ) ( , , )F M x y z i N x y z j P x y z k    be a field on a connected

and simply connected domain whose component functions have
continuous first partial derivatives. Prove that F  is conservative if and

only if  ,P M P N
x z y z

   
 

     and 
N M
x y

 


   .
c) Use the Green’s Theorem area formula to find the area of the ellipse

( ) ( cos ) ( sin ) , 2r t a t i b t i o t     .
d) Find a parametrization of the sphere x2+y2+z2=a2.
e) Determine the surface area of the portion of 2x+3y+6z = 9 that is inside

the cylinder x2+y2=7.

f) Compute curl F  for    
3 2

23 2 7 .x yF x z i j z x k
z

    

Q4) Attempt any two of the following. [20]
a) Find ,T N  and k for the space curve ( ) 3sin 3cos 4r t t i t j t k   .
b) State and prove Green’s theorem in the plane.
c) Show that the differential forms in the integral is exact and evaluate the

integral 
 

 3,3,1 2
20,0,0

42
1

xdx y dy dz
z

 
 .

d) Verify the divergence theorem for F xi yj zk    over the sphere
x2+y2+z2=a2.


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Q1) Attempt each of the following: [1 each]
A) Choose the correct alternative of the following:

a) If the random variable  X B→  (6,0.5) then E(X) is

i) 1 ii) 2

iii) 3 iv) 4

b) If Var (X+3)=9 then Var (X)=_______

i) 12 ii) 4

iii) 7 iv) 9

c) If the p.m.f of discrete random variable is

X 0 1 2

P(X) 0.2 0.2 0.6

Then Mode (X)=______

i) 0 ii) 1

iii) 2 iv) 1.5

d) Let the covariance between X and Y is Cov (X,Y) then Cov (2X,2Y)
is

i) 2Cov(X,Y) ii) 4 Cov (X,Y)

iii) Cov (X,Y)/2 iv) Cov (X,Y)/4

e) In vital statistics the rates of vital events are measured in :

i) Fraction ii) Parcentages

iii) Per thousand iv) Per million

P.T.O.
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B) State whether the following statement is True or False: [1 each]

a) N.R.R<1 means the total population will be decreasing.

b) Median of the discrete distribution is always unique.

c) Marginal probability distribution of X is univariate probability
distribution.

d) The mean and variance of discrete uniform random variable are
same.

e) A discrete random variable assumes all possible values in the interval.

Q2) Attempt any four of the following: [4×5=20]

a) Define a cumulative distribution function of a discrete random variable
also state it’s properties.

b) State the limitations of G.R.R

c) Define p.m.f. of r.v. X. and verify whether the following is a probability
distribution of random variable X.

X –2 –1 0 1 2

P(X=x) 0.1 0.2 Π 1–Π 0.2

d) Define Binomial distribution. Also mention three real life situations, where
the binomial distribution is applicable.

e) Let X follows discrete uniform distribution with parameter 5. Obtain

i) Mean (X)

ii) Var (X)

iii) P(X=2.5)

f) Define conditional variance of X given Y=y and Y given X=x.

Q3) Attempt any four of the following. [4×5=20]

a) If X and Y are independent Poisson random variables with means 2 and 4
respectively. Find

i) P(X+Y<2)

ii) P[3(X+Y)≥ 9]

b) Give some practical situations where use of bivariate random variables is
needed.

c) Obtain mean and variance of discrete uniform random variable taking
values 1,2,3,4,5
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d) Explain how S.T.D.R is superior to C.D.R.

e) Let a random variable X has Binomial (7,0.8) find

i) P(X=0)

ii) Mean (X)

iii) Var (X)

iv) P(X=2.5)

f) Define correlation coefficient    between two discrete r.v.s X and Y. Give
interpretations of the various values of

 Q4)Attempt any two of the following: [2×10=20]

a) X and Y are two discrete r.v.s with joint p.m.f.

P(x,y)=C(X2+Y2);C>0, X= –1,1

Y= –2,2

=0 ;otherwise

Obtain i) C

ii) Marginal p.m.f of X

iii) Marginal p.m.f of Y

iv) Are X and Y independent?

b) A pair of fair dice is rolled. Obtain the probability distribution sum of two
score (X), also obtain E(X) and E (2X+3)

c) Explain in brief the methods of collecting vital statistics.

d) i) State the property of effect of change of origin and scale on correla-
tion coefficient.

ii) State the applications of Poisson distribution.



δ
δ
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Q1) Answer any three of the following questions in 50 words each. [15]
a) Explain in short ‘marriage is ceremony in Indian culture.
b) Describe in shortly the need of environmental ethics.
c) Explain shortly about marriage and status of women according Simon de

Beauvoir.
d) Write briefly about uses and misuses of the media during pandemic.
e) Discuss the nature of applied ethics.

Q2) Write short notes on any three of the following. [15]
a) Special marriage act.
b) Relevance of Hippocratic Oath.
c) Scope of applied ethics.
d) Animal rights.
e) Social moral impact of Pandemic.

Q3) Answer any two of the following questions in 200 words each. [20]
a) Discuss about the preservation of animals.
b) Discuss the principle of beneficence as a principle of medical ethics.
c) Explain the inter caste marriage from the point of view of marital ethics.
d) State Aldo Leopold’s the concept of land ethics.

Q4) Answer any one of the following questions in 400 words. [20]
a) Explain the Hindu’s approach about the marriage and state types of

marriage in Hinduism.
b) State fully, the nature of Indian health care system.



P.T.O.
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P137

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§M§r CÎmao àË¶oH$s 50 eãXm§V {bhm. [15]
A) ^maVr¶ g§ñH¥$VrV "{ddmh hm EH$ g§ñH$ma Amho' ho WmoS>³¶mV ñnï> H$am.
~) n¶m©daUmÀ¶m Zr{VemñÌmÀ¶m JaOoMo WmoS>³¶mV dU©Z H$am.
H$) {g‘m± X ~modydm±À¶m Ñï>rH$moUmVyZ {ddmh d ñÌr¶m§Mo ñWmZ WmoS>³¶mV ñnï> H$am.
S>) gmWrÀ¶m amoJmÀ¶m doir ‘mÜ¶‘mMo gXþn¶moJ d Xþê$n¶moJ WmoS>³¶mV {bhm.
B) Cn¶mo{OV Zr{VemñÌmÀ¶m ñdê$nmda MMm© H$am.

à.à.à.à.à.2) H$moUË¶mhr VrZ g§{já {Q>nm§Mr CÎmao {bhm. [15]
A) {ddmh{df¶H$ {deof H$m¶Xm.
~) {hßnmoHo«${Q>H$À¶m enWoMr àmg§{JH$Vm.
H$) Cn¶mo{OV Zr{VemñÌmMr ì¶már.
S>) àmÊ¶m§Mo h¸$.
B) ‘hm‘marMm gm‘m{OH$ Z¡{VH$ à^md.

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao 200 eãXm§V {bhm. [20]
A) àmÊ¶m§À¶m ajUmg§~§Yr MMm© H$am.
~) d¡ÚH$s¶ Zr{VemñÌmMo VÎd åhUyZ "namonH$ma' ¶m VËdmMr MMm© H$am.
H$) d¡dm{hH$ Zr{VemñÌmÀ¶m Ñï>rH$moUmVyZ "Am§VaOmVr¶ {ddmh' g§H$ënZm ñnï> H$am.
S>) AmëS>mo {bAmonmoëS>moMr ŷ{‘VrMr g§H$ënZm g§mJm.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 400 eãXm§V {bhm. [20]
A) {ddmh~ÔbMm qhXÿ§Mm Ñï>rH$moU gm§JyZ qhXÿ Y‘m©Vrb {ddmhmMo àH$ma gm§Jm.
~) ^maVr¶ Amamo½¶ godm àUmbrMo ñdê$n g{dñVa gm§Jm.


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Q1) Attempt any ‘Two’ of the following. [16]
a) Write a report on the inter - college debate competition organised by

your college with the help of the following points:
• Opening of the programme
• Welcome speech by principal
• Lightning the lamp
• Felicitation of the Guest
• Vote of thanks

b) Write a report of your visit to near by Ratio Studio
c) Being the sports secretary of your college, write a report of inter - college

20 over cricket match competition organized by your college.

Q2) a) Attempt any one of the following. [10]
i) Your college has organized state level dance competition. You are

supposed to anchor the programme. Write a compering script with
the help of the following points:
• Welcome song
• Welcome speech by principal
• Lightning of the lamp
• Felicitation of the guest
• Speech by the guest
• Dance competition
• Prize distribution
• Vote of thanks

P.T.O.



2[6041]-500

ii) The ‘Literary Association’ of your college has organized a ‘language
skill enhancement workshop’. Write a script to compere the formal
inauguration ceremory with the help of the following points.
• Opening of the programme
• Welcome speech by the coordinator
• Lightning the lamp
• Felicitation of the Guest
• Speech by the Guest
• Presidential Address
• Vote of thanks

b) What are the different kinds of blogging platforms? Elaborate. [10]

Q3) Write short notes on any two of the following. [12]
a) Advantages of advertisements on Radio.
b) Qualities of a radio news reader.
c) Contribution of radio as a mass media to social awarencess.

Q4) Attempt any two of the following. [12]
a) Which TV programmes do you like most? Why?
b) What are the advantages of educational programmes on TV? Explain.
c) Note the characteristics of TV as an audio visual media.

Q5) Attempt any two of the following. [10]
a) Differentiate between TV and Radio interviews.
b) Do you think that television news is more effective than Radio news?

Justify your answer.
c) What are the qualifications of a TV anchor?


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Q1) Answer any eight (Around 20 words each).  [16]

a) What is hotel on wheels?

b) Explain floating hotel?

c) Who founded of Leela palace hotel?

d) What is house boat?

e) What is studio room?

f) What is full form of VISA?

g) What is the meaning of room service?

h) What is resort?

i) What is the name of hotel situated near an airport?

j) Explain heritage hotel.

Q2) Write short notes on any three (Around 50 words each). [18]

a) What is the role of ministry of foreign affairs?

b) What are the steps involved in acquiring VISA?

c) What is meant by European meal plan?

d) What is the concept ITC hotel chain?

P.T.O.
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Q3) Answer any two (Around 100 words each).  [16]

a) Give an account of origin of hotel industry in India.

b) Explain historical hotel tourism in the world.

c) What is the “lemon tree” hotel chain?

Q4) Answer in detail any one (Around 500 words each). [20]

a) Explain the concept of homestay and how is it significant in today’s
world?

b) What are the rules and regulations of foreign exchange in India?


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